SAEWR R == T LA =

SAEME L 2y dn Tl A = i

Tel: 186 5828 3721 Web: www.sannke.com E I ( Q
E-mail: nancy@sannke.com Fax: 86-574-62975485 ‘ a n n e



SENRNDLG

FEEFARMEA  Technical information

( SAE 2 JE#K %51 SAE flange split halves & clamp
O FH/HF /VF /HVF / VFM/VFU /
SAE L2 MREM A SAE flange welding couplings
SFJ/SFJN/WFJ /ASF /| ASFN / AWF / BSF / CSF / DSF / ESF / FSF [ - -
SAE 722 il #k  SAE flange adapters

b a n n k e AffilsMEL24° HHEX  with male metric thread & 24° inner cone
GSF--L/S /| GWF--L/S /| GW45F--L/S / P11~P16

EH4MRL37° SMEX with male UN thread & 37° outer cone

GSF--JIC / GWF--JIC /| GW45F--JIC / P17~P19
FHIHMEIBL60° A4 with male BSPP thread & 60° inner cone

GSF--G / GWF--G / GW45F--G / P20~P22

EHISMRLOH TS X with male UN thread & ORFS

> AYA [=§
S AE ¥ JE ¥ =% ™ W ¥ W % ™ B GSF-OR / GWF--OR / GWA5F—-OR / - - P23~P25
SAE 4§72 Xid ¥ #k SAE brazed adapter-90°
AfISMES24° WX with male metric thread & 24° inner cone
BR-GWF-L/S/ --
EHISMRL3T° SMER  with male UN thread & 37° outer cone
BR-GWF--JIC /

SAE #MZZri%24 SAE male thread flange

AfliEg24° N4 with metric thread & 24° inner cone
AFM / AFMW / P28~P31
EHIRL37° 4R with UN thread & 37° outer cone
AFJ/AFJW /[ -- P32~P33
B IR8060° P4 with BSPP thread & 60° inner cone
AFG / AFGW / P34~P35
K HBLTE %30 with UN thread & ORFS
AFOR / AFORW /

SAE {114 8742 SAE side connection flange

Affiliggre4s AHEN  with metric thread & 24° inner cone

FEHIRLORT H S with UN thread & ORFS
AGOR/ ---




FmER
Index

SAE WIZZ0%2 SAE female thread flange

Pelil 8 with BSPP thread

AES—G [ GF -Gl DFS=GIAFWG | =-ormmrmtra s oo i 18 5 St S 8 P43~P45

HEHEERLE with NPT thread

AFS—-N / GFS=-N / DFS=-N / AFW=eN / = = - - = == w s =< m e mme e e e P46~ P48

FEHIBLA  with UN/UNF thread

AES=UN.GF8=-UNT DFS=UNTAFW=UNT - s=smescosmnsssnamn seremensmsssass soase P49~P51
SAE Vi i #9052 SAE socket welding flange
AFS~-S / GFS~-S / DFS—S | AFW~S / AFC-S | GFC~-S / PAFS~-8 | PGFS~-S / = = = = = = = = = = === w e e ee e e n P52~P58
SAE #2524 SAE butt welding flange
AFSAT/iGFS-TIDFS=T I ARWETHAGWST soseesernsrsse e s e ses e on ey P59~P62
SAE 2% SAE closed flange
AFC / GFG [ ARG/ = - - = =« w e e e e e e e e e e e e e e e e e e e e e P63~P64
SAE FRI%[E %22 SAE flange for ball valve
GG 211 om0 S0 B S 8 S B B 8 S B e S P65
SAE liE¥%:*: SAE flange with testing-point
AFC--G1/4 | AGL-G1/4 | AFC--M10x1 / AGL--M10x1 / AFC--N1/4 /| AGL-N1/4 | == ------mmomcmmmeaam P66~P67
SAE ##ui%:2% SAE transforming flange
L T P68~P69
SAE i #%:2 SAE connector flange
AGL / GFG | GWFG / AGS === == = = = == = == = mmmmm e eemmmm e e P70~P73
SAE %2R $47 Xid# /i SAE flange sheet
AP ZP} a5 5 =t o i i i T 1 i i P74
SAE W [a] 3 # &2 SAE suction hose flange
SHFL sosms s s s S R S e e E et s s e s e S P75

FEIH 2% Pump flange connection
AtIsMES24° FHER with male metric thread & 24° inner cone

e s P76~P77
3FLAHIAMREL24° HHER (90° &) 3-holes connection 90° with male metric thread & 24° inner cone

2 1 s P78
FHISMASOR 2 S with male UN thread & ORFS

[T A G N P79~P80
Bt N AMEIELR with male or female BSPP thread

GDS—-LK~G / GD=-LK=G / GF--LK=-G / === === === == =2 @ e e oo e e em e e e P81
B SMEIRL60° PIsER (90° %)  connection 90° with male BSPP thread & 60° inner cone

S c P82
el 9 EHRER (90° %) connection 90° with female BSPP thread

2 O e P83

SFLEEHI PR IELR (90° %)  3-holes connection 90° with female BSPP thread
BWDS--LK=-G / = - = = == = = = o m o m o e e e P84

1S06164 J7Ti%:2% %% 1SO 6164 square flange

FA/FK/ FAG / FKG /WFA / = - - = == <« e e o m e e emmimm e e mmmmem e eeeeee
CETOP J7¥%#%:22 %] CETOP square flange

CASF / CBSF / CDSF / CESF / === - = === < e == 2 e o mme e ee e ee e mmee e e
JIS B 2291 FRUIEREBIE 2 R5 JIS B 2291 socket welding square flange

SHA/ SHB /LHA / SSA/ SSB /LSA / - - - = = == xmm -t memeemmmm e e

FOREEAERFFARIE  Flare flanges and Retain ring flanges

ERAF PR, s simimera/sts #1508 i 55 5 8 5 S 0 S i S SR o o L S P97~P100

VA =@M Flange T-block

T-BL/T-GD /FV / == e o e e e e e e e e e e e e e e e e edcmmmem e P101~P103

DIN2633i%:> DIN2633 Flange
G2BBB =i o T
A Bk Reservoir Adapter

REB820 / RE825 / RE830 / RE835 / RE845 / RE850 / RE855 / REB60 / = = = === === === e cmmmeaaaacccean P105~P112



PR LR
Technical information $ -
olo| &z
i& ¥R standard used: SAE J518, JB/ZQ4187, 1SO6162, 1ISO6164 ’4/
IHREHD: BRI (LERAE-20C~90C) | B RITMRFIBA LA A MM, B w 4 .
ok 1~1.5 ] _
Working pressure: The maximum recommended working pressure is indicated in each single article. All pressure E =~ 1_%@&&"2&2? Iszeel ca5
indications are based on a working temperature from -20°C to +90°C. F (¢ RIECr+3[ 8 Cr+3 white zinked:FH***-CFX
o B ) REHES S Ni-Zn zinked [FH¥#x-ZN
FERPRL: BRARRIIESR, R AR A S T BB . ARt s, FeAR R 22 R LR 454 FH 2 K454 AlSI 321/304 L
_— — . 3 AISI 316L (FH**k-XX
0, PR R QBB AR SR FIAISIZ21/304 L0 RAISI3 6L, BE "
R = +5 di ; (L 23 HE
Material: Material of the flange parts is indicated in each single article, normally C45 is used for non-welding flange (iif:ﬁ) %p’;‘ | | I Rof lﬁ ||mens|onI | | | - b(l)lt (\Il(\g) MIA@EVEVQ
A B 9 D E F G | H | K unc 2
parts and fittings, and Q345B or C20 is used for welding flange parts, For stainless steel flange parts, we %51 3000 psi (kglom®)
have two series, one is made from AISI304/321, another one is made from AISI316L . 12" FH301 31.00 | 2430 | 3810 | 54 | 874 | 23 | 19 | 13 | 620 | 85 | M8 | 516 | 0.07 350
3/4" FH302 | 38.90 | 3210 | 47.63 | 65 | 1111 | 26 | 22 |143 | 620 | 105 | M10 | 3/8 | 0.10 350
. KN V% T sl 1 A 1. E i & 19 + .
REWS: ALARMEZREST WHIMRMPF T A: 1 KM (Blank oled) ; 2. REHCr3FAH (CFX) 1" FH303 | 45.25 | 38.80 | 5237 | 70 [13.09 | 295 | 24 | 16 | 7.50 | 105 | M10 | 3/8 | 0.12 315
3 RMBHRAS IN) « AEG SR, SRR R m sy R O™ b8, 11/4" | FH304* | 5160 | 4370 | 5872 | 79 [ 1500 [ 365 | 22 | 14 [ 750 [ 105 [ m10 [ — [ 016 [ 250
B PREEERTEE, FRRGP T ANEE AR, 11/4" | FH304U* | 5160 | 43.70 | 5872 | 79 |15.09 | 365 | 22 | 14 | 7.50 | 12 — | 716 | 0.16 250
_ ) ) : 11/4" | FH304-12* | 51.60 | 43.70 | 58.72 | 79 |15.09 [ 365 | 22 | 14 | 7.50 | 125 | M12 | - | 0.16 250
Surface protection: Normally we have three kinds of surface protection for flange parts and fittings, these are 11/4" | FH304-12-6] 51.60 | 43.70 | 58.72 | 79 | 15.00 | 365 | 33 | 24 | 7.50 | 125 | m12 030 200
Cr+3 white zinked (CFX), Ni-Zn zinked (ZN) and blank oiled. The surface protection 11/2" | FH305* | 61.10 | 50.80 | 69.85 | 94 |[17.86 | 415 | 25 | 16 | 7.50 | 135 | M12 | 1/2 0.25 200
of parts normally delivered is indicated in each single article for choice. 11/2" | FH305-6 | 61.10 | 50.80 | 69.85 | 94 | 17.86 | 415 | 37 | 27 | 7.50 | 135 | M12 | — | 045 | 400
. . N o N 2" FH306* | 72.25 | 6275 | 77.77 | 102 | 2144 | 485 | 26 | 16 | 9.00 | 135 | M12 | 12 | 027 200
ERARR: AR BRGSO IR R A10.0M 205 WA A SRR (RTRD) , WA = s (e s o e sm s e T melm T = T | 55
SR IR AT SR B o AUEGEST I, BRRRKEI R R, AR, TS, 2" | FH306-14 | 72.25 | 6275 | 77.77 | 102 [ 2144 [ 485 | 26 | 16 [ 900 [ 145 [ m1a [ — | 027 | 200
4 o - —_— — 5 . 21/2" 9 495 | 88.90 | 114 | 2540 | 54 | 38 | 19 | 9.00 | 135 | M12 | 12 | 042 160
BUEASEIR KEAS . REATTTIRR KO A TR, WA KL, TSR, FHoy | % | Mo
3" FH308 | 102.40 | 90.95 | 106.38 | 135 | 30.96 | 655 | 41 | 22 [ 900 | 17 | M16 | 58 | 0.62 138
Bolts used: As far as requied flange parts connection can be supplied with bolts,normally bolts used are high 31/2" FH309 | 115.10 | 102.40 | 12065 | 152 [ 3493 | 70 | 28 | 22 [1070] 17 | m16 | 58 0.71 35
tension grade 10.9/12.9 (DIN912-10.9/12.9) with the black surface, and also bolts with zink surface 4" FH310 | 127.80 | 115.10 | 130.18 | 162 | 3889 | 76 | 356 | 25 |1070 | 17 | M16 | 58 | 0.81 35
of DIN912-8.8 can be supplied if need. 5" FH311 | 153.20 | 140.50 | 152.40 | 184 46;;;0.5600041 . 28 |1070| 17 | M16 | 58 | 1.15 35
_ . . . ) 3 R psi
(FPM) (IOTERE, T M5 3/4" FH602 | 42.10 | 3250 | 50.80 | 71 [11.90 | 30 | 28 | 19 | 825 | 105 | M10 | 3/8 | 0.17 400
Sealing: All flange parts in our catalogue are sealing with O-ring, normally in material buna 90 shore, viton 90 i FHEO03U | 4840 | 36.90 | 57.15 | &1 | 1388 | 35 |'33 | 24 | 9.00 | 12 THe. | 027 400
hore is ontional 1" FH603 | 48.40 | 38.90 | 5715 | 81 [1388 | 35 | 33 | 24 [ 900 | 13 | M12 | — | 027 400
shore Is opfional. 11/4" | FH604-12 | 54.80 | 44.50 | 6668 | 95 | 1588 | 39 | 38 | 27 | 9.80 | 135 | M12 | 1/2 | 0.40 400
11/4" | FHe04 | 54.80 | 44.50 | 6668 | 95 |1588 | 39 | 38 | 27 | 9.80 | 145 | M14 | -— | 040 400
11/2" | FH605 | 64.30 | 51.60 | 79.38 | 113 | 18.25 | 475 | 43 | 30 |1200| 17 | M16 | 58 | 068 400
2" FH606 | 80.20 | 67.60 | 96.82 | 133 | 2223 | 57 | 52 | 37 [1200| 21 | M20 | 34 | 1.05 400
21/2" | FH607 | 108.90 | 90.50 | 123.83 | 180 | 29.36 | 76 | 45 | 45 |2050| 26 | M24 | - | 210 400
a* FH608 | 132.50 | 115.0 | 15240 | 215 | 35.71 | 99 | 55 | 55 [2550| 32 | M30 | -- | 4.00 400

* % AT H=16##%, For these parts H=16 also can be supplied.
LA A EH=198#%, For these parts H=19 also can be supplied.

-1



2K,

PK |
n ml
1.1l 1lo <
J o|lo sl s
@
1~1.5 1]
E H
F
KL (Material)
HF H4W60#, carbon steel C60
KIECr+3F%E Cr+3 white zinked:HF***-CFX
FMHHREE 4 Ni-Zn zinked (HF##kZN
K # 5 R+2% dimension AR i %1’?&%
Size | Ty bolt Wt MAX WP
(inch) A B c [ b [ E JTFTH I | K M| unc | (K2) | kgem?)
% #&%] 3000 psi
12" HF301 31.00 24.30 38.10 54 8.74 23 13 6.20 9 M8 5/16 0.06 350
3/4" HF302 38.90 32.15 47.63 65 11.11 26 14 6.20 11 M10 3/8 0.09 350
1" HF303 45.25 38.80 52.37 70 13.09 29.5 16 7.50 11 M10 3/8 0.11 315
11/4" HF304 51.60 43.70 58.72 79 15.09 36.5 16 7.50 11.5 M10 - 0.16 250
1172" HF305 61.10 50.80 69.85 94 17.86 41 16 7.50 135 M12 12 0.22 200
2" HF306 72.25 62.75 77.77 102 21.44 48.5 16 9.00 13.5 M12 12 0.25 200
HER%] 6000 psi
12" HF601 32.55 24.65 40.49 56 9.12 24 16 7.20 9 M8 5/16 0.08 400
3/4" HF602 42.10 32.50 50.80 71 11.90 30 20 8.25 1 M10 3/8 0.16 400
1" HF603 48.40 38.90 57.15 81 13.88 35 25 9.00 13 M12 7116 0.25 400
11/4" HF604 54.80 44.50 66.68 95 15.88 39 27 9.80 15 M14 - 0.38 400
11/4" |HF604-12| 54.80 44.50 66.68 95 15.88 39 27 9.80 13.5 M12 12 0.38 400
11/2" HF605 64.30 51.60 79.38 113 18.25 47.5 30 12.00 17 M16 5/8 0.65 400
2" HF606 80.20 67.60 96.82 133 22.23 57 37 12.00 21 M20 3/4 1.00 400

_$, N 7
N
i o g
i
! VAR
\J/
E | _H_| | #% (Material)
1. §4N45#, carbon steel C45
F G KIMCr+3[4¥ Cr+3 white zinked:VF***-CFX
KA ES NiZnzinked  VFF*ZN
VF 27549 AISI 321/304 VFRERX
31541 AISI 316L (VFFRRXX
A as R85 dimension P iRHE R %ﬂ?ﬂ{%
Size bolt Wit
(incn) | T¥Pe A B C D E [ F ]G ][H [ K M [ unc | (kg) ?Axc\:vn; )
% #&%] 3000 psi
12" VF301 31.00 | 24.30 | 38.10 54 17.48 46 19 13 6.20 8.5 M8 5/16 0.14 350
3/4" VF302 38.90 | 32.10 | 47.63 65 2223 52 22 | 143 | 6.20 | 105 [ M10 3/8 0.19 350
1l VF303 4525 | 38.80 | 52.37 70 26.19 59 24 16 7.50 | 105 | M10 3/8 0.22 315
11/4" VF304* 51.60 | 43.70 | 58.72 79 30.18 73 22 14 7.50 | 10.5 | M10 - 0.31 250
11/4" | VF304U* | 51.60 | 43.70 | 58.72 79 30.18 73 22 14 7.50 12 — 716 0.31 250
11/4" | VF304-12* | 51.60 | 43.70 | 58.72 79 30.18 73 22 14 750 | 125 | M12 - 0.31 250
11/4" | VF304-12-6 51.60 | 43.70 | 58.72 79 30.18 73 33 24 7.50 | 125 | M12 -— 0.64 400
11/2" VF305** | 61.10 | 50.80 | 69.85 94 35.71 83 25 16 7.50 | 135 | M12 12 0.49 200
11/2" VF305-6 61.10 | 50.80 | 69.85 94 35.71 83 37 27 7.50 | 135 | M12 - 0.96 400
2" VF306** | 72.25 | 62.75 | 77.77 102 | 42.88 97 26 16 9.00 | 135 | M12 12 0.53 200
2" VF306-6 7225 | 62.75 | 77.77 102 | 42.88 97 43 30 9.00 | 135 | M12 - 1.38 400
2" VF306-14 | 72.25 | 62.75 | 77.77 102 | 42.88 97 26 16 9.00 | 145 | M14 - 0.53 200
21/2" VF307 84.95 | 74.95 | 88.90 114 | 50.80 | 109 38 19 9.00 | 135 | M12 12 0.81 160
3" VF308 102.40 | 90.95 | 106.38 | 135 | 61.93 | 131 41 22 9.00 17 M16 5/8 1.22 138
31/2" VF309 115.10 | 102.40 | 120.65 | 152 | 69.85 | 140 28 22 |10.70 17 M16 5/8 1.41 35
4" VF310 127.80 | 115.10 | 130.18 | 162 | 77.77 | 152 35 25 |10.70 17 M16 5/8 1.62 35
5" VF311 153.20 | 140.50 | 152.40 | 184 | 92.08 | 181 41 28 (10.70 17 M16 5/8 2.30 35
HEZRY] 6000 psi
12" VF601 32.55 | 24.65 | 40.49 56 18.24 48 22 16 7.20 8.5 M8 5/16 0.18 400
3/4" VF602 4210 | 32.50 | 50.80 71 23.80 60 28 19 8.25 | 105 | M10 3/8 0.34 400
1" VF603U 48.40 | 38.90 | 57.15 81 27.76 70 33 24 9.00 12 — 7116 0.58 400
e VF603 48.40 | 3890 | 57.15 81 27.76 70 33 24 9.00 13 M12 - 0.58 400
11/4" | VF604-12 | 54.80 44.50 66.68 95 31.75 78 38 27 9.80 | 135 M12 1/2 0.77 400
11/4" VF604 54.80 | 44.50 | 66.68 95 31.75 78 38 27 9.80 | 145 | M14 - 0.77 400
112" VF605 64.30 | 51.60 | 79.38 113 | 36.50 95 43 30 |12.00 17 M16 5/8 1.35 400
2" VF606 80.20 | 67.60 | 96.82 133 | 44.45 | 114 52 37 |12.00 21 M20 3/4 2.1 400
21/2" VF607 108.90 | 90.50 | 123.83 [ 180 | 58.73 | 152 45 45 | 2050 | 26 M24 - 4.20 400
3" VF608 132.50 | 115.0 | 15240 | 215 | 71.43 | 198 55 55 | 25.50 32 M30 - 8.00 400

* % AT H=1641#%, For these parts H=16 also can be supplied.
%I Ak H=19%1#%, For these parts H=19 also can be supplied.

3 —



PK

/'-\
i
-1 olo el s
|
7N
\NE
H { -
£ (Material)
HVF T4N60#, carbon steel C60
RifiCr+3[E4 Cr+3 white zinked:HVF¥k*-CFX
REEEE 4 Ni-Zn zinked (HVF##k-ZN
mE | ome RSS# dimension i | o \B
Size | Ty Ll WE - MAXWP)
(inch) A B c [ b E F H I [ K M| unc | (K8) | kgiem?
%A% 3000 psi
12" | HVF301 | 31.00 | 2430 | 3810 | 54 | 1748 | 46 | 13 | 620 | 9 M8 | 516 | 012 | 350
3/4" | HVF302 | 38.90 | 3215 | 4763 | 65 | 2223 | 52 | 14 | 620 | 11 | Mi0 | 38 | 018 | 350
1" | HVF303 | 4525 | 3880 | 5237 | 70 | 2619 | 59 | 16 | 750 | 11 | mt0o | 38 | 022 | 315
11/4" | HVF304 | 5160 | 4370 | 5872 | 79 | 3018 | 73 | 16 | 750 | 115 | m10 | — | 032 | 250
11/2" | HVF305 | 61.10 | 5080 | 69.85 | 94 | 3571 | 82 | 16 | 750 | 135 | M12 | 12 | 044 | 200
2" | HVF306 | 7225 | 6275 | 77.77 | 102 | 4288 | 97 | 16 | 9.00 | 135 | M12 | 12 | 050 | 200
EZR%| 6000 psi
12" | HVF601 | 3255 | 2465 | 4049 | 56 | 1824 | 48 | 16 | 720 | 9 M8 | 516 | 016 | 400
3/4" | HVF602 | 4210 | 3250 | 5080 | 71 | 2380 | 60 | 20 | 825 | 11 | M10 | 38 | 032 | 400
1" | HVF603 | 4840 | 3890 | 5715 | 81 | 2776 | 70 | 25 | 900 | 13 | m12 | 7116 | 050 | 400
11/4" | HVF604 | 54.80 | 4450 | 6668 | 95 | 3175 | 78 | 27 | 980 | 15 | m14 | — | 076 | 400
11/4" |HVF604-12 54.80 | 4450 | 6668 | 95 | 3175 | 78 | 27 | 980 | 185 | m12 | 12 | 076 | 400
11/2" | HVF605 | 64.30 | 5160 | 79.38 | 113 | 3650 | 95 | 30 [1200 | 17 | M6 | &8 | 130 | 400
2" | HVF606 | 80.20 | 67.60 | 96.82 | 133 | 4445 | 114 | 37 [1200| 21 | M20 | 34 | 200 | 400

@ f 77
|
FPtole| e
i
Y
/
E [
F G
WRNIYFY #EL (Material)
AL SRR S Luncl, 85 AVFU-- 1. 7W4S5#, carbon steel C45
When thread is unc, part No. will be VFU ig;;fg ,f‘:lr;; \:i::::mkedf\\;m:::gzx
# :
AL L=, RS FHM/FHU-- 2 RG540 AlSI 321/304 VFMpkxX
Split flange also can be supplied, part No. will be FHM/FHU 3N AlSI 316L VEM#k-XX
;gizj'f ’;Ji =5 Rt dimension @Eﬁ?l‘ %\% ?&%ﬁ
(inch) 1e A B C D E | F | G H [ 1 M [ unc | (k) | (hgiom?)
% #%| 3000 psi
12" | VFM301 | 3100 | 2430 | 3810 | 54 | 1748 | 46 | 19 | 13 | 620 | M8 | 516 | 019 | 350
3/4" | VFM302 | 3890 | 3210 | 4763 | 65 | 2223 | 52 | 22 [ 143 | 620 | M0 | 38 | 024 | 350
1" VFM303 | 4525 | 38.80 | 5237 | 70 | 2619 | 59 | 24 | 16 | 750 | mt0o | 38 | 027 | 315
11/4" | VFM304* | 5160 | 4370 | 5872 | 79 | 3018 | 73 | 22 | 14 | 750 | M0 | 7/16 | 036 | 250
11/4" |VEM304-12*| 5160 | 4370 | 5872 | 79 | 3018 | 73 | 22 | 14 [ 750 | M2 | ~ | 036 | 250
11/2" | VFM305* | 61.10 | 50.80 | 69.85 | 94 | 3571 | 8 | 25 | 16 | 7.50 | M12 | 12 | 054 | 200
2" | VFM306** | 7225 | 6275 | 77.77 | 102 | 4288 | 97 | 26 | 16 | 900 | M12 | 12 | 058 | 200
21/2* | VFM307 | 84.95 | 74.95 | 8890 | 114 | 5080 | 109 | 38 | 19 | 900 | M12 | 12 | 0.8 | 160
3" VFM308 | 102.40 | 90.95 | 106.38 | 135 | 6193 | 131 | 41 | 22 | 9.00 | M6 | 58 | 127 | 138
312" | VFM309 | 115.10 | 102.40 | 12065 | 152 | 69.85 | 140 | 28 | 22 [10.70 | M16 | 58 | 146 | 35
4 VFM310 | 127.80 | 11510 | 13018 | 162 | 77.77 | 152 | 35 | 25 [10.70| M16 | 58 | 1.67 | 35
5" VFM311 | 153.20 | 14050 | 15240 | 184 | 9208 | 181 | 41 | 28 |10.70| M16 | 58 | 235 | 35
ERF] 6000 psi
12 | VFM601 | 3255 | 2465 | 4049 | 56 | 1824 | 48 | 22 | 16 | 720 | M8 | 516 | 0.23 | 400
3/4" | VFM602 | 4210 | 3250 | 50.80 | 71 | 2380 | 60 | 28 | 19 | 825 | M10 | 38 | 039 | 400
1" VFM603 | 4840 | 38.90 | 5715 | 81 | 2776 | 70 | 33 | 24 | 9.00 | M12 | 7716 | 058 | 400
11/4" | VFM604-12 | 54.80 | 4450 | 6668 | 95 | 3175 | 78 | 38 | 27 [ 980 | M12 | -~ | 083 | 400
11/4" | VFMB04 | 54.80 | 4450 | 6668 | 95 | 3175 | 78 | 38 | 27 | 980 | M14 | 12 | 083 | 400
11/ | VFMB05 | 64.30 | 51.60 | 79.38 | 113 | 3650 | 95 | 43 | 30 |1200| M16 | 58 | 140 | 400
2 VFMB06 | 80.20 | 67.60 | 96.82 | 133 | 44.45 | 114 | 52 | 37 [1200| M20 | 34 | 216 | 400
21/2" | VFM607 | 108.90 | 90.50 | 123.83 | 180 | 5873 | 152 | 45 | 45 |2050| M24 | - | 425 | 400
3" VFM608 | 132.50 | 115.0 | 15240 | 215 | 7143 | 198 | 55 | 55 |2550| M30 | - | 805 | 400

* %A LA H=16 4%, For these parts H=16 also can be supplied.
**i%K% ATt H=19##%, For these parts H=19 also can be supplied.

5



SFJ-

WORRE

welding adapter
with O-ring groove
f5: SFJ304-42.4x4

WFJ-

TOME90° R
welding adapter 90
with O-ring groove
f5: WFJ304-42.4x4

MG- MGN-

O] 35 T e 7

plug with O-ring groove plug without groove
#l: MG304 #l: MGN304

1%} BiMaterial specification:

SAEEZH S A BRMMAE MR T, HARSEEREX S

Material used for flange welding couplings is indicated with suffix as follow:

L &FRMIERT: AmE4.

Flange and welding adapter are all carbon steel: without suffix.

2 VEZAFFIRRAN, RE FARBMNAIST 321/3040F: ANSE4R-ST/X

Carbon steel flange and stainless steel AISI 321/304 welding adapter: with the suffix-ST/X
YR FIREBARATST 316LI: HNJE4E-ST/XX

Carbon steel flange and stainless steel AISI 316L welding adapter: with the suffix-ST/XX

3. 4%, REHCARBEMT . FIAIST 321/304, M/EZ5-X; FAAISI 316L, HIJSZE-XX

Flange and welding adapter are all stainless steel:

AISI 321/304 with the suffix -X, AISI 316L with the suffix -XX

SFJUN-

SR

welding adapter
without groove

f]: SFIN304-42.4x4

E
R
3

WFJN-
JET90° R
welding adapter 90
without groove
%: WFJN304-42.4x4
30° 30°

ASF

MFREZEAR (FH) — R
HrOMRE (SFJ—-) —R
Ot & =Pl — R

g —4

~: ASF 306-60.3x5.6

CSF

XL R (FH) — R
SEZEMR (VF) — R
JETHERE (SFIN--) — R
Rk —

~fl: CSF 305-48.3x3.6

ESF

MIREZ AR (FH) — R
Ot (MG) — R
Oft £l — R
Rk — 4

7~ ESF 303

AWF— (ASF--f190° BB
XFHEZ IR (FH) = H

90° HHOMMRE (WFJ--) —R

O & 4 — R
e —4
. AWF 604-42x5

NLLLLLLL, =Y
N

NN

e

C

7

BSF
MFEZER (FH) =R
2R (VF) — R

BEXH R4 (SFJ+SFIN) % —H
Ot pE — R

BB —4

=%l BSF 308-89x4

DSF
X AR (FH) =R
A= EIR (VF) — R
Ot 3 (MG) — R
FETH IR (SFIN-) — H
O —H

e —4

~fi: DSF 606-60.3x10

FSF
S JFE 2 AR (FH) R
OJE & il —
R — 4

74: FSF 605

ASFN

L L AR (FH) = H
i 5% (SFIN--) — H
g — 4

=%l ASFN 306-60.3x5.6

"_Fff

222244477~ NN\

ne

v'Illlllllllllé V
Y

12047 (ASF, BSF, CSF, DSF, ESF, FSF, AWF, ASFN) , HEEECSEHINEAE, T8N 510 .
2.1 &K (ASF, BSF, CSF, DSF, ESF, FSF, ASFN) , HI7%ELKGSFFidi 22 FHI A5 A VRS, 1T SRRt v
3.4 & (BSF, CSF, DSF) , MIFZURLFL A 22 VMR, TSR E A .
AHER (BSF) , BSREE NIRRT AA—3, ITSREHE UL .



?K oK,
3 ) 3 30- )
RN~ /’70\ S Y 9 O
HP
o 1\ o s / \ 3 o o 5 / \
{ ) s| s|» 3w
|
e
A
% i 69
7 E Z
ASF BSF ASF BSF
. . da x s MEE PRI R T (AMExBERD , fEEE B AL N HUR30° HiE
Series - 3000psi % #51 W BEARPTHINTA T AR, AT HRER P R AR T .
— IS
wh | o JErel e ikl ] . . da x s MR IHRHALRT GMExRED |, B TR0
Szey | Tyee — c|ole|F|L|x | 2EE2 BB | (ko) |kt Series - 6000psi # 251 WO BRI A BRI, B TRREE A B R AR
ASF301 |16x3, 18x3, 20x3, 21.3x3.6 M8x25 [5/16X1 1/4] 0.28 RZ% dimension T M wE | X
7 223, 225 38.10{ 54 |17.48| 46 [ 30 | 85 18.66x3.53 350 St =3 Bt bol SmE ] W | wakw
BSF301 M8X40 [5/16X1 1/2) 0.52 (inch) Yoo daxs C|D|E|F|L[K W [ U o-ting (Kg) | (Kkgfem?)
16x3, 20x3, 22x3, 25x3, 25x4
g | 57302 |26'5:29 26,6456, 26x5, 2be M10X30 | 3/8X1 1/4 0.4 ASF601 | 16x3, 203, 223, 2244, 2244.5 M8X30 [5/16X1 1/4 0.35
, [Bes30s 47.63 65 [22.23| 52 [ 35 [10.5 wroxas |sixt 3 25.00x3.53 o8 350 . o8| 56 |ia3a| 48| 40 | 5 18863153 405
BSE30 e 5 [S/81. 5 85 BSF601 M8X45 [5/16X1 3/4 0.67
X3, X3, X3, X4, . IX3..
. ASF303 (337338, 34xa, 345, 36%5, 36%5 M10X30 |3/8X1 1/4 0.56 ASF602 |20x3, 22x3, 25x3, 25x4, 26.9x4 M10X35 | 3/8X1 1/2 0.68
1 52.37(70|26.19( 59 [ 40 |10.5 St 315 34" 26.9x5.6, 28x4, 28x5, 30x4 50.80| 71 |23.80 60 | 45 [105 25.00x3.53 400
BSF303 M10X50 | 3/8X2 1.10 30x5 : - - S
T TS BSF602 M10X55 | 3/8X2 1.30
ASF304 |30x4, 38x4, 3835, 42.4x3. 10.5] M10x30 [7/16x1 1/4 0.72
42.4x3.6, 42.4x4, 42.4x5, 42.4x6.. - 25x4, 30x4, 30x5, 33.7x4.5
11/4" 36, 42.4x4, 42415, 42663 | 0 75 79 |30.18] 73 | 45 P 37.70x3.53 250 . ASFB03 |337%5.6, 33.7%6.3. 33.7x7.1 13 | M12X45 [7/16X1 3/4i 1.06
BSF304 72 | m1oxas lr1ex1 34 140 1 344, 34x5, 348, 3645, 36x6.5 (5715 81(27.76| 70 | 50 | ] 32.92x3.53 400
BSF603 [38x4, 38x5, 38x6 12 | M12x65 [7/16X2 1/2 2.00
ASF305 |30, 12432 4244, 48332 M12X35 [1/2X11/2 0.92
172" om0 d5oxs a0 s0xs  |69-85[ 94 |35.71| 83 | 50 [13.5 47.22x3.53 200 ASFE04 |30 SO, O e e axe 14.5] M14X50 |1/2X13/4 1.58
BSF305 |50x6 M12x55 | 1/2x2 1.80 114" 66.68| 95 (3175 78 | 55 | 7 37.70x3.53 400
42.4x5, 48.3%3.2, 48.6x5.3 BSF604 5 M14x75 | 1723 3.00
ASF306 (1243648332 40.6x53 | M12X35 [1/2X1 1/2 1.30
2" o a4 60.3x5.6, 60.3x6.3, 60.56 |77.77(102|42.88| 97 | 60 [13.5 56.75x3.53 200 | Asreo0s PR M16X55 | 5/8x2 2,50
BSF306 M12x55 | 1/2x2 250 112 48.3x8.8, 505, 50%6, 50x8 79.38113|36.50| 95 | 60 | 17 47.22x3.53 400
BSF605 M16X85 |5/8X3 1/4 4.80
ASF307 gg;(s;xAi és?:g. ;gx& 5707)(6715)( 572)(5.2 M12X40 |1/2X1 1/2 1.80 28.3x6.3, 60.3x5.6, 60.3x6.3
21/2" 2101t 10: 10 7615 88.90(114]50.80| 109 70 [13.5 69.45x3.53 160 ASFE06 |48.3x6.3, 60-3x5.6, 60.366. M20X70 | 3/4X2 12 4.30
gsFao7 |70V 760 M12X55 | 1/2x2 3.50 2" gl R 96.82[133|44.45[114 | 70 | 21 56.75%3.53 400
ASF308 |60.3x4, 76.1x4, 76.1x5.5, 89x4 M16X50 | 5/8x2 2.60 BSF606 M20X100| 3/4X4 8.20
3 865, 896, 895, 90x10 h06.38/135(61.93( 131 80 | 17 85.32x3.53 138 ASF607 |73x7, 76.1x6, 76.1x10, 76.1x12.5 M24X80 850
BSF308 M16X70 |5/8X2 3/4 5.10 212" EOxi1 00200 o142 h23.83180|58.73[152| 80 | 26 — | 7557x5.33 400
ASF309 |76.1x4, 89x, 101.6x7.1 M16X50 | 5/8X2 3.00 BSF607 M24X130 16.50
312" 1025, 114:9x4.5 120.65152|69.85|140| 80 | 17 98.02x3.53 35 ASFo0s |69xi, B9x1a.2, 10612 pr— 1650
BSF309 M16X70 |5/8X2 3/4 5.80 - 143612, 1143142, 143475 |105 4| 215071 43| 108|100 | 32 _ |es2mxs33 | 1 -
ASF310 |89x4, 89x5, 114.3x4 M16X50 | 5/8X2 3.50 BSF608 ' ' M30X150 97.79x5.33 | 45 g9
4 13545, 113020, 113908, h30.18162(77.77(152| 80 | 17 110.72x3.53 35
BSF310 M16X75 | 5/8X3 6.70
ASF311 |140x4, 140x5, 1407, 140x10 M16X55 | 5/8X2 4.50
5" 52.40{184|92.08( 181 80 | 17 136.12x3.53 35
BSF311 M16X85 |5/8X3 1/4 8.60

***ASF307/BSF307/= f L& W SMEATE. AR, SFriMEANTAS, WAHT6.AR, NOYIEARTER, 1RGSR .



Sw

8D

L[

|

L
’r
I

JI/ZNY
X/
N

7=
L

X =
5]
N
- te.. ol
308 .
- GSF--L/S .
#¥E (Material)
1. T445#, carbon steel C45
AWF-- KHCr+3(9%4F Cr+3 white zinked:GSF¥+*-L/S—CFX
KR4 4 Ni-Zn zinked :GSP#kk-L/S--ZN
da x s ARERIXPEIA R SMEXBER) , TEBHE LT HU30° 2 ) . 2754 AISI 321/304 :GSFrkx-L/S—-X
0. REAPTFIARA TR, AT RS S ERAEART . Series - 3000psi % 71| 3 K454 AISI 3161 {GSFHk.L/S-XX
; imensi ! B K . imensi "X
%iﬁ J B Rts$ dimension - FEFHHH %\% pﬂi%@ %% W 5 Rz dimension LIS MI&%]%
: A2 bolt O W, Size = Ol W.
tinch) SRS daxs | C | D | E | F L1 | L2| K M U o-ring (Kg) (Kglem?) (inch) Tvee D1 D M L sw Flange o-ring (Kglem?)
| i GSF301-15L 15L M22X1.5 48 315
HASI 3000 psi 1120 305 2 FH301 | 18.66x3.53
22x3, 22x4.5 GSF301-16S 16S M24X1.5 50 350
12" | AWF301 38.10| 54 [17.48| 46 | 39 | 38 | 8.5 | mex25 |5/16x1 1/4] 18.66x3.53 | 0.40 350 " oL NGEXi5 5 a5
223, 253 GSF302-22L 221 M30X2 53 160
3/4" 26.9x3.6, 28x4.5 g ! . 00x3. !
/. AWF302 4763 65 |22.23| 52 | 42 | 45 [10.5| M10X30 [3/8X1 1/4| 25.00x3.53 | 0.60 350 - P P 5575 PP = " FHang S =
253, 30x4 GSF302-25S 255 M36X2 57 350
" AWF303 |34x4, 35x5 52.37| 70 [26.19| 59 | 45 | 48 | 105 | M10X30 | 3/8X1 1/4 | 32.92x3.53 | 0.80 315
GSF302-28L 28L M36X2 53 160
20xt, 384 105 F303-28L 28L M36X2 54 160
11/4" | AWF304 |424x4,428x54 | 5872 79 |30.18| 73 | 50 | 59 M10X30 [7/16X1 1/4] 37.70x3.53 | 1.20 250 Sorsesas
12 1" GSF303-258 258 447 M36X2 59 36 FH303 32.92x3.53 315
42.4x4, 48.3x5
112" | AwF3o0s [48.6x533 69.85| 94 [35.71] 83 | 55 | 64 |13.5 [ M12x35 |1/2x1 112 | 47.22x353 | 160 | 200 GSF303-308 308 Ma2x2 63 315
GSF304-28L 28L M36X2 58 36 160
60.3x5.6, 61x5
2" AWF306 77.77(102 [ 42.88 | 97 | 108 | 80 | 13.5 | M12X35 [1/2X1 1/2] 56.75x3.53 | 2.60 200 GSF304-35L 35L M45Xx2 58 160
11/4" GSF304-25S 258 51 M36X2 60 41 FH304 37.70x3.53 250
HARF| 6000 psi GSF304-30S 308 M42X2 62 250
20x3, 22x4.5
) 8 M52X2 7 46 2
12" | AWF601 4049 56 [18.24| 48 | 39 | 38 | 8.5 | M8X30 [5/16X1 1/4| 18.66x3.53 | 0.47 400 GSF304-385 388 5 i S0
GSF305-42L 420 64 160
25x4, 27.2x4.1 11/2" 60.5 M52X2 46 FH305 47.22x3.53
3/4" | AWFB02 [28%5 50.80 | 71 [23.80| 60 | 48 | 48 [10.5 | M10X35 |3/8X1 1/2| 25.00x3.53 | 0.90 400 GSF305-385 38S 70 200
GSF306-42L 420 69 160
30x4, 33.7x71 13 2 716 M52X2 55 FH306 56.75x3.53
" AWFG03 |34xt5,35 | 57.15| 81 |27.76| 70 | 60 | 55 | 7| M12X45 [7116X1 34| 32.9263.53 | 150 315 GSF306-38S 38S 75 200
30x5, 36x6 14, ITHBLH Specification:
11/ AWF604 [428x64, 4286 | 66.68| 95 [31.75| 78 | 68 | 61 é M14X50 | 1/2X1 3/4 | 37.70x3.53 | 2.20 315 1. T #:3L f Flange adapter only: GSF301-15L, GSF301-15L-X
38x6, 42.4x8 2. BESKAATRIR S . AR KO, hNJE4% M: GSF301-15LM, GSF301-15LM-X (Bt 3£ #I#84: GSF301-15LU)
112" | AWF605 jg-g;g-“sv&%eﬁﬁ 79.38(113]36.50| 95 | 76 | 72 [ 17 | M16X55 | 5/8X2 | 47.22x3.53 [ 3.30 315 Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U
T 3 Bk AARCER 2 AHIIRKE RO, FIRACRE R, FIE% KM: GSF301-15LMKM
2 AWF606 96.82 133 [44.45 [ 114 | 108 | 80 | 21 | M20X70 [3/4x2 1/2| 56.75x3.53 | 4.30 315 Adapter with flanges, bolts, O-ring, cutting ring and nut: with additional suffix KM

- 10 - - 11 -



Sw

| E=1E
@ ol ¥ = a
| M—
Wz <3
L
GSF--L/S
1l (Material)
1. R4945#, carbon steel C45
LHCr+3(9%4F Cr+3 white zinked:GSF¥+*-L/S—CFX
FEHEAS Ni-Znzinked  :GSFw#*-L/S--ZN
. . 2G40 AISI 321/304 “GSFH¥*.L/IS-X
Series - 6000psi E £ %1 3454 AISI 316L (GSFHF--L/S—XX
+5 i i ! TS
%-[izig w5 R+2% dimension - TP A - %&"3’:‘\,}%
i Type =1 Of% Wi
(inch) i @D D M L sw Flange o-ring (Kglem?)
172" GSF601-16S 16S 318 | M24x15 53 24 FHB01 18.66x3.53 400
GSF602-16S 16S M24X1.5 59
GSF602-20S 208 M30X2 61
3/4" 415 30 FH602 25.00x3.53 400
GSF602-25S 255 M36X2 63
GSF602-30S 308 M42X2 65
GSF603-20S 208 M30X2 70
" GSF603-258 255 478 M36X2 72 36 FHB03 32.92x3.53 400
GSF603-30S 308 M42x2 74
GSF604-30S 308 M42X2 79 41 400
11/4" 54.2 FHB04 37.70x3.53
GSF604-38S 388 M52X2 83 46 315
GSF605-30S 308 M42X2 87 400
11/2" 63.7 46 FH605 47.22x3.53
GSF605-38S 38S M52X2 89 315
GSF606-30S 308 M42X2 92
2 79.6 55 FH606 56.75x3.53 315
GSF606-38S 38s M52X2 %4

iT#RiEH Specification:

1. {UiT #:k & Flange adapter only: GSF601-16S, GSF601-16S-X

2. Bk ATIR 22 . ARIIEAR KO, hlJE4% M: GSF601-16SM, GSF601-16SM-X (it % #lligts:: GSF601-16SU)
Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

3. B RTLEE 2 . AR ROEE, FIRNACREZIRIE, FnE% KM: GSF601-16SMKM
Adapter with flanges, bolts, O-ring, cutting ring and nut: with additional suffix KM

L2

Nl
#D1

3
L

L

oD1
L824

M

\\\\

" L
- 0| [Q
—
5 Ul
oD
GWEF--L/S #1EL (Material)
1. #4XQ345B, carbon steel Q345B
K Cr+3[H%% Cr+3 white zinked:GWF*+*-L/S—CFX
RIEFHEE S Ni-Zn zinked :GWF*¥*-L/S--ZN
) X 2 RE540 AISI 321/304 (GWF*#k-L/S--X
Series - 3000psi 12 &% 3R AISI 316L :GWFik.|_/S--XX
15 i i 4 BN
%Jg - R5% dimension - e B - ,}&%}é
) Type =1 O LW
(inch) Y 2D D M L1 L2 sw Flange o-ring (Kglcm®)
GWF301-15L 15L M22X1.5 36 315
1/2" 30.5 39 24 FH301 18.66x3.53
GWF301-16S 16S M24X1.5 38 350
GWF302-18L 18L M26X1.5 39 315
u GWF302-22L 221 M30X2 41 160
34 383 42 30 FH302 25.00x3.53
GWF302-20S 208 M30X2 43 350
GWF302-25S 258 M36X2 45 350
GWF303-28L 28L M36X2 47 160
" GWF303-25S 258 | 447 | M36X2 45 47 36 FH303 32.92x3.53 315
GWF303-30S 308 M42X2 47 315
GWF304-35L 35L M45X2 57 160
. GWF304-258 258 M36X2 55 250
11/4 51 50 4 FH304 37.70x3.53
GWF304-30S 308 M42X2 57 250
GWF304-38S 388 M52X2 59 250
GWF305-42L 421 58 160
11/2" 60.5 | M52x2 55 50 FH305 47.22x3.53
GWF305-38S 38S 64 200
GWF306-42L 42L 160
2" 716 M52X2 108 80 60 FH306 56.75x3.53
GWF306-38S 388 200

T 158 Specification:

1. {U3T #:k 1A Flange adapter only: GWF301-15L, GWF301-15L-X

2. B AATEE 2 . AR RO, NS4 M: GWF301-15LM, GWF301-15LM-X (A s it : GWF301-15LU)
Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

3 HSRIRENA . AR ROTERE, [FIRHLRE LIRIE, HJE4 KM: GWF301-15LMKM
Adapter with flanges, bolts, O-ring, cutting ring and nut: with additional suffix KM



L2

3| iam =
S NJ = (1) 8
- o[
-
5 Ul
oD
GWF--L/S
£ (Material)
1. %4XQ345B, carbon steel Q345B
KMCr+3[14% Cr+3 white zinked: GWF*¥¥-L/S—-CFX
REHESE4S Ni-Zn zinked (GWF*k*-L/S-—-ZN
. ) 2.4 AISI 321/304 (GWFHHk.L/S--X
Series - 6000psi & %) 3R AISI 316L (GWFHkk-L/S—-XX
5 — " IS
;gizzﬁ - Rt &% dimension - A B - %&JVJI‘V}%
: T w2 OJ% WV
(inch) ES 2D1 D M L1 L2 [ sw Flange o-ing (Kgiem?)
172" GWF601-16S 165 31.8 | M2ax15 | 39 38 24 FH601 18.66x3.53 400
GWF602-16S 16S M24X1.5 45
3/4" GWF602-20S 20S 415 | M30x2 48 46 32 FH602 25.00x3.53 400
GWF602-25S 258 M36X2 48
GWF603-25S 255 M36X2 53
1" 47.8 60 41 FH603 32.92x3.53 400
GWF603-30S 308 M42Xx2 55
GWF604-30S 308 M42Xx2 58 400
11/4" 54.2 68 46 FHE04 37.70x3.53
GWF604-38S 388 M52X2 61 315
GWF605-30S 308 M42X2
112" 63.7 76 72 50 FH605 47.22x3.53 315
GWF605-38S 385 M52X2
GWF606-30S 308 M42X2
2" 79.6 108 80 60 FH606 56.75x3.53 315
GWF606-38S 38S M52X2

iT#UiR Specification:
1. {XiT #: kYA Flange adapter only: GWF601-16S, GWF601-16S-X
2. B AL 2 . ARIRK KO, NS4 M: GWF601-16SM, GWF601-16SM-X (At 3 Hl##4%: GWF601-16SU)
Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U
3. BRI . AR RO, FNE-RELRE, HIEH KM: GWF601-16SMKM
Adapter with flanges, bolts, O-ring, cutting ring and nut: with additional suffix KM

SW
—/—
GWA45F--L/S
%L (Material)
1. [#41Q345B, carbon steel Q3458
RIHCr+3[4% Cr+3 white zinked:GW45F***-L /S—-CFX
HEHEAS Ni-Znzinked  :GWASFR*-L/S-ZN
) ) 25454 AlSI 321/304 :GWABFH+*-/S—X
Series - 3000psi ¥ &% 3R4E4 AISI 316L :GWABEF#R¥-L/S—-XX
- — RN
%_ % w5 Rta% dimension FC B ,\%A’;JVJI‘VQ
ize £ o W
(inem) Type @D1| D M | 2 [sw| fo i (Koo
GWA45F301-15L | 15L M22X1.5 315
172" 305 39 325 | 24 FH301 18.66x3.53
GWA45F301-16S | 168 M24X1.5 350
GWA45F302-18L | 18L M26X1.5 315
GW45F302-22L | 22L M30X2 160
3/4" 38.3 4015 | 325 | 30 FH302 25.00x3.53
GWA45F30220S | 208 M30X2 X 350
GWA45F302-258 | 25S M36X2 350
GW45F303-28L | 28L M36X2 160
1" GW45F303-25S 258 447 M36X2 47 37.35 36 FH303 32.92x3.53 315
GWA45F303-30S | 30S Ma2x2 315
GW45F304-28L 28L M36X2 160
GW45F304-35L 35L M45X2 160
11/4" GW45F304-25S 25S 51 M36X2 51.8 40.4 41 FH304 37.70x3.53 250
GWA45F304-30S | 308 M42X2 250
GW45F304-38S 388 M52X2 250
GWA45F305-42L | 42L M52X2 160
11/2" 60.5 60.45 45.2 50 FH305 47.22x3.53
GWA45F305-388 | 38S M52X2 200

T 3%8 Specification:
1. {XiT#:k 4 Flange adapter only: GW45F301-15L, GW45F301-15L-X
2. BELARTER 2 AR KO, NS4 M: GWA5F301-15LM, GW45F301-15LM-X (FE & ligke: GWA45F301-15LU)
Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U
3. BLIRELAZ . AHIIRER ROTERE, FINEC-REKIRIE, )4 KM: GWA45F301-15LMKM
Adapter with flanges, bolts, O-ring, cutting ring and nut: with additional suffix KM

- 15



GWA45F--L/S
#HE (Material)
1. %4Q345B, carbon steel Q3458
K Cr+3[4% Cr+3 white zinked:GW45F***- /S--CFX
KEHEAS Ni-Znzinked — :GWASF**L/S-ZN
) ) 2540 AISI 321/304 GWAEF#k%-L/S—X
Series - 6000psi & &%) 3RS AISI 316L GWA5F#H*-L/S—-XX
: — " B
%g. % - R~F&% dimension A A MI/&%V%
ize bt o W
(inch) Type oD1| D M | L2 [sw| go o prie
172" GW45F601-16S | 16S | 31.8 | M24x15| 39 325 | 24 FHB01 18.66x3.53 400
GWA45F602-16S | 16 M24X1.5
3/4" GW45F602-20S 208 415 | M30X2 | 4015 | 325 32 FH602 25.00x3.53 400
GW45F602-258 | 255 M36X2
GW45F603-258 | 255 M36X2
1" 478 47 | 3735 | 41 FH603 32.92x3.53 400
GW45F603-30S | 30S M42X2
GW45F604-30S | 30S M42X2 400
11/4" 542 518 | 404 | 46 FHB04 37.70x3.53
GW45F604-38S | 38S M52X2 315
GW45F605-30S | 30S M42X2
172" 637 6045 | 452 | 50 FHB05 47.22x3.53 315
GW45F605-38S | 38S M52X2

iT#UiH Specification:
1. f2iT #3k{A Flange adapter only: GW45F601-16S, GW45F601-16S-X
2. BERAATRER 2 . AR KO, INJ54% M: GWA5F601-16SM, GWA45F601-16SM-X (B %1l i##2: GWA45F601-16SU)
Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U
3B MREE . AR RO, FINELRE KR, EJE4 KM: GWA5F601-16SMKM
Adapter with flanges, bolts, O-ring, cutting ring and nut: with additional suffix KM

GSF--JIC kL (Material)
1. B4M45#, carbon steel C45
RIECr+3[%E Cr+3 white zinked:GSF***-JIC--CFX
KEEH A4 Ni-Zn zinked :GSF**+*-JIC--ZN
2 R8540 AISI 321/304 :GSF*¥*-JIC--X
3N AISI 316L :GSPF#¥k*-JIC--XX
- — T X
ﬂs- * _— R-2% dimension - L F I = %&’{Vﬂ
Size T g2t oW W
(inch) b A | D | L | sw Flange o-ring (Kglem?)
&% 3000 psi
GSF301-JIC3/4 ¥4"-16UNF
172" 30.5 48 22 FH301 18.66x3.53 350
GSF301-JIC7/8 %"-14UN
3/4" GSF302-JIC1)s 1%6"-12UN 38.3 55 30 FH302 25.00x3.53 350
GSF303-JIC1s 1%6"-12UN
1 447 55 36 FH303 32.92x3.53 315
GSF303-JIC1%s 1%¢"12UN
GSF304-JIC1% 1%6"-12UN
11/4" 51 58 41 FH304 37.70x3.53 250
GSF304-JIC1% 1%"-12UN
11/2" GSF305-JIC1% 1%"-12UN 60.5 62 46 FH305 47.22x3.53 200
2" GSF306-JIC2)% 2%4"-12UN 716 80 55 FH306 56.75x3.53 200
ERY] 6000 psi
GSF601-JIC3/4 Y4"-16UNF
1/2" 31.8 50 22 FH601 18.66x3.53 350
GSF601-JIC7/8 %"-14UN
3/4" GSF602-JIC1%s 1%6"-12UN 415 64 30 FH602 25.00x3.53 350
GSF603-JIC1s 1%6"-12UN
1" 47.8 72 36 FHB03 32.92x3.53 350
GSF603-JIC1%s 1%6"-12UN
GSF604-JIC1%s 1%¢"12UN 350
11/4" 54.2 81 41 FH604 37.70x3.53
GSF604-JIC1% 1%"-12UN 275
11/2" GSF605-JIC1% 1%"-12UN 63.7 86 46 FH605 47.22x3.53 210
2" GSF606-JIC2)% 2%"-12UN 79.6 90 55 FHB06 56.75x3.53 210

T UiH] Specification:
1. fiT#k{k Flange adapter only: GSF301-JIC3/4, GSF301-JIC3/4-X
2. BELATEE L . AR ROMPE, 11JE4% M: GSF301-JIC3/4M, GSF301-JIC3/4M-X (Bt #1124 GSF301-JIC3/4U)

Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



L2

SW
I S
L 2l
5
oD
GWF--JIC ## (Material)
1. 74X Q345B, carbon steel Q3458
FHCr+3[9% Cr+3 white zinked:GWF#+*-JIC--CFX
REHHEAS Ni-Znzinked  :GWF**-JIC-ZN
2 R4 AISI 321/304 (GWF#k*_JIC—-X
3R AISI 316L (GWF%-JIC--XX
. — " G
%I% _ R+&% dimension TCFH B MIﬁ%jg,
1ze % WL
(inch) Type A D L1 L2 | SW | Fange (Ke/oii?)
% &% 3000 psi
172" CWESHL-IICH4 | S4-16UNE 305 39 38 24 FH301 18.66x3.53 350
GWF301-JIC7/8 %"-14UN ’ : :
WF302-JIC7) 7%
34" CUIESDE: OIS A*14UN 383 42 45 30 FH302 25.00x3.53 350
GWF302-JICTHs | 1%46™12UN
GWF303-JICTHs | 1/46™~12UN
g 447 45 50 36 FH303 32.92x3.53 315
GWF303-JIC1%s | 1%6™12UN
WF304-JIC19 1%¢"-12UN
1ajn [ GWFS04-JIC1%s g™ 12U 51 50 59 41 FH304 37.70x3.53 250
GWF304-JIC1% | 1%'-12UN
3 5 AR
14y | CWFS0S-UICH% | 19%"-12UN 60.3 55 64 50 FH305 47.22x3.53 200
GWF305-JIC1% | 1%4"-12UN
% 7, 7/
2" GWF306-JICTA | 1A"-12UN 716 108 777 60 FH306 56.75x3.53 200
GWF306-JIC2}% 24"-12UN
HZ%| 6000 psi
b 3/
172" GWFE01-JIC3/4 | 94"-16UNF 318 39 38 24 FHB01 18.66x3.53 400
GWF601-JIC7/8 %" 14UN
3 7/
314" SWEDRIICTIE A'14UN 415 48 48 32 FHB02 25.00x3.53 400
GWF602-JICTHs | 1%46™12UN
" GWF03.JICTHs | 1ig'12UN 478 60 55 41 FH603 32.92x3.53 400
GWFB03-JIC1%s | 1%6™12UN
N 5 5/ n_
114 | GWFB04-JICTHs | 1%e™12UN 542 68 61 46 FHB04 37.70x3.53 400
GWF604-JIC1% | 1%'™-12UN
WF605-JIC1% 1%"-12UN
11/ | CWFO05-JIC1% 120 637 76 72 50 FHB05 47.22x3.53 400
GWF605-JIC1% | 1%"™-12UN
WF606-JIC17 1%"-12UN
2 GWFG06-JICTA 12U 796 108 777 60 FHB06 56.75x3.53 400
GWF606-JIC2} 2%4"-12UN

SW
N
,7
4p° X«
el IR
i
—]
@D
GW45F--JIC %l (Material)
1. %4XQ345B, carbon steel Q345B
RIECr+3[%E Cr+3 white zinked:GW45F*¥*-JIC--CFX
RiEE4EAE 4 Ni-Zn zinked :GW45F***-JIC-ZN
2. R854 AISI 321/304 :GWA45F**+*-JIC—-X
3B AISI 316L :GWA45F*¥*-JIC--XX
n — " E X
%_ " W e R+&8 dimension BCH W "AIAV;%‘I};
ize L oF W
(inch) Type A D | L1 L2 | sw Flange (Kglem?)
%A% 3000 psi
GWA45F301-JIC3/4 |  %"-16UNF
172" 30.5 39 325 24 FH301 18.66x3.53 350
GW45F301-JIC7/8 7"-14UN
GW45F302-JIC7/8 %"-14UN
3/4" 38.3 40.15 325 30 FH302 25.00x3.53 350
GW45F302-JIC1%e 1%6"™12UN
GW45F303-JIC1%6 1%g"12UN
1" 44.7 47 37.35 36 FH303 32.92x3.53 315
GW45F303-JIC1%6 | 1%6"-12UN
GW45F304-JIC1%g | 1%6"-12UN
11/4" 51 51.8 404 41 FH304 37.70x3.53 250
GW45F304-JIC1% 1%"-12UN
GW45F305-JIC1% 1%"-12UN
112" 60.5 60.45 45.2 50 FH305 47.22x3.53 200
GW45F305-JIC17%4 1%"-12UN
ER% 6000 psi
GW45F601-JIC3/4 ¥"-16UNF
1/2" 31.8 39 325 24 FH601 18.66x3.53 400
GW45F601-JIC7/8 7"-14UN
GW45F602-JIC7/8 7%"-14UN
3/4" 415 40.15 325 32 FH602 25.00x3.53 400
GWA45F602-JIC1Ys |  1%6"-12UN
GWA45F603-JIC1Ys | 1%4e"-12UN
" 47.8 47 37.35 41 FH603 32.92x3.53 400
GW45F603-JIC1%s | 1%6"-12UN
GW45F604-JIC1%6 | 1%6"-12UN
11/4" 54.2 51.8 40.4 46 FH604 37.70x3.53 400
GW45F604-JIC1% 1%"-12UN
GWA45F605-JIC1% | 1%"-12UN
172" 63.7 60.45 45.2 50 FH605 47.22x3.53 400
GW45F605-JIC17% 1%"-12UN

iTH% 1 Specification:

1. {UT#:k4k Flange adapter only: GWF301-JIC3/4, GWF301-JIC3/4-X

2. BELAARTEE 2 . ARIRI KO, M54 M: GWF301-JIC3/4M, GWF301-JIC3/4M-X (Fit % il #8#:: GWF301-JIC3/4U)
Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

iT#UiH Specification:

2. Bl RIS . AR K OTY

1. f0iT#::kfk Flange adapter only: GW45F301-JIC3/4, GWA45F301-JIC3/4-X
JNJE4% M: GW45F301-JIC3/4M, (FLdiigie: GWA5F301-JIC3/4U)

Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U




52

SW L
7 Tl
#k (Material)
GSF--G 1. Bk4N45#, carbon steel C45
KIfCr+3E4% Cr+3 white zinked:GSF*¥*-G--CFX
RS AE Ni-Zn zinked :GSF*+*-G--ZN
24 AISI 321/304 (GSF*¥*-G—-X
3 AISI 316L (GSPHk-G--XX
i " - . ETRES
%-% w Ry&45 dimension - T M - %&%j%
Siz T 2 o LW.
(inch) yee | D | L | sw Flange o-ring (Kglem?)
%% 3000 psi
GSF301-G3/8 G3/8"
172" 30.5 50 24 FH301 18.66x3.53 350
GSF301-G1/2 G1/2"
GSF302-G1/2 G1/2"
3/4" 38.3 55 30 FH302 25.00x3.53 350
GSF302-G3/4 G3/4"
GSF303-G3/4 G3/4"
1" 447 60 36 FH303 32.92x3.53 315
GSF303-G1 G1"
GSF304-G1 G1"
11/4" 51 65 41 FH304 37.70x3.53 250
GSF304-G1Y, [cVA
GSF305-G1Y (VA
11/2" 60.5 70 46 FH305 47.22x3.53 200
GSF305-G1% G1)"
2" GSF306-G2 G2" 71.6 75 55 FH306 56.75x3.53 200
EZR%| 6000 psi
GSF601-G3/8 G3/8"
172" 31.8 50 24 FH601 18.66x3.53 400
GSF601-G1/2 G1/2"
GSF602-G1/2 G1/2"
3/4" 41.5 60 30 FH602 25.00x3.53 400
GSF602-G3/4 G3/4"
GSF603-G3/4 G3/4"
1" 47.8 70 36 FH603 32.92x3.53 400
GSF603-G1 G1"
GSF604-G1 G1"
11/4" 54.2 75 41 FH604 37.70x3.53 400
GSF604-G1Y, G1y"
GSF605-G1Y4 [cVA
11/2" 63.7 80 46 FH605 47.22x3.53 400
GSF605-G1}% G1%"
2" GSF606-G2 G2" 79.6 95 55 FH606 56.75x3.53 400

SwW
-
=
—
oD
GWF--G 4} (Material)
1. B49Q345B, carbon steel Q345B
RIECr+3[94% Cr+3 white zinked: GWF***-G--CFX
K44 Ni-Zn zinked (GWF##kk.G--ZN
2. RE540 AISI 321/304 (GWF#kk-G--X
3B AISI 316L (GWF*¥k.G--XX
. — < E_X
%_ ™ M e Rt&H dimension A B "AIAV;J\%,};
ize i O W,
(inch) ype A D L1 L2 sw Flange (Kglem?)
% %%] 3000 psi
12" SWESOTCE el 30.5 39 38 24 FH301 18.66x3.53 350
GWF301-G1/2 G1/2" : 003
3/4" CWE302.612 Sl 38.3 42 45 30 FH302 25.00x3.53 350
GWF302-G3/4 G3/4"
1" GWF303-G3/4 3/ 447 45 50 36 FH303 32.92x3.53 315
GWF303-G1 G1"
11/4" GWF304 G1 o1 51 50 59 41 FH304 37.70x3.53 250
GWF304-G1% G14"
112" GWF305 G1)4 G4 60.3 55 64 50 FH305 47.22x3.53 200
GWF305-G1}% G1%"
2" GWF06-G1% i/ 71.6 108 80 60 FH306 56.75x3.53 200
GWF306-G2 G2"
HARY] 6000 psi
172" SWEeteS G3/8 318 39 38 24 FH601 18.66x3.53 400
GWF601-G1/2 G1/2"
3/4" SWFE02:61/2 Sie 415 48 48 32 FH602 25.00x3.53 400
GWF602-G3/4 G3/4"
1 GWFE03-G3/4 Gsr 478 60 55 41 FHB03 | 32.92¢3.53 400
GWF603-G1 G1"
11/4" SWFELTaI ol 54.2 68 61 46 FH604 37.70x3.53 400
GWF604-G1%4 G14"
11/2" GWFE05-61/4 G4 63.7 76 72 50 FH605 47.22x3.53 400
GWF605-G1% G1%"
2" GWF606-G1)) i/ 79.6 108 80 60 FHE06 56.75x3.53 400
GWF606-G2 G2"

iTHRUH Specification:
1. fiT#:k1k Flange adapter only: GSF301-G3/8, GSF301-G3/8-X

2. BRI L AR KOTE R, )54 M: GSF301-G3/8M, GSF301-G3/8-X (AL filit%: GSF301-G3/8U)

Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

20

iT#RiEH Specification:
1. {0iT 83k Flange adapter only: GWF301-G3/8, GWF301-G3/8-X

2. BERRRLEEZE . Al K OTE

Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

21

JinjE 4% M: GWF301-G3/8M, GWF301-G3/8M-X (F % fil#&#:: GWF301-G3/8U)



GSF--OR

GW45F--G # £ (Material) FHEL (Material)

1. §%4NQ345B, carbon steel Q345B
o 1. Tj%4N45#, carbon steel C45
K Fokk G-
;gg;;fg ,\?Z ‘;’.:::Z: mkedgmggﬁ_g_;:x HFCr+3[15F Cr+3 white zinked:GSF¥#*-OR-CFX
s : KBS NiZnzinked  :GSFH-OR-ZN

2 R4 AlSI 321/304 GWAEF#k*-G—-X ;
3R AISI 3161 “GWABF##%-G—-XX 24 > 1 sisadEo [GSP-OR-X
3R AISI 316L “GSF#*-OR-XX
- — " ®_K

e - e dimension O B TIES o - RB% dimension ORI ;ij_‘{’mj{
(inemy Type A | o o] e | sw ]| E R (icgtnty sizs Tyes EE [ owmi | opmz | MAXWP
ange oring (inch) A | D1 | D2 L | sw Flange o-ring | o-ring (Kglem?)

il i "

%A% 3000 psi % Z%| 3000 psi

" ¥ " 305 39 325 24 FH301 18.66x3.

12" | GWASE301-G12 Sl X353 350 o |_GSF301ORYs | ¥s-16UN | 95 w05 5 S B EEY 2N P
GWA45F302-G1/2 G1/2" . -OPKs

34" 383 40.15 325 30 FH302 25.00%3.53 350 GSF301-OR1 | 1"-14UNS | 125 15.6x1.78
GWA45F302-G3/4 G3/4 34" | GSF302-OR1%s | 1%6™12UN | 155 383 53 30 [FH302| 18.77x1.78 | 25.00x353 | 350

qu | SWASEI03-Gar G3/4 447 47 37.35 36 FH303 32.92x3.53 315 1 GSF303-OR1%4s | 1%4¢"12UN | 205 447 54 36 | FH303 | 23.52x1.78 | 32.92x353 | 315
GWASF303-G1 Gt 114" | GSF304-0R1%s | 1%s12UN| 26 51 58 41 | FH304| 29.87x1.78 | 37.70x353 | 250
GWA45F304-G1 G1" -

14" 51 518 404 1 FH304 37.70x3.53 250 1112 GSF305-OR2 2"-12UN 32 60.5 60 46 |FH305| 37.82x1.78 | 47.22x353 | 200
GWA45F304-G1%4 G1; 2 GSF306-OR2 2"-12UN 32 716 65 55 [FH306| 37.82x1.78 | 56.75x3.53 | 200
GWA45F305-G1% Gy i

11/2" : i 60.5 60.45 452 50 FH305 47.22x3.53 200 HARF] 6000 psi
GW45F305-G 1% G1% GSF601-OR'%s | 1%™16UN 95 12.42x1.78

TS 6000 psi 172" 31.8 48 22 | FHe01 18.66x3.53 | 400
GSF601-OR1 | 1-14UNS | 125 15.6x1.78

1 GW45F601-G1/2 G172 318 2 828 24 FHE0H 18.66x3.53 400 34" | GSF602-OR1%s | 1%s™12UN | 155 M5 58 30 | FHe02| 18.77x1.78 | 25.00x3.53 | 400

ar | SWIASFE02:612 G112 M5 4015 a5 2 FHE02 25.00x3.53 400 1" GSF603-OR1%s | 1%4¢"12UN | 205 478 66 36 | FH603 | 23.52x1.78 | 32.92x3.53 | 400
GW45F602-G3/4 G3/ 11/4" | GSF604-OR1'g | 1'%s"12UN | 26 542 70 41 | FHe04 | 29.87x1.78 | 37.70x353 | 350

o | [SWASRE03CGA G314 478 47 37.35 M FH603 32.92x3.53 400 172" GSF605-OR2 2"-12UN 32 63.7 78 46 | FHe05 | 37.82x1.78 | 47.22x353 | 310
GWA45F603-G1 G1 2" GSF606-OR2 2"12UN 32 79.6 85 55 | FH606 | 37.82x1.78 | 56.75x3.53 | 310

iz |Gl ki 542 51.8 40.4 46 FHB04 37.70x3.53 400

GWASFE04-G1% o . : g SOXS. TR Specification:
GWabF605-G1% % 1. f0iT#:k{A Flange adapter only: GSF301-OR "%, GSF301-OR"'%6-X
172" —T o 63.7 60.45 45.2 50 FHB05 47.22x3.53 400 2. BES AT . AHIIRER RO, NE4% M: GSF301-OR '%eM, GSF301-OR'¥sM-X (B 3% Hii#: GSF301-OR'¥6U)

Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U
iT#8 Specification:
1. {iT#:k4k Flange adapter only: GW45F301-G1/2, GW45F301-G1/2-X
2. BELARTLEE2E . AR KO, IS4 M: GWA5F301-G1/2M, (B2 iR GWA45F301-G1/2U)
Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

- 22 - - 23 -



SW

L2

[_
401
A

i
J

SW

-
.|
9D
GWF--OR # kL (Material)
1. 7%4NQ345B, carbon steel Q3458
KMCr+3{44¢ Cr+3 white zinked: GWF#¥+.OR--CFX
KRS Ni-Zn zinked :GWFH#k-OR--ZN
2 R4 AlSI 321/304 GWF#++-OR-X
3R AISI 316L :GWF#¥%-OR--XX
W% 1 R+&% dimension O A A jﬁ%{’gﬂzé
Size Type %Z | onl OEz | MAXWP
(inch) A D1 D L1 L2 S Flange o-ring o-ring (Kglem?)
%% 3000 psi
12" | GWF301-OR'%s | %g-16UN | 9.5 | 305 [ 39 38 24 | FH301(| 12.42x1.78 | 18.66x3.53 | 350
GWF302-OR1 | 1™-14UNS | 125 15.6x1.78
34" 383 | 42 45 30 |FH302 2500x353 | 350
GWF302-OR1¥%s | 1%¢"12UN | 155 18.77x1.78
GWF303-OR1¥%s | 1%¢"12UN | 155 18.77x1.78
1 447 | 45 50 36 | FH303 32.92x353 | 315
GWF303-OR1%s | 1%4¢"12UN | 205 23.52x1.78
GWF304-OR1%s | 1%4¢"12UN | 205 23.52x1.78
11/4" 51 50 59 41 | FH304 37.70x353 | 250
GWF304-OR1'g | 1'%6™12UN | 26 29.87x1.78
GWF305-OR1'%6 | 11%6™12UN | 26 29.87x1.78
172" 605 | 55 64 50 |FH305 47.22x353 | 200
GWF305-OR2 2"12UN 32 37.82x1.78
2 GWF306-OR2 212UN 32 | 716 | 108 80 60 |FH306 | 37.82x1.78 | 56.75x3.53 | 200
HAR%] 6000 psi
12" | GWF601-OR™¥s | %s-16UN | 95 | 318 | 39 38 24 | FHe01| 12.42x1.78 | 18.66x353 | 400
GWF602-OR1 | 1™14UNS | 125 15.6x1.78
34" 45 | 48 48 32 | FHe02 2500x353 | 400
GWF602-OR1¥%s | 1%¢™12UN | 155 18.77x1.78
GWF603-OR1¥s | 1%¢™~12UN | 15.5 18.77x1.78
1 478 | 60 55 41 | FHe03 32.92x353 | 400
GWF603-OR1%¢ | 1%¢™~12UN | 20.5 23.52x1.78
GWF604-OR1%s | 1%4¢"12UN | 205 23.52x1.78
174" 542 | 68 61 46 | FH604 37.70x353 | 350
GWF604-OR1Hg | 11%6™12UN | 26 29.87x1.78
GWF605-OR1'}s | 1'%™12UN | 26 29.87x1.78
172" 63.7 | 76 72 50 | FHB05 47.22x353 | 310
GWF605-OR2 2"-12UN 32 37.82x1.78
2 GWF606-OR2 2"12UN 32 | 796 | 108 80 60 |FH606 | 37.82x1.78 | 56.75x353 | 310

ITHUL Specification:

1. {XiT#:3k4k Flange adapter only: GWF301-OR %, GWF301-OR'¥6-X

2. B R RREE . AR K0T

5

fnjE4% M: GWF301-OR %M, GWF301-OR"¥gM-X (B2 £ /it : GWF301-OR'%6U)
Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

GW45F--OR &L (Material)
1. 5%49Q345B, carbon steel Q345B
XM Cr+3[4%E Cr+3 white zinked: GW45F*+*-OR--CFX
KRS E Ni-Zn zinked :GWA5F#**-OR--ZN
2554 AISI 321/304 :GWA45F*¥*-OR--X
3N AISI 316L :GWA45F*+*-OR--XX
W w8 R¥s85 dimension TR ?WE;J\
Size Typ: P o2 MAX.W.P
(inch) A D L1 L2 sSwW Flange o-ring (Kglem?)
% %&%| 3000 psi
1/2" | GWA45F301-OR'¥ 1%6"-16UN 30.5 39 325 24 FH301| 12.42x1.78 | 18.66x3.53 350
GW45F302-OR1 1"-14UNS 15.6x1.78
3/4" 38.3 40.15 325 30 FH302 25.00x3.53 350
GW45F302-OR1%s|  1%6"-12UN 18.77x1.78
GW45F303-OR1%s|  1%46"-12UN 18.77x1.78
1 447 47 37.35 36 FH303 32.92x3.53 315
GWA45F303-OR1%s|  17%4¢"12UN 23.52x1.78
GW45F304-OR1%s|  1746"-12UN 23.52x1.78
11/4" 51 51.8 40.4 41 FH304 37.70x3.53 250
GW45F304-OR1'%g|  11%¢"-12UN 29.87x1.78
GW45F305-OR1'}6|  1'%6"-12UN 29.87x1.78
11/2" 60.5 60.45 45.2 50 FH305 47.22x3.53 200
GW45F305-OR2 2"-12UN 37.82x1.78
EAJ| 6000 psi
1/2" | GW45F601-OR'¥%g ¥6"-16UN 318 39 325 24 FH601| 12.42x1.78 | 18.66x3.53 400
GW45F602-OR1 1"-14UNS 15.6x1.78
3/4" 41.5 40.15 325 32 FH602 25.00x3.53 400
GW45F602-OR1%s|  1%46"-12UN 18.77x1.78
GW45F603-OR1%s|  1%6"-12UN 18.77x1.78
1" 47.8 47 37.35 41 FH603 32.92x3.53 400
GW45F603-OR1%g|  176"-12UN 23.52x1.78
GWA45F604-OR1%gs|  1%6"-12UN 23.52x1.78
11/4" 54.2 51.8 40.4 46 FH604 37.70x3.53 350
GW45F604-OR1'%g|  1%¢"-12UN 29.87x1.78
GW45F605-OR1'%46|  1'%46"-12UN 29.87x1.78
11/2" 63.7 60.45 45.2 50 FH605 47.22x3.53 310
GW45F605-OR2 2"-12UN 37.82x1.78

iT# 38 Specification:

L. 4T3k A Flange adapter only: GW45F302-OR1 %6, GW45F302-OR1%-X
2. BRI S . ARIIER KOE, IJE4% M: GW45F302-OR1 ¥46M, (FisEHiigke: GWA45F302-OR1%5U)
Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U




L2

L2
—Hrm, . )
S
:/ —
- SW, ||
)
9D
BR-GWF--JIC 1kl (Material)
1. %4420#, carbon steel C20
FHCr+3/3%F Cr+3 white zinked:BR-GWF*¥*-JIC--CFX
KMHEHE 4 Ni-Zn zinked :BR-GWF*¥k_JIC--ZN
W _ Rt&% dimension TC T B 12 ?{’EHE%
Size b T O MAX.W.P
(inch) Type A D | L1 L2 | SW Flange o-ting (Kglom?)
% #%| 3000 psi
BR-GWF302-JIC7, 7o 24
3/4" CWF302-ICT/8]  4™14UN 383 59 71 FH302 25.00x3.53 315
BR-GWF302-JIC1}s| 1/46™12UN 30
BR-GWF303-JIC1 1%6™12UN 30
1" Y| 1he 447 68 83 FH303 32.92x3.53 315
BR-GWF303-JIC1%s| 1%¢"-12UN 36
¥ -JIC1%6|  1%6™-12UN 36
1140 [BROWF304-JICH%e) 1576 51 86 105 FH304 37.70x3.53 210
BR-GWF304-JIC1% | 1%'-12UN 76
¥ JIC1% | 19"-12UN 46
14je | BROWFS0SICTR | 196™12U 60.3 98 115 FH305 47.22x3.53 210
BR-GWF305-JIC1% | 17%4"-12UN 55
A% 6000 psi
2 X /AR
ayg | BROWFG02-JIC7/8 | %'14UN 415 62 71 sl FHB02 25.00x3.53 400
BR-GWF602-JIC1%4s| 1/46™~12UN 30
qn | BRGWF603-JIC1q g 12UN 478 74 85 30 FH603 32.92x3.53 400
BR-GWF603-JIC1%s| 1%¢™-12UN 36
b - 5, 5/ m_:
1140 | BROWFB04-JICT%| 1%6™12UN 542 9% 107 36 FHB04 37.70x3.53 315
BR-GWF604-JIC1% | 194"12UN 46
4 e 5, AR
tapr | BROWFE05-JICT | 1%™12UN 637 14 112 49 FHB05 47.22x3.53 315
BR-GWF605-JIC1% | 174"-12UN 55

_ /\
L 9 s
7 “} N Y
r// o
= W SW -
S —
oD
BR-GWF--L/S  # ¥l (Material)
1. 1#4420#, carbon steel C20
RMCr+3E% Cr+3 white zinked:BR-GWF#¥*.L/S--CFX
KA S Ni-Zn zinked ‘BR-GWF*+*-L/S—-ZN
- imensi " EPES
%. # W s R~t&% dimension - e B4 = %&%j%
Size T HE o W,
(inch) ype @D1 | D | M | L1 | L2 | SW | Fonce orng (K
% #&%| 3000 psi
BR-GWF302-18L | 18L M26X1.5 27 160
BR-GWF302-22L | 22L M30X2 160
3/4" 38.3 59 71 30 FH302 25.00x3.53
BR-GWF302-20S | 20S M30X2 315
BR-GWF302-25S | 25S M36X2 36 315
BR-GWF303-28L | 28L M36X2 % 160
" BR-GWF303-25S | 258 | 447 | M36X2 68 83 FH303 32.92x3.53 315
BR-GWF303-30S | 30S M42X2 46 315
BR-GWF304-35L | 35L M45X2 46 160
114" | BR-GWF304-25S | 258 51 M36X2 86 105 36 FH304 37.70x3.53 210
BR-GWF304-30S | 30S M42X2 46 210
BR-GWF305-42L | 42L 160
172" 605 | M52x2 98 115 55 FH305 47.22x3.53
BR-GWF305-38S | 38S 210
HERY] 6000 psi
BR-GWF602-16S | 16S M24X1.5 24 400
- : M30X2 30 400
a4 | DRGWRG0220S | 205 |, o 62 71 FH602 25.00x3.53
BR-GWF602-25S | 25S M36X2 36 400
BR-GWF602-30S | 30S M42x2 46 400
BR-GWF603-25S | 25S M36X2 36 400
" 478 74 85 FH603 32.92x3.53
BR-GWF603-30S | 30S M42X2 46 400
BR-GWF604-30S | 30S M42X2 46 315
11/4" 54.2 96 107 FHB04 37.70x3.53
BR-GWF604-38S | 38S M52X2 55 315
11/2" | BR-GWF605-38S | 38S | 637 | M52x2 114 12 | 55 FH605 47.22x3.53 315

1. {XiT#:k 1A Brazed adapter only: BR-GWF302-18L-CFX

2. Pk AR S . ARIIEM KOKE, IJ54% M: BR-GWF302-18LM-CFX (Fit % il #8k:: BR-GWF302-18LU-CFX)

Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U
3. B ATLEZ . ARIIREE RO, FIRTEC-RELIBIE, HIE% KM: BR-GWF302-18LMKM-CFX
Adapter with flanges, bolts, O-ring, cutting ring and nut: with additional suffix KM

26

T8 Ui Specification:
1. {0iT#k4k Brazed adapter only: BR-GWF302-JIC7/8-CFX
2. B AATE S . AR KO, NS4 M: BR-GWF302-JIC7/8M-CFX (FE st #ilig#t: BR-GWF302-JIC7/8U-CFX)

Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U




2K
i @%\
S\
sl ¥ §L | | f N o o
I N )
o
1N
H E
G E
AFM ## (Material)
1. [%4NQ345B, carbon steel Q3458
KRB Blank oiled AFNpdx
RIECr+3E %% Cr+3 white zinked:AFM*¥*-CFX
RiEFHEE 4 Ni-Zn zinked [AFM#HEZN
. . 2. R840 AISI 321/304 [AFM*k-X
Series - 3000psi 771 35 AlSI 316L AFM#REXX
R USE =3 dimension B A I wm (B K
Sieo %,E iz bolt o w |
(inch) 2D1 C D E FI|G|H| K M m U o-ring (kg) (kglem?)
AFM301-128 128 M20x1.5 345
12" AFM301-15L 15L [38.10( 54 (17.48 (46 (47 |16 | 9 | M22x1.5 | M8x30 |5/16x1 1/4| 18.66x3.53 | 0.28 315
AFM301-16S 16S M24x1.5 345
AFM302-16S 16S M24x1.5 345
AFM302-18L 18L M26x1.5 160
3/4" 47.63|65 (2223|150 |52 |18 | 11 M10x35 | 3/8x11/2 | 25.00x3.53 [ 0.43
AFM302-20S 208 M30x2 345
AFM302-22L 221 M30x2 160
AFM303-20S 208 M30x2 315
1" AFM303-25S 258 ([52.37|70|26.19|55(60 (18| 11 M36x2 M10x35 | 3/8x11/2 | 32.92x3.53 | 0.57 315
AFM303-28L 28L M36x2 160
AFM304-25S 258 M36x2 250
11/4" | AFM304-30S 30S ([58.72|79|30.18|68 | 60 [ 21 |11.5( M42x2 M10x40 |7/16x1 1/2| 37.70x3.53 | 0.81 250
AFM304-35L 35L M45x2 160
AFM305-35L 35L M45x2 160
11/2" | AFM305-38S 38S [69.85|93 [35.71|78 (70|25 (13.5| M52x2 | M12x45 | 1/2x1 3/4 | 47.22x3.53 | 1.30 200
AFM305-42L 421 M52x2 160
AFM306-38S 38S M52x2 200
2" 77.77|102(42.88| 90 | 72 | 25 (135 M12x45 | 1/2x1 3/4 | 56.75x3.53 | 1.60
AFM306-42L 42L M52x2 160

T8 Specification:

1. {3724 Flange only: AFM301-12S, AFM301-12S-X

2. VR EL A KRR K OTKME, N5 4% M: AFM301-12SM, AFM301-12SM-X (Bt 411424 . AFM301-12SU)

Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

3 LT AR ROTE M, [N RIRIE, /540 KM: AFM301-12SMKM
Flange with bolts, O-ring, cutting ring and nut: with additional suffix KM

28

1 ). .
= J_ \{J/
e
1N
H E
G F
AFM ##} (Material)
1. 14X Q345B, carbon steel Q345B
K45 Blank oiled AAFMsrk
KHECr+3[ 4 Cr+3 white zinked:AFM***-CFX
KEHHE4 Ni-Zn zinked [AFM#REZN
: : 2. K554 AISI 321/304 [AFMFk-X
Series - 6000psi F &% 3 REE40 AISI 316L SAFM#*HXX
'R e R+&% dimension T W B %1’?5&%
Size Wt MA
i Type it bolt OE MAX.W.P
(inch) P @b1 | C |D| E |F|[G|H|K M v m oing (kg) | kglem?)
AFMB01-12S | 125 M20x1.5 400
1/2" | AFM601-15L | 15L |40.4956 |18.24 |48 |47 [16| 9 | M22x1.5 | M8x30 |5/16x11/4| 18.66x3.53 | 0.30 | 160
AFMB01-16S | 16S M24x1.5 400
AFM602-16S | 16S M24x1.5 400
3/4" | AFM602-20S | 20S 55|52 |18 M30x2 050 | 400
50.80| 71 |23.80 1 M10x35 | 3/8x1 1/2 | 25.00x3.53
AFMB02-22L | 22L M30x2 160
AFMB02-25S | 25S 60|73 |19 M36x2 0.70 | 400
AFM603-20S | 20S M30x2 400
1" | AFM603-25S | 25S 65 | 60 | 21 M36x2 0.80 | 400
57.15| 81 |27.76 13 M12x45 |7/16x1 3/4| 32.92x3.53
AFM603-28L | 28L M36x2 160
AFM603-30S | 30S 70| 82 | 24 M42x2 1.10 | 400
AFMB04-25571 255 M36x2 400
AFM604-30; AED 68|24 | 154 M42x2 120 | 400
14" R Evis0a-55 66.68 | 95 [31.75| 78 M14x50 | 1/2x1 3/4 | 37.70x3.53
7l 356 13.5| Md45x2 160
AFMB04-38571 385 92|27 M52x2 150 | 400
AFMB05-35L | 35L M45x2 160
AFM605-38S | 38S 112 94| 72|27 M52x2 1.90 | 315
172" 79.38 36.50 17 M16x55 | 5/8x2 | 47.22x3.53
AFMB05-42L | 42L M52x2 160
AFMB05-38S-2| 38S 13 95| 96 | 30 M52x2 230 | 315

iT#R B Specification:
1. fUiT¥:2% Flange only: AFM601-12S, AFM601-12S-X

2. P2A A KRR R OTL I, JIJE % M: AFMB01-12SM, AFM601-12SM-X (F 351148 #2:  AFMB01-12SU)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U
3EZA KRR ROE, FNEFELEE, FijE% KM: AFM601-12SMKM
Flange with bolts, O-ring, cutting ring and nut: with additional suffix KM

29



~ I i H l
3 N A
= % D+ HP
=
(Tl
5= @\ GY/7iN
| —— | é NP4\
o || ==
H o]
L1 D
¥ (Material)
AFMW 1. B#%4XQ345B, carbon steel Q345B
KR4 Blank oiled AAFMWskok
KM Cr+3[94% Cr+3 white zinked:AFMW3¥+-CFX
KA S Ni-Zn zinked AFMWs#kx-ZN
. . 25540 AISI 321/304 AFMWH%X
Series - 3000psi ¥ #7 3454 AISI 316L AFMWH:HXX
'R o &% dimension FCH B wm (B KX
: it} TAEET]
(.Sr:ﬁ\) Tvnz 2D1 clol E |H|k|u|L2 M BB bolt OIE Wt [MAX.W.P|
M u o-ring (kg) ( kg/cmz)
AFMW301-12S| 128 M20x1.5 345
1/2" |AFMW301-15L| 15L |38.10|54 |17.48|16 | 9 |20 |37 [ M22x1.5 | M8x30 |5/16x11/4|18.66x3.53 | 0.30 | 315
AFMW301-16S| 16S M24x1.5 345
AFMW302-16S| 16S M24x1.5 345
AFMW302-18L| 18L M26x1.5 160
3/4" 47.63| 65 [22.23| 18 | 11| 24 | 39 M10x35 | 3/8x11/2 | 25.00x3.53 | 0.50
AFMW302-20S| 208 M30x2 345
AFMW302-22L [ 221 M30x2 160
AFMW303-20S| 20S M30x2 315
1" |AFMW303-25S| 255 |52.37|70(26.19|19 | 11|28 |44 | M36x2 | M10x35 | 3/8x11/2 | 32.92x3.53 | 0.70 | 315
AFMW303-28L | 28L M36x2 160
AFMW304-25S| 258 M36x2 250
11/4" |AFMW304-30S| 30S |58.72| 79 |30.18| 21 [11.5) 34 | 52| M42x2 | M10x40 |7/16x11/2| 37.70x3.53 | 1.00 | 250
AFMW304-35L |  35L M45x2 160
AFMW305-35L |  35L M45x2 160
11/2" |AFMW305-38S| 38S |69.85| 93 |35.71| 25 [13.5) 38 | 57 | M52x2 | M12x45 | 1/2x13/4 | 47.22x3.53 | 1.50 | 200
AFMW305-42L |  42L M52x2 160
AFMW306-38S| 38S 200
2" 77.77(102(42.88| 25 [13.5| 42 | 65 | M52x2 | M12x45 | 1/2x13/4 | 56.75x3.53 | 2.00
AFMW306-42L |  42L 160

24°
#D1
= =
( S AN >
— Sr 1+ 1D
Z ,\/ y B
AR\ R /7a2
2 A\
\
oK |
H C
L1 D
%L (Material)
AFMW 1. B#4XQ345B, carbon steel Q345B
FKIEWRB4H Blank oiled [AFMWskk
K Cr+3[94% Cr+3 white zinked:AFMW#¥k-CFX
KEERA4 Ni-Zn zinked [AFMWHkk.ZN
. . 2 RG54 AlSI 321/304 AFMWsk.X
Series - 6000psi # 571 34 AISI 3161 AFMWAHHEXX
R N Rt&% dimension A B sy (B, X
Size T BH% bol o W (AP
(inch) ep1| ¢ |[D| E |H|K|L1|L2| ™ m o g (ka) | kgrom?)
AFMW601-12S | 12S 37 | M20x1.5 400
12 | AFMWe01-15L | 15L |40.49| 56 |18.24| 16 | 9 | 20 M22x1.5 | M8x30 |5/16x11/4|18.66x3.53 | 0.35 | 160
38
AFMWE01-16S | 165 M24x1.5 400
AFMWE02-16S | 165 M24x1.5 400
314" | AFMW602-20S | 208 |50.80| 71|23.80| 19| 11|28 | 43 | M30x2 | M10x35 | 3/8x11/2 | 25.00x3.53 | 0.65 | 400
AFMW602-22L | 221 M30x2 160
AFMW603-20S | 208 M30x2 400
1" | AFMWe03-255 | 255 |57.15|79 [27.76| 21 |13 [ 34 [ 51| M36x2 | M12x40 |7/16x13/4| 32.92x353 | 0.90 | 400
AFMW603-28L | 28L M36x2 160
ATMG0+25 271558 M36x2 400
AFMWGE04-305 1 305 154, |56 | max2 400
14" | 66.68| 93 |31.75| 25 38 M14x45 | 1/2x13/4 | 37.70x3.53 | 1.40
A 135 M45x2 160
AFMWE04-3837] 385 61| M52x2 400
AFMW605-35L | 35L M45x2 160
11/2" | AFMW605-38S | 38S [79.38(110|36.50| 25 | 17 | 42| 65| M52x2 | M16x50 | 58x2 |47.22x353 | 220 | 315
AFMW605-42L | 42L M52x2 160
AFMW606-38S | 388 315
2 96.82(134|44.45| 33 | 21| 45| 75| M52x2 | M20x65 | 3/4x2 12 | 56.75x3.53 | 3.30
AFMW606-42L | 42L 160

iT#RiiBH Specification:

1. fiT¥:2% Flange only: AFMW301-12S, AFMW301-12S-X

2. AR A KR KO, hiJE 4 M: AFMW301-12SM, AFMW301-12SM-X (it 5 ##8#2:  AFMW301-12SU)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

3 AT ROTERE, FINALRERKIRIE, FNJE4 KM: AFMW301-12SMKM
Flange with bolts, O-ring, cutting ring and nut: with additional suffix KM

30

iT#R 1B Specification:

1. {iI¥:2% Flange only: AFMW601-12S, AFMW601-12S-X
2. LA IURRE KOTEIE, N5 4% M: AFMW601-12SM, AFMW601-12SM-X (i 3% i 4 :  AFMW8601-12SU)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

3 LA TR RO, RN AR RZIRME, NS4 KM: AFMW601-12SMKM
Flange with bolts, O-ring, cutting ring and nut: with additional suffix KM

31



oK
] A i A\
VI Y
N\ D
V.
l<H.| E
(¢} F
AFJ 1k (Material)
1. ##4XQ345B, carbon steel Q345B
FKIE B Blank oiled AR Jokok
KIECr+3[1%% Cr+3 white zinked:AFJ¥¥+-CFX
KIMBRA S Ni-Zn zinked (AF JrrkZN
2540 AISI 321/304 (AR J¥rkX
3854 AISI 316L [AFJ¥rk-XX
; i i { oK
%iz% W B Rt&% dimension ﬁ*%blf)%ﬁl!ﬁﬁ - %‘% %&E‘,Eng,
| Type ol of LW
{Inch) yp a ‘ ¢ ‘ 2 ‘ E ‘ F ¢ | it ‘ g M U o-ring (kg) ( kg/cm?)
% %% 3000 psi
3
12" ARJS0TA %-16UN 38.10 | 54 | 17.48 | 46 | 47 | 13 9 M8x30 |5/16x1 1/4| 18.66x3.53 | 0.23 315
AFJ301B | %"-14UN
AFJ302A 7"-14UN
3/ AFJ302B 120N 4763 | 65 | 2223 | 50 | 52 | 14 |11.5| M10x35 | 3/8x1 1/2 | 25.00x3.53 | 0.33 160
R AFJ303A | 1/"-12UN
1 AFJ3038 T15120N 5237 | 70 | 2619 | 55 | 60 | 16 [11.5| M10x35 | 3/8x1 1/2 | 32.92x3.53 | 0.47 160
AFJ304A  [1%g"-12UN
11/4"
1 AFJ304B 15" 120N 5872 79 | 30.18| 68 | 60 | 14 |11.5| M10x35 |7/16x1 1/2| 37.70x3.53 | 0.62 160
. AFJ305A [ 1%"-12UN
11/2 AF13058 [ 1/4m-120N 69.85| 93 | 3571| 78 | 70 | 16 [13.5| M12x35 | 1/2x13/4 | 47.22x3.53 | 0.94 160
2" AFJ306A 1%"-12UN | 77.77 | 102 | 42.88 | 90 | 72 | 25 [13.5| M12x45 | 1/2x13/4 | 56.75x3.53 | 1.50 160
HRY] 6000 psi
. AFJ601A | %"-16UN
1/2
AFJ601B 7%"14UN 4049 | 56 | 18.24 | 48 | 47 | 16 9 M8x30 |5/16x1 1/4| 18.66x3.53 | 0.28 400
R AFJB602A [ %"-14UN
3/4 AFJ602B 120N 5080 | 71 |23.80| 55 | 52 | 18 [11.5| M10x35 | 3/8x11/2 | 25.00x3.53 | 0.48 400
o AFJ603A 1%6"-12UN
1 AR 16035 15 120N 5715| 81 [27.76 | 65 | 60 | 21 | 13 | M12x45 |7/16x13/4| 32.92x3.53 | 0.73 | 400
AFJ604A/(12)[1%e"-12UN 15
11/4" i i : . 2
AFJ604B/(_12) 15" 12UN 66.68 | 95 | 31.75| 78 | 68 | 24 4 M14x50 | 1/2x13/4 | 37.70x3.53 | 1.11 400
" AFJB05A 1%"-12UN
11/ AFJ505B T14712UN 79.38 [ 112 (3650 | 94 | 72 | 27 | 17 | M16x55 | 5/8x2 | 47.22x3.53 | 1.75 315

iT# Ui Specification:
1. {¢iT¥:2% Flange only: AFJ301A, AFJ301A-X
2. PEFL A HIIEAR KO, INJE4% M: AFJ301AM, AFJ301AM-X (it 36 Hig4e: AFJ301AU)

Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

32

5
>
T
Vv 9 T ¥
/d fan) fan)
% %
q uf
G E A
! N
ok L] | =
H o]
L1 D
¥ (Material)
1. 49Q345B, carbon steel Q345B
AFJW K RF45 Blank oiled [AFJWikskk
RiMCr+3[94% Cr+3 white zinked:AFJW#kx-CFX
KA Ni-Zn zinked AFJWHskZN
2G40 AISI 321/304 AF JWikk_X
3 R4 AISI 316L SAF JWkXX
- — " ®_K
%i;g M e R+5% dimension - bEL;:ﬁMﬂﬁF — %\% %&%ﬂ,
i Type ol (e}, W.
(inch) v A | B ‘ c ‘ D | E ‘ H ‘ 1| K ‘u ‘ L2 m oring (k9) |(kglom?)
% %% 3000 psi
. | AFJW301A [3"-16UNF
1/ AFIW301B | J5taun ] 13 [3810] 54 |17:48| 16 | 19 | 8 | 20 | 37 | MBx30 |5/16x1 1/4| 18.66x3.53 | 0.30 | 350
3/4" | AFJW302A | %"-14UN | 19 |47.63| 65 |22.23| 18 | 19 | 11 | 24 | 39 [M10x35| 3/8x1 1/2 | 25.00x3.53 | 0.45 | 350
1" | AFJW303A |1%¢"12UN| 25 |52.37| 70 |26.19| 19 | 22 | 11 | 28 | 44 [M10x35| 3/8x1 1/2 [ 32.92x3.53 | 0.65 | 315
. | AFJW304A [1%¢"-12UN
M TWa0aB TropzuN | 2 [5872| 79 [30.18] 21| 24 |115) 34 | 52 |M10x40|7/16x1 1/2] 37.70x3.53 | 1.00 | 250
11/2" | AFJW305A |1%"-12UN | 38 |69.85| 93 |35.71| 25 | 25 [13.5| 38 | 57 |M12x45| 1/2x1 3/4 | 47.22x3.53 | 1.50 | 210
2" | AFJW306A |1%"-12UN| 51 |77.77|102 42.88| 25 | 28 [13.5( 42 | 65 |M12x45| 1/2x1 3/4 | 56.75x3.53 | 2.00 | 210
HEZR%| 6000 psi
. | AFJW601A [3,"-16UNF
V2 e TWe01s | riaun ] 13 [1049| 56 [1824| 16 | 19 | 9 | 20 | 38 | MBX30 |5/16x1 14| 18.66x353 | 0.30 | 400
AFJW602A | %"-14UN 19
3/4" . g — .00x3. i
/. AFOW6028 [TAr-r2uN] 10 [50:80| 71 [2380] 19 |7 11| 28 | 43 |M10x35| /6x1 1/2 | 25.00x353 | 0.60 | 400
. | AFJWE03A [1%6-12UN
1 AFOW6035 [15rzun| 25 [5715] 7 [27.76( 21| 23 | 13 | 34 | 51 |M12x40 7/16x1 3/4| 32.92x353 | 0.90 | 400
AFIWE04A( ", [1%"12UN 15
11/4" A2 76 32 |66.68 93 [31.75| 25 | 24 38 | 56 [M14x45| 1/2x1 3/4 | 37.70x3.53 | 1.30 | 400
AFJWG04B(, [154"-12UN 4 x h
. | AFJwe05A [1%™12UN
M2 e e0sE Taiaun | 38 [79-38] 110(36.50| 25 | 28 | 17 | 42 | 65 |M16x50| S/x2 | 47.22x3.53 | 200 | 400
2" | AFJWE06A |174"-12UN| 51 (96.82( 134 [44.45 33 | 28 | 21 | 45 | 75 |[M20x65| 3/4x2 1/2 | 56.75x3.53 | 3.30 | 400

iTH Ui Specification:
1. 4iT#:2% Flange only: AFJW301A, AFJW301A-X
2. VR LA HIEAR R OTL I, N5 %% M: AFJW301AM, AFJW301AM-X (it S filigi#e: AFJW301AU)

Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

33



oK
N @%\
G/ Z4
d R\
U ' N
NG N/
G4
SN
H E
[¢] F
¥ (Material)
1. %41Q345B, carbon steel Q3458
FKIEHPE5H Blank oiled ARGk
AFG HKIECr+3[# Cr+3 white zinked:AFG*¥+*-CFX
KEEHE 4 Ni-Zn zinked [AFGH*%.ZN
21440 AISI 321/304 AFGH*x-X
3R AISI 316L :AFG*F¥-XX
s i i Bo_K
%lizipeg w5 Rt5% dimension - bﬁﬂlﬁillﬁ# iw% J&E‘Njé
i Type 3 olt [e}iA4::]] LW
inh} * 8 | N ‘ 2 ‘ E ‘ £ ‘ £ i | K M U o-ring (kg) ( kgicm?)
% %% 3000 psi
. | _AFG301-G3/8 | G3/s" 37
12 | —rrGaoioia | ouz ] 3810 | 54 | 1748 | 46 o 16 | 9 | MBx30 |5M6x11/4| 18.66x353 | 030 | 350
. |_AFG302-G112_ | G1/2" 2
3/ AFG302.Gal | Gaiar| 4763 | 65 2223 | 50 [ 18 | 11 | M10X35 | 3/8x11/2|25.00x3.53 | 040 | 350
AFG303-G3/4 | G3/4" 47
" |47 | 3/8x1 1/2 | 32.92x3. E
1 T S| 5237 | 70 [ 2619 | 55 [ 18 | 11 | M10x35 | 3/8x11/2 | 3292x353 | 050 | 315
AFG304-G1 G1"
11/4" 72| 7 1 21 | 115 | M10x40 |7/16x1 1/2| 37.70x3.53 | 0.80 | 250
/. Arasvacyi | omr ] % 9 |30.18 | 68 | 53 5 x: X
AFG305-G1% | 614" 59
172" g 71| 78 | = 24 | 135 | M12xd5 | 1/2x13/4 | 47.22x353 | 1.20 | 200
2 " aFeasery | oy || B | 8 et 35 x x
2" | AFG306-G1% | G1J4" | 77.77 | 102 | 42.88 | 90 | 69 | 25 | 13.5 | M12x45 | 1/2x13/4 | 56.75x3.53 | 2.00 | 200
EZR%| 6000 psi
. | AFGe01-G3/s | G3rs" 38
12 st ol | Giz] 4049 | 56 | 1824 | 48 |- 16 | 9 | MBx30 |5/16x11/4| 18.66x353 | 030 | 400
. | _AFGe02-G12 | G112 44
3/ AFG602.Ga/a | Gajar| 50-80 | 71 | 2380 | 85 [—-— 18 | 11 | M10x35 | 3/8x11/2|25.00x3.53 | 050 | 400
. | _AFG603-G3/4 | G3/4" 54
1 AFGE03.G1 G| 5715 | 81 | 27.76 | 65 [ 21 | 13 | M12x45 |7/16x13/4| 3292x3.53 | 080 | 400
AFG604-G1/(42) G1" 15
J g g 61 M14x50 | 1/2x13/4 | 37.70x3.53 | 1.20 | 400
11/4 AFGB04G il 1] O 66.68 | 95 |31.75| 78 24 /@ X X X
AFG605-G1%4 | G14" 65
172" g : = M16x55 | 5/8x2 | 47.22x3.53 | 1.90 | 400
I AFGe0sGls | ot ] 7938 | 112 |3650 | 84 o 27 | 17 X! X

iT1 8 Specification:

1.{¢iT¥:=% Flange only: AFG301-G3/8, AFG301-G3/8-X

2. M ARIEF KO B, 1154 M: AFG301-G3/8M, AFG301-G3/8M-X (B iligitt: AFG301-G3/8U)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

D) D
N N
g‘ ud
N = >
H é NS
2K [~
H c
u D
## (Material)
1. 1%#4XQ345B, carbon steel Q3458
FTEREN Blank oiled AFGWHH
AFGW RHCr+3[% Cr+3 white zinked: AFGW*¥*-CFX
K4S 4 Ni-Zn zinked [AFGWkkk-ZN
25654 AISI 321/304 AFGWHkEX
3R AISI 316L AFGWHHXX
+5 imensi . B
%_*g " Rt2% dimension BRI M %\% Bl
(ineh) Type Ale|c|o|E|H]|1|K]|u]|Le b O MAXW P
M 1] o-ring (kg) | kg/cm?)
®%#%| 3000 psi
1o | AFGWS01-GY/8 |GS/8"| 45 |39 14| 54 [17.48| 16 | 17 | o | 20 | 37 | Mex30 |s116x1 1/4] 18.66x3.53 | 0.30 | 350
AFGW301-G12_|G1/2"
| AFGws02-G12_|G112"
e ]| 19 |47.63) 65 (2223 18 | 17 | 11| 24 | 39 |M10x35| 3/8x1 112 | 25.00x353 | 0.40 | 350
| AFGw303-G3/4_|Ga/”
1 e orr] 25 [5237| 70 [26.19] 19 | 19 | 11| 28 | 44 |M10x35| 3/ext 12 | 3202x353 | 0.60 | 315
1140 | AFCWSOAGT | GV | 45 |5g 75| 79 [30.18| 21 | 22 |11.5] 34 | 52 |M10x40|7116x1 172| 37.70x353 | 0.90 | 250
AFGW304-G1;_| G14"
110 | AEGW305-G1Y, 1G14"| ¢ |6q g5l o3 |a571] 25 | 25 |13.5| 38 | 57 |M12xd5| 112x1 314 | 47.22x3.53 | 140 | 200
AFGW305-G1) | G1%"
. | AFGW306-G1% |G1%"
2 TOWA06- 01k (O 51 (77.77| 102 [42.88| 25 | 26 (135 42 | 65 |M12¢d5| 1/2x1 314 | 56.75x3.53 | 200 | 200
EAJ%] 6000 psi
1y | AFGWE01-GY/8 |GS/8"| 45 |45 49| 56 [18.24| 16 | 18 | o | 20 | 38 | Mex30 |5r16x1 1/4] 18.66x3.53 | 0.30 | 400
AFGW601-G12_|G1/2"
| AFGWe02-G112_|G112"
3 (e eoe e Taaar] 19 [50:80 71 [23.80| 19 | 19 | 11| 28 | 43 [M10x35| 3/8x1 112 | 25.00x3.53 | 0.50 | 400
| AFGWe03-G3/4_|Ga/4”
1 s ori 25 [57.15| 79 (2776 21 | 23 | 13 | 34 | 51 |M12xdo|7/16x1 3/4| 3292x353 | 0.80 | 400
. | AFGW604-G1,/, [ G1" 15
14" eremear el o] 2 559 % [2179] 25 | 23 L ios] 38 | 56 |M14xd5| 1201 34 | 37.70353 | 120 | 400
1112w | AFGWE05-G1)h |GVL" | 44 |79 35/ 110 |36.50| 25 | 28 | 17 | 42 | 65 |M16x50| 5i8x2 | 47.22x353 | 180 | 400
AFGWE05-G1%5_| G14"
. |_AFGWe0s-G1% | G1%"
2 FOWG06. 01 (O] 51 (9682|134 [44.45| 33 | 27 | 21 | 45 | 75 |M20x65| 34x2 112 | 56.75x353 | 330 | 400

iTHUiH Specification:
1. fUiT#:2% Flange only: AFGW301-G3/8, AFGW301-G3/8-X
2. VR LA HIEAR SLOTE B, NG %% M: AFGW301-G3/8M, AFGW301-G3/8M-X (it % il i##2: AFGW301-G3/8U)

Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



Lz, /
H
[¢]
8 (Material)
1. B%49Q345B, carbon steel Q3458
K #RF#5H Blank oiled :AFOR¥#*
AFOR HKHCr+3H4E Cr+3 white zinked:AFOR*¥*-CFX
KRS 4 Ni-Zn zinked :AFOR***.ZN
24 AISI 321/304 AFOR¥¥%-X
3G AISI 316L AFOR*¥¥-XX
N T " Bk
ﬂSiz% " Rers¥ dimension — Eﬂﬁiﬂﬁﬁo%51 . %\% “}A{,;%Vj%
. Type 0l A VYL
{inch) A | ¢ | o ’ E ’ F ‘ G H ‘ K T’T{ o-ring ‘ o-ring (kg) (kg/cm2)
%% 3000 psi
AFOR301A | "4¢"-16UN 37 9.25x1.78
1/2" | AFOR301B | "¥%g"-16UN [38.10| 54 |17.48| 46 [ 39 | 16 | 9 | M8x30 |5/16x1 1/4[12.42x1.78| 18.66x3.53 | 0.30 | 350
AFOR301C | 1"-14UNS 42 15.6x1.78
. | _AFOR302A [ 1"-14UNS | 45 15.6x1.78
3/ AFOR3025 |19 120N 47.63| 65 (2223 50 7= 18 | 11 M10x35| 3/8x1 1/2 [zo=rimd 25.00x3.53 | 0.40 | 350
AFOR303A | 1%g"12UN 18.77x1.78
1 AFOR3038 | 17"12UN 52.37| 70 [26.19] 55 | 49 | 18 | 11 [M10x35| 3/6x1 1/2 o 2] 32.92x3.63 | 0.50 | 315
AFOR304A | 1%¢™12UN 23.52x1.78
" : i 53 : 2 .70x3. i
11/ AFOR3045 120N 58.72| 79 |30.18| 68 21 |11.5|M10x40|716x1 1/22o2= 2= 37.70x3.53 | 0.80 | 250
AFOR305A [1"4¢"12UN] 29.87x1.78
g 69. : 61 i 122x3. .
112" o R3058 | 2"-120N 85| 93 35.71| 78 24 |13.5|M12x45| 1/2x1 314 |=="0 o] 47.22x3.53 | 1.20 | 200
AFOR306A |1'%6"-12UN 29.87x1.78
4 8 : 72 ; . 75x3. ;
75 AFOR3068 | 2-120n 1777|102 [42:88| 90 25 |13.5|M12x45| 1/2x1 314 |=="0 2] 56.75x3.53 | 2.00 | 200
HERY] 6000 psi
AFOR601A | "%¢"-16UN 38 9.25x1.78
1/2" | AFORG601B | "%g"-16UN [40.49| 56 |18.24| 48 [ 40 | 16 | 9 | M8x30 |5/16x1 1/4[12.42x1.78| 18.66x3.53 | 0.30 | 400
AFOR601C | 1"-14UNS 43 15.6x1.78
. | AFOR602A | 1"-14UNS |_ 47 15.6x1.78
3/ AFOR6025 | T97a12uN |20-80| 71 2380 55 [ 18 | 11 |M10x35| 3/8x1 1/2 |7o=rmmr] 26.00x353 | 0.50 | 400
. | _AFOR603A [13%g™12UN [, . 18.77x1.78
1 AFOR6035 | 1412UN 57.15| 81 |27.76| 65 | 56 | 21 | 13 M12x45|7/16x1 /47— 32.92x3.53 | 0.80 | 400
. [AFORB04A/", [176™12UN | __ 15 23.52x1.78
11/4 AFORB0AB 1, | Tis™12UN 66.68| 95 31.75| 78 | 61 | 24 4 M14x50| 1/2x1 3/4 2o mmed 37.70x3.53 | 120 | 400
.| AFOR605A [1'%6"-12UN 65 29.87x1.78
12 o reoas | 21aun |79:38| 112(36.50| 84 =y 27 | 17 |M1BxS5| 5/8x2 ==t oy 47.22x3.53 | 1.80 | 400

iT#ULH Specification:

1. {XiT#: Flange only: AFOR301A, AFOR301A-X

2. BT AR KO, N5 4% M: AFOR301AM, AFOR301AM-X (fid %l i##2: AFOR301AU)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

36

— & —
A fan\ fad)
%) %
q o
D
& O ) ®
N
2K [~
H o]
L1 D
# %k (Material)
1. B#4MQ345B, carbon steel Q3458
K #F45u Blank oiled :AFORWskkk
AFORW RMCr+3H4% Cr+3 white zinked:AFORW*#*-CFX
KA S Ni-Zn zinked :AFORW*+*.ZN
2. NE49 AISI 321/304 :AFORWk*-X
3R AISI 316L AFORWHH¥XX
15 imensi ” B X
St T e P ## bolt EER%W’:W& o M2 %"% AW P
. Type 0l % A LW
(inch) A ‘B| c |D’ E ’H 1| K ‘L1‘L2 i T oring ’ ong. | (9| kglom?)
% &% 3000 psi
AFORW301A | %¢"-16UN 9.25x1.78
1/2* | AFORW301B | %e-16UN|13(38.10| 54 [17.48[16|19| 9 [20|37| M8x30 [5/16x1 1/4[12.42x1.78 |18.66x3.53|0.30| 350
AFORW301C_ | 1"-14UNS 15.6x1.78
. |__AFORW302A [ 1™-14UNS 15.6x1.78
3/ AFORW3025 | g-12un] 19 [47:63] 65 [22.23( 18|17 | 11 | 24|39 |M10x35 | 3/8x1 112 [ 2=r26.00x3.63 | 0.50 | - 350
. |_AFORW303A [1%6"-12UN 18.77x1.78
1 AFORW3038 TT7212un| 25[52:37| 70 26.19]19 19| 11 | 28|44 | M10x35 | 3/8x1 112 |70 32.92x3.63| 070 | 315
| AFORW304A [17%¢™-12UN 2352x1.78
M e RWaods Ti7i2un]| 2 (5872 79 [3018] 2122 (11,5 | 34 52| M10x40 |7/16x1 12150222 37.70x3.63| 1.00 | 250
.|__AFORW305A [17%4g™12UN| 29.87x1.78
2 e waoes T 2 q2un | 38 [69-85| 93 [35.71/ 25| 25|13.5| 38| 57 | M12x45 | 1/2x1 314 | =0 247 20x3.63| 1.50 | 200
2" | AFORW306A | 2™-12UN | 51|77.77|102[42.88| 25| 26 [13.5| 42| 65 | M12x45 | 1/2x1 3/4 | 37.82x1.78 |56.75x3.53| 2.00| 200
EAR%| 6000 psi
AFORWB01A [ %"-16UN 9.25x1.78
1/2 | AFORWB01B | '%e-16UN| 13 |40.49| 56 [18.2416|18| 9 [20|38| M8x30 [5/16x1 1/4[12.42x1.78 |18.66x3.53|0.30| 400
AFORW601C | 1"-14UNS 15.6x1.78
. |_AFORWeB02A [1"-14UNS 15.6x1.78
34" [ AFoRWe0z8 [9g-12un| 19 [P0-80| 71(23:80[ 19| 19| 11 |28 43| M10x35 | 3/8x1 112 |72 26.00x3.63/ 070 | - 400
| _AFORWE03A _[136™-12UN _ 11877x1.78
1 AFORWe035 | 7m12un] 25 [57-15] 79 [27.76| 21| 23| 13 |34| 51 M12x40 | 7116x1 342 132.02x3.63|1.00 | 400
AFORW604A( ;5 [175"-12UN 15 23.52x1.78
» 2 (66. 1.75| 25| 2 M14 70x3.53 1.
11/4 AFORWBOAB, 1. [T, 12UN 32(66.68| 93 [31.75|25 3438 56| M14x45 | 1/2¢1 314 |20 20 137.70x3.53( 1.40 | 400
AFORWB05A _[1745™12UN 29.87x1.78
2 e eoss | 220N | 38 [79-38)110[36.50| 25| 28| 17 | 42|65 | M16x50| 6i8x2 [z to47.22x3563| 210 | 400
2" | AFORWB0BA | 2™-12UN | 51]96.82[134[44.45[33]27] 21 [45]75[M20x65 | 3/4x2 1/2]37.82x1.78]56.75x3.53 3.30| 400

iT# Ui Specification:
1. {{iT#: Flange only: AFORW301A, AFORW301A-X
2. LA KRR KO B, fNJE 4 M: AFORW301AM, AFORW301AM-X (Bt 3 il i2k:: AFORW301AU)

Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U




—M —M

N
e
d
N
e
.

B
B

= ) ) ]
- _ ~ 5 — ~
A : @D D / [ (70 D)
~ A\ r\ A ~ A r\ A
(1] (]
JARY \J D JanY \J D
q \// g \J/
L oK | " L oK | — 1
H c H c
L1 D K] D
1 (Material) 1 (Material)
AGM 1. H%4XQ345B, carbon steel Q345B AGM 1. 7%4XQ345B, carbon steel Q345B
KRB Blank oiled AGMbx KRPHM Blank oiled AGMwbx
XMCr+3E% Cr+3 white zinked:AGM*¥*-CFX KMCr+3A% Cr+3 white zinked:AGM*¥*-CFX
KEHEE4E Ni-Zn zinked AGM*xx-ZN KEHEE4E Ni-Zn zinked AGM*#%-ZN
. ) 2 RG541 AISI 321/304 AGMHE-X ) . 254540 AISI 321/304 AGM#R-X
Series - 3000psi 4 %51 36540 AISI 316L SAGM#R-XX Series - 6000psi & R4 3NGER AISI 316L AGM#FREXX
M ) R4 dimension wE (B, K PR ’ R~t&¥%  dimension pg B, K
ST S T T S
(inch) yp D1 C D E H K L1 L2 M (kg) (kglom?) (inch) yp D1 (o} D E H K L1 L2 M (kg) (kglom?)
AGM301-12S | 128 M20x1.5 345 AGM601-12S | 128 M20x1.5 400
112" | AGM301-15L | 15L | 38.10 56 17.48 20 9 32 50 |M22x15| 07 | 315 112" | AGM601-15L | 15L | 4049 | 56 18.24 20 9 32 50 | M22x15| 07 | 160
AGM301-16S | 165 M24x1.5 345 AGMB01-16S | 165 M24x1.5 400
AGM302-16S | 165 M24x1.5 345 AGMB02-16S | 165 M24x1.5 400
AGM302-18L | 18L M26x1.5 160 3/4" | AGM602-20 | 208 | 50.80 71 23.80 24 11 39 60 | M30x2 | 1.0 | 400
34 47.63 71 2223 | 24 11 39 60 1.0
AGM302-20S | 208 M30x2 345 AGMB02-22L | 22 M30x2 160
AGM302-22L | 221 M30x2 160 AGMB03-20S | 20S M30x2 400
AGM303-20S | 208 M30x2 315 1" | AGM603-258 | 258 | 57.15 81 2776 | 28 13 46 70 | m3ex2 | 14 | 400
1" | AGM303-255 | 255 | 5237 81 2619 | 28 11 46 70 | m3ex2 | 14 | 315 AGMB03-28L | 28L M36x2 160
AGM303-28L | 28L M36x2 160 A M36x2 400
AGM304-255 | 258 M36x2 250 » e A IES 6665 o 5175 " y o 7 M42x2 400
. - . : 25
11/4" | AGM304-30S | 308 | 58.72 95 30.18 32 115 | 545 75 | Mmax2 | 25 | 250 AGME04-35, 35L 135 M45x2 160
AGM304-35L | 35L M45x2 160 s AIES M52x2 400
AGM305-35L | 35L M45x2 160 AGMB05-35L | 351 M45x2 160
11/2" | AGM305-38S | 385 | 69.85 | 112 | 3571 38 135 64 0 | mMsx2 | 38 | 200 11/2" | AGMB05-38S | 385 | 79.38 | 112 | 3650 38 17 64 0 | mMsx2| 38 | 315
AGM305-42L | 42L M52x2 160 AGMB05-42L | 42L M52x2 160
iT# Ui Specification: iT# Ui Specification:
1. {XiT#2% Flange only: AGM301-12S, AGM301-128-X 1. XiT#2% Flange only: AGM601-12S, AGM601-128-X



a {) .
M
N
|
Jr— ~
/ /& (f\ ad \\
~— o /\ N
L)
JAR\ \J JAR
[i \J)
oK | —
H C
L1 D
#E (Material)
1. 7#4XQ345B, carbon steel Q3458
AGJ RIERPi4EH Blank oiled [AGJHkK
XIECr+3H4E Cr+3 white zinked:AGJ***-CFX
KEHRE 4 Ni-Zn zinked [AGUHRkZN
2 R340 AISI 321/304 AGRREX
3R AISI 316L AGIFF-XX
LR ) IS dimension wE | B, K
Size %’yp’i we |k
(inch) A ‘ Cc D ‘ E ‘ H | K ‘ L1 ‘ L2 (kg) |(kgiem?)
% &% 3000 psi
| AGJ301A  [%"-16UNF
11 B0 | aun] 210 56 17.48 20 9 32 50 07 | 350
AGJ302A | %™-14UN
3/4" g :
Acusoas Ttnrraun] 4798 71 2223 24 1 39 60 1.0 350
AGJ303A | 1e'-12UN
" i 5 .
Acis0ss Toizon] 52 81 26.19 28 11 46 70 14 315
| AGJ304A [1%e"12UN
14— s0as Toezon]| 5872 95 30.18 32 15 545 75 25 | 250
.| AGJ305A  [1%"-12UN
12" e Ts0ss Tgmizon]| 6985 112 3571 38 135 64 90 38 | 210
HR%] 6000 psi
AGJ601A _ |%-16UNF
172" 40.49 56 18.24 20 9 32 50 07 | 400
AGJ601B | %'™-14UN
AGJ602A | %™-14UN
3/4" 50.80 71 23.80 24 11 39 60 1.0 400
AGJ602B_|1%¢"-12UN
AGJB03A | 1e'-12UN
o : . .
AGleoss Tozon| o715 81 27.76 28 13 46 70 14 400
AGIB04A 71, |1%s"-12UN 15
11/4" 123 A6 66.68 95 31.75 32 54.5 75 25 400
AGIB0B, (, [154"-12UN 4
.| AGUe05A  [154-12UN
12— e Teoss Tz 703 112 36.50 38 17 64 90 38 | 400
iT# UM Specification:
1. {XIT¥:% Flange only: AGJ301A, AGJ301A-X

A
60"
i
N { |
S
C Ve - ~
A /& fan /4 \\
’ U f \ U
(1]
JanY \J D
q \J/
o« —
H c
L1 D
% (Material)
1. B%4XQ345B, carbon steel Q345B
AGG KIEHRBi 45 Blank oiled [AGGHH*
KHECr+3H4%E Cr+3 white zinked:AGG***-CFX
K444 Ni-Zn zinked AGGHRkZN
2154 AISI 321/304 AGGHH*-X
3R AlSI 316L AGGH*F-XX
O R+2% dimension pE B Jj(
Size %ﬁ w (A
(inch) A ‘ lo D | E | H ‘ K ‘ L1 | L2 (kg) (kgiem?)
%A% 3000 psi
. | _AGG301-G3/8_| G3/8"
1 Acesores Taiz] 3810 56 17.48 20 9 32 50 07 | 350
. |_AGG302:G12_| Gir2"
3 T e 7 2223 24 11 39 60 1.0 | 350
. | _AGG303-G3/4_| G3/4"
1 TR | 5237 81 26.19 28 11 46 70 14 | 315
1174 | ACC304-G1 St 58.72 9% 30.18 32 115 545 75 25 | 250
AGG304-G1%, | G14"
1172 | AGGI05-G1) | G | g g5 112 3571 38 135 64 90 38 | 210
AGG305-G1% | G14"
HEZR%| 6000 psi
. |_AGG601-Ga/8_| Ga/g"
12 e o 4040 56 18.24 20 9 32 50 07 | 400
. |_Aceeo2-Giz | G112"
e Taaa| 5080 71 23.80 24 11 39 60 1.0 | 400
. AGG603-G3/4_| G3/4"
! AGGe03G1 | o | °1° 81 27.76 28 13 46 70 14 | 400
AGG604-G1/ G1" 15
11/4" $12) 66.68 95 31.75 32 54.5 75 25 400
AGGO04-GT04/ 1| GU&" L5 |
11/2r [ AGGE05-G1Y | I | 79 58 112 36.50 38 17 64 90 38 | 400
AGG605-G1% | G144

iTH UL Specification:
1. fXiT#:% Flange only: AGG301A, AGG301A-X



D
A ©
1T | NG
\
—( ) il
i e DD
DA
ANl /e (7 D) ST
N N r\ A\ oK
(]
JARY \J D .
q N, # ¥ (Material)
: A AFS--G 1. #49Q3458, carbon steel Q3458
ES FKFRP7HH Blank oiled AFS¥G
H c FIHCr+3194% Cr+3 white zinked:AFS*#+G--CFX
L1 D KRS 4 Ni-Zn zinked AFSHRkG--ZN
2 R4 AISI 321/304 AFS#¥+G-X
i ; 3R AISI 316L :AFS#++G--XX
#E (Material)
1.&%@934581 carbon steel Q345B e o e Rt 5% dimension i ItEEﬂiW*I gl;v% %fgg%
KIEHRYiFH Blank oiled :AGOR¥** (isrﬁf]) Type ol O oring| (0 | MAXWEP
AGOR HIECr+3[14% Cr+3 white zinked:AGOR¥**-CFX A [B[c[p[EJFJ[e[H]ITK Mm_ [ u ] k) | (kgiem?)
KA 4 Ni-Zn zinked :AGOR***-ZN % %% 3000 psi
2 K440 AISI 321/304 :AGOR¥**.X :
1/2" | AFS301G | G1/2" | 13 [38.10| 54 |17.48| 46 | 36 | 16 [ 19 | 9 | Mex30 | 5/16x11/4|18.66x353| 0.25 | 350
345 AISI 316L :AGOR¥*£-XX i = i
= — 3/4" | AFS302G |G3/4" | 19 [47.63| 65 |22.23] 50 | 36 | 18 [ 19 | 11 | M10x35 | 3/8x11/2 |25.00x3.53| 0.38 | 350
+2 dimensi

% L JABH dmension pees e T | AFS303G | G1" | 25 |52.37| 70 | 26.19] 55 | 38 | 18 | 22 | 11 | M10x35 | 3/8x1 1/2 | 32.92x3.53| 043 | 315

(inch) Type A ‘ c ‘ D ‘ E ‘ H ‘ K | L1 ‘ L2 (k@) |(kg/em?) 11/4" | AFS304G |G11/4"| 32 [58.72( 79 [30.18| 68 | 41 | 21 | 22 [11.5| M10x40 | 7/16x1 1/2 |37.70x3.53| 0.65 250

%A% 3000 psi 11/2" | AFS305G [G11/2"| 38 [69.85| 93 |35.71( 78 | 45 | 25 | 24 [13.5 | M12xa5 | 1/2x13/4 |47.22x353| 1.01 | 200
AGOR301A__ | #s"-16UN 2" | AFs306G | G2" | 51 |77.77|102|42.88| 90 | 45 | 25 | 30 [13.5| M12x45 | 1/2x1 3/4 [56.75x3.53| 121 | 200

1/2" | AGOR301B | '%¢-16UN| 38.10 56 17.48 20 9 32 50 0.7 350 21/2" | AFS307G |G21/2" | 63 |88.90 (114 [50.80(105 | 50 | 25 | 30 [13.5| M12x45 | 1/2x13/4 |69.45x3.53| 1.55 160
AGOR301
SORIONC 1 4= TG 3" | AFs308G | G3" | 73 [106.38|134 [61.93[124 | 50 | 27 | 34 | 17 | M16x50 | 5/8x2 [85.32x353| 220 | 138

aav |__AGOR302A | 1™14UNS
AGOR302B | 1%g12un| 4788 7 22.23 24 " 39 60 1.0 350 31/2" | AFS309G |G31/2" | 89 [120.65 152 |69.85(136 | 48 | 27 | 34 | 17 | M16x50 | 5/8x2 |98.02x3.53| 2.55 35

o T n ] 0 _

i AGOR303A 17/15" 120N 3 _— - i1 e 70 T s AFS310G | G4" | 99 [130.18{162 [77.77| 146 | 48 | 27 | 34 [ 17 | m16x50 | 5/8x2  [110.72x353] 2.72 35
AGOR303B 17/16'12UN 5" | AFS311G | G5" [120[152.40{184|92.08(180 | 50 | 29 | 30 | 17 | M16x55 | 5/8x2  [136.12x3.53) 3.82 35
AGOR304A | 1%¢"-12UN

11/4" 58.72 95 30.18 32 1.5 545 75 25 | 250 | i
AGOR304B _ [1'/46"-12UN HERY] 6000 psi

Vo' 172" 1/2" | 13 {4049 56 |18.24| 48 [ 36 |16 |19 | 9 5/16x1 1/4 | 18.66x3.53| 0.30 | 400

1172 |__AGOR305A 1V15 120N o | s — " e . . 58 | 500 AFS601G | G1!: M8x30 | 5/16x1 1/ X

AGOR305B 2"-12UN 3/4" | AFS602G | G3/4" | 19 |50.80| 71 [23.80| 55 | 35 [ 21 | 19 | 11 | M10x35 | 3/8x1 1/2 |25.00x3.53| 0.52 400
HAS 6000 psi 1" | AFS603G | G1" | 25 [57.15| 81 |27.76| 65 | 42 | 25 | 22 | 13 | M12x45 | 7/16x13/4 [32.92x3.53| 0.79 400
AGOR601A :gs"-WUN 11/4" | AFS604G [G11/4"| 32 [66.68| 95 [31.75] 78 | 45 | 27 [ 23 | 15 | M14x50 —  [37.70x353| 1.16 | 400

172" | AGOR601B 46"-16UN|  40.49 56 18.24 20 9 32 50 07 | 400 - -

AGORG0IC T 5"34UNS 11/4" | AFS604G-12|G11/4" | 32 [66.68| 95 [31.75| 78 | 45 | 27 | 23 [ 1355 1/2x13/4 |37.70x3.53| 1.16 | 400
11/2" | AFS605G |G11/2"| 38 [79.38[112(36.50( 94 [ 50 | 30 [ 26 | 17 | M16x65 | 5i8x2 |47.22x353| 1.82 | 400

3yg | ACORE02A 13 T4UNS | o 80 71 23.80 24 1 39 60 1.0 400 -
AGORG02B | 1%5™-12UN 2" | AFs606G | G2" | 51 |96.82[134[44.45[114[ 65 | 37 [ 30 | 21 | M20x70 | 3/4x21/2 |56.75x3.53| 329 | 400

" ﬁggiggg@ 1?5123: 57.15 81 27.76 28 13 46 70 14 400 21/2" | AFS607G [G21/2"| 63 [123.83(180 [58.73 (152 | 80 | 45 | 30 | 25 | M24x85 - 75.57x5.33| 7.35 400

8 3" | AFS608G | G3" | 73 [152.40[208|71.43|178 | 90 | 55 | 34 | 32 [ M30x100 —  [88.27x6.33| 12.00 | 400
. | AGORB04A/ 1, | 17™-12UN 15
11/ o 66.68 95 31.75 32 | 2| 545 75 25 | 400
AGOR604B /[ 1)[17%¢"-12UN 13.5 iTHR UL Specification:
19 .
11/2" ﬁgggggg’g 12%51;ij 79.38 112 36.50 38 17 64 90 3.8 400 1. fXiT¥: Flange only: AFS301G, AFS301G-X
2. LA B K OTE I, I1J5 4% M: AFS301GM, AFS301GM-X (it 3 Hli4%: AFS301GU, AFS301GU-X)
%Y Specification: Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U
1. {XiT#:2 Flange only: AGOR301A, AGOR301A-X 3. AFS-G 5 GFS-GHt R & 1T i} AFS-G and GFS-G assembled: DFS301G, DFS301G-X

- 42 - - 43 -



[¢] D A
H G 4
[
by f) IFN\ f? ﬁ
. — NG I
| —I- \&ﬂ, f) s |
v, Z N Y/ &éﬂ.._._ =
| M(U)
K| |-
H [
GFS--G  (Metric thread) K (Material) = D
1. %4MQ345B, carbon steel Q3458
GFS--GU (uNc thread) KE RPN Blank oiled (GFS**G
KIfCr+31E4% Cr+3 white zinked:GFS***G--CFX
KIS 4E Ni-Zn zinked :GFSHR4G--ZN
254540 AlSI 321/304 :GFSHFH*G--X - " .
34541 AISI 3161 {GFS*HkG--XX AFW--G &L (Material)
1. %4XQ345B, carbon steel Q3458
Bk s R2%  dmension Era s HERDIFH Blankolled  AFWsG
P Type Y(‘" MAX.W P ETHCr+3[94% Cr+3 white zinked:AFW#k*G--CFX
Al [ c ol eETJFrFJTe[H]T V] MmMT[ U (k9) | (kgom?) HEEGEAS NiZnzinked  AFWHHG-ZN
%Z5] 3000 psi 2 RG54 AlSI 321/304 AFWHHFG--X
12" | GFS301G | G1/2" | 13 | 3810 | 54 | 1748 | 46 | 36 | 16 | 19 | M8 516 | 027 | 350 3N AISI 316L IAFWRRRG--XX
34" | GFS302G | Ga/a" | 19 | 4763 | 65 | 2223 | 50 | 36 | 18 | 19 | m10 38 | 040 | 350 K A s 485 dimension - blgaﬁw#«*l %\% CIS
m » Size ol S o AX.W.P
1 GFS303G | G1 25 [ 5237 | 70 | 2619 | 55 | 38 | 18 | 22 | m10 38 | 045 | 315 (inchy| ~ Type A e[ c[p[E[R[T[K[ul W [ u 1" (k) [
114" | GFs304G | G11/a" | 32 [ 5872 | 79 | 3018 | 68 | 41 [ 21 | 22 | mio | 716 | o67 | 250 #S 3000 psi
11/2" | GFS305G | G11/2" | 38 | 69.85 | 93 | 3571 | 78 | 45 | 25 | 24 | m12 12 | 1.06 200
12" | AFW301G | G1/2" | 13 |38.10| 54 [17.48| 16 [ 18 | 9 |20 | 37 | M8x30 |[516x1 1/4|18.66x3.53| 0.35 | 350
2" | oFs306G | G2 | 51 | 7777 [ 102 | 4288 | 90 | 45 [ 25 | 30 | m12 12 | 123 200
21z | orsaore | ez | 6 | ssoo | 112 | 5080 | 105 | 80 | 25 | 30 | miz TRET 160 3/4" | AFW302G | G3/4" | 19 |47.63| 65 [22.23] 18 | 18 | 11 | 24 | 39 | M10x35 | 3/8x1 1/2 | 25.00x3.53| 0.49 | 350
3" GFS308G G3" 73 | 106.38 | 134 | 61.93 | 124 50 27 34 M16 5/8 224 138 1" AFW303G G1" | 25 |52.37| 70 [26.19| 19 [ 19 | 11 | 28 | 44 | M10x35 | 3/8x1 1/2 [32.92x3.53| 0.71 315
312 | GFS309G | G312 | 89 | 12065 | 152 | 69.85 | 136 | 48 | 27 | 34 | m16 5/8 | 2.59 35 11/4" | AFW304G |G11/4"| 32 [58.72| 79 |30.18| 21 | 22 [ 115 | 34 | 52 | M10x40 |7/16x11/2|37.70x3.53| 1.00 | 250
4" | GFS310G | G4" | 99 [13018 | 162 | 77.77 | 146 | 48 | 27 | 34 | M16 58 | 276 35 112" | AFW305G |G11/2"| 38 |69.85| 93 [35.71| 25 | 24 |13.5| 38 | 57 | M12x45 | 1/2x1 3/4 [47.22x353| 1.47 | 200
5" | GFS311G | G5" | 120 | 15240 | 184 | 9208 | 180 | 50 | 29 | 30 | M16 58 | 3.89 35
. 2" | AFW306G | G2' | 51 |77.77[102|42.88| 25 | 27 (135 42 | 65 | M12x45 | 1/2x1 3/4 |56.75x3.53| 1.82 | 200
R%1 6000 psi
21/2" | AFW307G |G21/2"| 60 |88.90| 115 [50.80 | 25 | 30 |13.5| 50 | 77 | M12x45 | 1/2x1 3/4 |69.45x3.53| 292 | 160
12 | GFS601G | G1/2" | 13 | 4049 | 56 | 1824 | 48 | 36 | 16 | 19 | M8 516 | 0.31 400
34" | GFSE02G | G3/4" | 19 | 5080 | 71 | 2380 | 55 | 35 | 21 | 19 | m10 38 | 054 | 400 HEAY| 6000 psi
1" | GFS603G | G1" | 25 | 6715 | 81 | 2776 | 65 | 42 | 25 | 22 | M12 | 7/16 | 082 | 400 12 | AFWB01G | G1/2" | 13 [40.49| 56 |1824| 16 | 19 | 9 | 20 | 38 | M8x30 |5/16x11/4|18.66x3.53| 0.39 | 400
11/4" | GFS604G | G11/4" | 32 | 6668 | 95 | 3175 | 78 | 45 | 27 | 23 | M4 12 1.23 400 3/4" | AFW602G | G3/4" | 19 [50.80| 71 {23.80| 19 | 19 | 11 | 28 | 43 | M10x35 | 3/8x1 1/2 |25.00x3.53| 0.71 | 400
il GFSE05G | G11/2"| 38 | 7938 | 112 | 3650 | 94 | 80 | 80 | 26 | M16 58 | 191 400 1" | AFWB03G | G1" | 25 [57.15| 79 |27.76| 21 | 20 | 13 | 34 | 51 | M12x40 |7/16x13/4|32.92x3.53| 0.97 | 400
2" | GFS606G | G2' | 51 | 96.82 | 134 | 4445 | 114 | 65 | 37 | 30 | M20 3/4 | 344 | 400
11/4" | AFWB04G |G11/4"| 32 |66.68| 93 |31.75| 25 | 22 | 15 | 38 | 56 | M14xa5 —  |a7.70x353| 1.38 | 400
21/2" | GFS607G | G21/2" | 63 | 123.83 | 180 | 58.73 | 152 | 80 | 45 | 30 | M24 — | 762 | 400
7 T orseose | o3 | 73 75220 208 7143 778 90 | =5 | 32 | w0 = 20 | 00 11/4" |AFWB04G-12|G11/4"| 32 [66.68| 93 |31.75| 25 | 22 (135 [ 38 | 56 | — | 1/2x13/4 [37.70x3.53| 1.41 | 400
T Specification: 1172 | AFWB05G |G11/2"| 38 |79.38|110 [36.50| 25 | 24 | 17 | 42 | 65 | M16x50 | 5/8x2 |47.22x353| 212 | 400
e e
LALIT#:2 Flange only: 2" | AFWB06G | G2' | 51|96.82(134|44.45| 33 | 27 | 21 | 45 | 75 | M20x65 | 3/4x2 1/2 |56.75x3.53| 3.60 | 400

AHIRSELES (Metric thread) : GFS301G, GFS301G-X

iTHR UM Specification:
UNCHZZLI (UNC thread) : GFS301GU, GFS301GU-X . P

1. {XiT¥:% Flange only: AFW301G, AFW301G-X
2. VR AHIIZKE KO, INJE48 M: AFW301GM, AFW301GM-X (Bt £ 4124 AFW301GU, AFW301GU-X)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

- 44 - - 45 -



D G D
c H_| ©
—1 +
\Q/f’ NE Bs SrzanNd
< i w < £y | W
/i | 1o \SZ/28
OND 2z NAS =7
oK 1| M(U)
GFS--N  (Metric thread)
AFS--N 1.%@?&%? e;?t!()m steel Q3458 GFS--NU  unc thread) 1.5&%&%2} ez:trlu))n steel Q3458
K5 Blank oiled [AFSHFRXN FT%B45H Blank oiled \GFS¥***N
FKECr+3H4%E Cr+3 white zinked:AFS***N--CFX FIECr+3H4E Cr+3 white zinked:GFS*++N--CFX
KA SE Ni-Zn zinked :AFSHN-ZN REFGA S Ni-Znzinked — :GFS*HN--ZN
2 R4 AISI 321/304 :AFSHFN--X 2 K440 AISI 321/304 :GFS¥FN--X
3 EH AISI 316L (AFSHREN--XX 3B AISI 316L :GFS*#*¥N--XX
K 5 R+&% dimension LG R %ﬂ;g% W R 2 R85 dimension e %FEE;J(
e | Tye TS PSR TR Szl Tvee W | MAX WP
A [B[c[p[EJFJe[H]I]K Mm_ [ u | (9) | kgrem?) A [l c[pop[ e JFJTe[H]T[M U | K9 | (kgiom?)
#A5] 3000 psi %A% 3000 psi
172" AFS301N | NPT1/2"| 13 |38.10| 54 |17.48| 46 | 36 | 16 | 19 9 M8x30 |5/16x1 1/4|18.66x3.53 | 0.26 350 172" GFS301N | NPT1/2" 13 38.10 54 17.48 46 36 16 19 M8 5/16 0.28 350
3/4" AFS302N | NPT3/4" | 19 |47.63| 65 |22.23( 50 | 36 | 18 | 19 | 11 [ M10x35 | 3/8x1 1/2|25.00x3.53| 0.39 350 3/4" GFS302N | NPT3/4" 19 47.63 65 22.23 50 36 18 19 M10 3/8 0.41 350
1" AFS303N NPT1" | 25 |52.37| 70 |26.19| 55 | 38 | 18 | 22 | 11 | M10x35 | 3/8x1 1/2(32.92x3.53 | 0.45 315 1" GFS303N NPT1" 25 52.37 70 26.19 55 38 18 22 M10 3/8 0.47 315
11/4" | AFS304N [NPT11/4"| 32 |58.72| 79 (30.18| 68 | 41 | 21 | 22 [ 11.5| M10x40 [7/16x1 1/2|37.70x3.53| 0.66 250 11/4" GFS304N [NPT11/4"| 32 58.72 79 30.18 68 41 21 22 M10 7116 0.68 250
11/2" AFS305N |NPT11/2"| 38 |69.85| 93 |35.71( 78 | 45 | 25 | 24 | 13.5 [ M12x45 | 1/2x1 3/4 | 47.22x3.53| 1.06 200 11/2" GFS305N [NPT11/2"| 38 69.85 93 35.71 78 45 25 24 M12 112 1.1 200
2" AFS306N NPT2" | 51 |77.771102|42.88| 90 | 45 | 25 | 30 [ 13.5| M12x45 | 1/2x1 3/4 | 56.75x3.53| 1.24 200 2" GFS306N NPT2" 51 77.77 102 42.88 90 45 25 30 M12 12 1.26 200
21/2" | AFS307N |NPT21/2"| 63 [88.90 (114 |50.80(105| 50 | 25 | 30 | 13.5 | M12x45 | 1/2x1 3/4 | 69.45x3.53 | 1.70 160 21/2" GFS307N [NPT21/2"| 63 88.90 114 50.80 105 50 25 30 M12 12 1.72 160
3" AFS308N NPT3" | 73 [106.38| 134 |61.93|124 | 50 | 27 | 34 | 17.5 | M16x50 5/8x2 |85.32x3.53| 2.30 138 3" GFS308N NPT3" 73 106.38 | 134 61.93 124 50 27 34 M16 5/8 2.34 138
31/2" | AFS309N [NPT31/2"| 89 [120.65( 152 |69.85(136 | 48 | 27 | 34 | 17.5 | M16x50 5/8x2 |98.02x3.53| 2.55 35 31/2" GFS309N [NPT31/2"| 89 120.65 | 152 69.85 136 48 27 34 M16 5/8 2.57 35
4" AFS310N NPT4" | 99 [130.18| 162 |77.77 | 146 | 48 | 27 | 34 [17.5| M16x50 5/8x2 [110.72x3.53| 2.86 35 4" GFS310N NPT4" 99 130.18 | 162 77.77 146 48 27 34 M16 5/8 2.90 35
HAS] 6000 psi HAS| 6000 psi
12" AFS601N | NPT1/2"| 13 |40.49| 56 |18.24| 48 | 36 | 16 | 19 9 M8x30 |5/16x1 1/4/18.66x3.53 | 0.31 400 172" GFS601N | NPT1/2" 13 40.49 56 18.24 48 36 16 19 M8 5/16 0.32 400
3/4" AFS602N | NPT3/4"| 19 |50.80| 71 |23.80( 55 | 35 | 21 | 22 | 11 | M10x35 | 3/8x1 1/2|25.00x3.53| 0.52 400 3/4" GFS602N | NPT3/4" 19 50.80 7 23.80 55 35 21 22 M10 3/8 0.54 400
1" AFS603N NPT1" | 25 |57.15| 81 |27.76| 65 | 42 | 25 | 22 | 13 | M12x45 |7/16x1 3/4[32.92x3.53| 0.81 400 1" GFS603N NPT1" 25 57.15 81 27.76 65 42 25 22 M12 7116 0.84 400
11/4" | AFS604N [NPT11/4"| 32 |66.68| 95 [31.75| 78 | 45 | 27 | 25 | 15 | M14x50 - 37.70x3.53| 1.17 400 11/4" GFS604N [NPT11/4"| 32 66.68 95 31.75 78 45 27 25 M14 12 1.24 400
11/4" | AFS604N-12 [NPT11/4"| 32 (66.68| 95 [31.75| 78 | 45 | 27 | 25 [ 13.5 -- 1/2x1 3/4|37.70x3.53| 1.20 400 11/2" GFS605N [NPT11/2"| 38 79.38 112 36.50 94 50 30 28 M16 5/8 1.91 400
11/2" | AFS605N [NPT11/2"| 38 |79.38|112(36.50| 94 | 50 | 30 | 28 | 17 | M16x55 5/8x2 |47.22x3.53| 1.82 400 2" GFS606N NPT2" 51 96.82 134 44.45 114 65 37 32 M20 3/4 3.44 400
2" AFS606N NPT2" | 51 |96.82|134 |44.45|114| 65 | 37 | 32 | 21 | M20x70 | 3/4x2 1/2(56.75x3.53 | 3.29 400 21/2" GFS607N [NPT21/2"| 63 123.83 | 180 58.73 152 80 45 30 M24 - 7.23 400
21/2" | AFS607N |NPT21/2"| 63 [123.83[180 |58.73(152| 80 | 45 | 30 | 25 | M24x85 - 75.57x5.33| 6.96 400 3" GFS608N NPT3" 73 152.40 | 208 71.43 178 90 55 34 M30 - 12.60 400
3" AFS608N NPT3" | 73 [152.40| 208 |71.43|178| 90 | 55 | 34 | 32 | M30x100 - 88.27x5.33 | 12.00 400 JT# 49 Specification:
T ¥B Specification: 1. {2iT%:2% Flange only:
1.423T¥#:2% Flange only: AFS301N, AFS301N-X AMHISELUFLI (Metric thread) : GFS301N, GFS301N-X
2. VELFL A KRS K OTKIE, N5 45 M: AFS301NM, AFS301NM-X (Bt #1124 : AFS301NU, AFS301NU-X) UNCIZZALIF (UNC thread) : GFS301NU, GFS301NU-X

Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U
3. AFS-N5GFS-NFit i % T i AFS-N and GFS-N assembled: DFS301N, DFS301N-X

~ 46 - - 47 -



G D
C
SN
. 2l 2NN
P N
15°¢] NN\
#K
4k (Material)
AFS--UN 1. B4#9Q345B, carbon steel Q345B
- KB4 Blank oiled :AFS*F¥UN
RECr+3H4%E Cr+3 white zinked:AFS¥*UN--CFX
RS A4 Ni-Zn zinked :AFS**¥*¥UN--ZN
2. N4E4 AISI 321/304 {AFS*F*UN--X
34540 AISI 316L :AFS**¥xUN--XX
A U= RysH dimension AT . %YEE%
Size Type #ie bot OF%H o-ring WE N AX WP
(inch) A [Blc[olEeEJF[e[H]I[Kk] ™ [ w - (k9) [(kgrem)
%A% 3000 psi
1/2" | AFS301UNF [¥%"-16UNF| 13 |38.10| 54 [17.48| 46 | 36 | 16 [ 17 | 9 | M8x30 |5/16x1 1/4|{18.66x3.53 | 0.26 | 350
3/4" AFS302UN [1%46"-12UN| 19 |47.63| 65 [22.23| 50 | 36 | 18 | 23 | 11 | M10x35 | 3/8x1 1/2|25.00x3.53| 0.36 350
1= AFS303UN [1%¢"-12UN| 25 |52.37| 70 [26.19| 55 | 38 | 18 | 23 | 11 | M10x35 | 3/8x1 1/2|32.92x3.53 | 0.43 315
11/4" | AFS304UN |1%"-12UN| 32 |58.72| 79 |30.18| 68 | 41 | 21 | 23 [11.5| M10x40 (7/16x1 1/2| 37.70x3.53 | 0.64 250
11/2" | AFS305UN |1%"-12UN| 38 |69.85| 93 | 35.71| 78 | 45 | 25 | 23 [13.5| M12x45 | 1/2x1 3/4 | 47.22x3.53 | 1.00 200
2" | AFS306UN |2/4"12UN| 51 |77.77(102|42.88| 90 | 45 | 25 | 23 [13.5| M12x45 | 1/2x1 3/4 | 56.75x3.53 | 1.14 | 200
21/2" | AFS307UN 3"-12UN | 63 |88.90|114 |50.80|105| 50 [ 25 | 30 [13.5| M12x45 | 1/2x1 3/4 |69.45x3.53 [ 1.49 160
3" AFS308UN | 3%"-12UN | 73 [106.38( 134 |61.93 124 | 50 | 27 | 34 [17.5| M16x50 5/8x2 |85.32x3.53( 2.12 138
4" AFS310UN | 4%"-12UN | 99 [130.18( 162 | 77.77 [ 146 | 48 | 27 | 34 [17.5| M16x50 5/8x2 [110.72x3.53( 2.64 35
EHRF] 6000 psi
1/2" | AFSB0TUNF [%"-16UNF| 13 |40.49| 56 [18.24| 48 | 36 | 16 [ 17 | 9 | M8x30 |5/16x1 1/4|{18.66x3.53 | 0.31 | 400
3/4" AFS602UN  [1%6"-12UN| 19 |50.80| 71 [23.80| 55 | 35 | 21 | 23 | 11 | M10x35 | 3/8x1 1/2|25.00x3.53 | 0.50 400
i4% AFS603UN [1%¢"-12UN| 25 |57.15| 81 [27.76| 65 | 42 | 25 | 23 | 13 | M12x45 |7/16x1 3/4| 32.92x3.53| 0.78 400
11/4" | AFS604UN [1%"-12UN| 32 |66.68| 95 [31.75| 78 | 45 | 27 | 23 | 15 | M14x50 - |37.70x3.53| 1.15 | 400
11/4" | AFSB04UN-12 [1%"-12UN | 32 |66.68| 95 [31.75| 78 | 45 | 27 | 23 |13.5| -—  |1/2x13/4 |37.70x3.53| 1.15 | 400
11/2" | AFS605UN [1%"-12UN| 38 |79.38(112(36.50| 94 | 50 | 30 | 23 | 17 | M16x55 5/8x2 |47.22x3.53 | 1.82 400
2" AFSB06UN | 2)4"12UN | 51 |96.82 (134 |44.45|114 | 65 | 37 | 23 | 21 | M20x70 | 3/4x2 1/2 | 56.75x3.53 | 3.21 400

A
| -\ T T )—
7R DI+ D
o A v iy NS
S| \ |
B = AN\ NN /72
i NP2\
oK
H [o]
L1 D
AFW--N ¥} (Material)
1. H49Q345B, carbon steel Q3458
KRB Blank oiled AFWHRKN
KM Cr+3134% Cr+3 white zinked:AFW#k*N--CFX
KPR A4S Ni-Zn zinked AAFWHkEN--ZN
255540 AIS| 321/304 AFWHRKN--X
34 AISI 316L [AFWHREN--XX
R # 2 Rtz dimension R R %YFE;JQ
Size it bolt  E—_ Wt
(inch) Type O o-ting| (10 MAX.W P|
A [B[c[DJEJH[ITK U] ™ u | 9)_[(kg/ecm?)
% %% 3000 psi
12" | AFW301N |NPT1/2"| 13 |38.10| 54 [17.48| 16 | 18 | 9 | 20 | 37 | M8x30 [5/16x1 1/4|18.66x3.53| 0.35 | 350
3/4" | AFW302N [NPT3/4"| 19 |47.63| 65 [22.23| 18 | 18 | 11 | 24 | 39 | M10x35 | 3/8x1 1/2|25.00x3.53| 0.49 | 350
1" | AFW303N | NPT1" | 25 |52.37| 70 {26.19] 19 | 19 | 11 | 28 | 44 | M10x35 | 3/8x1 1/2|32.92x3.53| 0.71 | 315
11/4" | AFW304N |NPT11/4"| 32 [58.72| 79 |30.18| 21 | 22 [11.5 | 34 | 52 | M10x40 [7/16x1 1/2|37.70x3.53| 1.01 | 250
11/2" | AFW305N [NPT11/2"| 38 |69.85| 93 [35.71| 25 | 24 |13.5| 38 | 57 | M12x45 | 1/2x1 3/4 |47.22x3.53| 1.47 | 200
2" | AFW306N | NPT2" | 51 [77.77|102|42.88| 25 | 27 [13.5| 42 | 65 | M12x45 |1/2x1 3/4 |56.75x3.53| 1.84 | 200
21/2" | AFW307N [NPT21/2"| 60 (88.90|115(50.80| 25 | 30 [13.5| 50 | 77 | M12x45 |1/2x1 3/4 |69.45x3.53| 2.92 | 160
HARZ] 6000 psi
12" | AFWB0IN |NPT1/2"| 13 |40.49| 56 [18.24| 16 | 19 | 9 | 20 | 38 | M8x30 [5/16x1 1/4|18.66x3.53| 0.39 | 400
3/4" | AFWE02N |NPT3/4"| 19 (50.80| 71 |23.80| 19 | 19 [ 11 | 28 | 43 | M10x35 |3/8x1 1/2 [25.00x3.53| 0.71 | 400
1" | AFW603N | NPT1" | 25 [57.15| 79 |27.76| 21 | 20 | 13 | 34 | 51 | M12x40 |7/16x1 3/4{32.92x3.53| 0.98 | 400
11/4" | AFWB04N [NPT11/4"| 32 |66.68| 93 [31.75| 25 | 22 | 15 | 38 | 56 | M14xd5 —  |37.70x3.53| 141 | 400
11/4" | AFWB04N-12[NPT11/4"| 32 |66.68 | 93 [31.75| 25 | 22 | 13.5| 38 | 56 — | 1/2x13/4|37.70x3.53| 1.45 | 400
11/2" | AFW605N [NPT11/2"| 38 |79.38 (110 [36.50| 25 | 24 | 17 | 42 | 65 | M16x50 | 5/8x2 |47.22x3.53| 2.14 | 400
2" | AFWB0BN | NPT2' | 51 |96.82(134 [44.45( 33 | 27 | 21 | 45 | 75 | M20x65 | 3/4x2 1/2|56.75x3.53| 3.60 | 400

iTHR UL Specification:
1. {0iT#:2: Flange only: AFW301N, AFW301N-X

2. VLA AHIEK KO, INJE 4% M: AFW301NM, AFW301NM-X (T3 42 #::  AFW301NU, AFW301NU-X)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

iT# Ui Specification:

1. f2iT#:2% Flange only: AFS301UNF, AFS301UNF-X

2. ¥E2L AL AR K OTE P, N5 4% M: AFS301UNFM, AFS301UNFM-X (Bt 362k : AFS301UNFU, AFS301UNFU-X)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

3. AFS-UN 5 GFS-UNC 2T I8+ AFS-UN and GFS-UN assembled: DFS301UNF, DFS301UNF-X

49



G D
H o]
— | —t—
|
s 2 ff\\ ,)\
= == . @\ .
[ Ll NS
1555 AN Y
| M(U)
GFS--UN  (Metric thread)
GFS--UNU (UNc thread) B (Material)
1. 49Q345B, carbon steel Q3458
IR Blank oiled :GFS#kkUN
KIECr+3[1%E Cr+3 white zinked:GFS***UN-CFX
KHEHE % Ni-Zn zinked :GFS¥*+UN--ZN
240 AIS| 321/304 :GFS***UN--X
3R AISI 316L GFS*#XUN--XX
o g Rt&% dimension $W§ i%/gﬂz_jj
$'Zﬁ Type MAXW,P
(inch) A [ B[] ¢ [ D[ E[FJG[HI[I [ m™ U | (k) | (kgiem?)
% Z%| 3000 psi
1/2" | GFS301UNF |%"-16UNF| 13 | 3810 | 54 | 1748 | 46 | 36 | 16 | 17 M8 | 516 | 028 | 350
3/4" | GFS302UN [1%6"-12UN| 19 | 4763 | 65 | 2223 | 50 | 36 | 18 | 23 | M10 | 318 |o038| 350
1" | GFS303UN [1%¢"-12UN| 25 | 5237 | 70 | 2619 | 55 | 38 | 18 | 23 | M10 | 38 |045| 315
11/4" | GFS304UN |1%"12UN| 32 | 5872 | 79 | 3018 | 68 | 41 | 21 | 23 | Mi0 | 7/16 | 066 | 250
11/2" | GFS305UN |1%"12UN| 38 | 69.85 | 93 | 3571 | 78 | 45 | 25 | 23 | Mm12 172 | 1.05 | 200
2" | GFS306UN |24"12UN| 51 | 77.77 | 102 | 4288 | 90 | 45 | 25 | 23 | M12 12 | 116 | 200
21/2" | GFS307UN | 3"-12UN | 63 | 88.90 | 114 | 50.80 | 105 | 50 | 25 | 30 | M12 172 | 151 | 168
3" | GFS308UN [3%"12UN| 73 |106.38 | 134 | 6193 | 124 | 50 | 27 | 34 | Mi6 | 58 |216| 135
4" | GFS310UN |4%"12UN| 99 |130.18 | 162 | 77.77 | 146 | 48 | 27 | 34 | m16 | 58 |268| 38
HER%] 6000 psi
1/2" | GFS601UNF |%"-16UNF| 13 | 4049 | 56 | 1824 | 48 | 36 | 16 | 17 M8 | 516 | 033 | 400
3/4" | GFS602UN [1%6"-12UN| 19 | 50.80 | 71 | 2380 | 55 | 35 | 21 | 23 | M10 | 38 |o052| 400
1" | GFSB03UN [1%¢"-12UN| 25 | 5745 | 81 | 2776 | 65 | 42 | 25 | 23 | M12 | 7116 | 081 | 400
11/4" | GFS604UN |1%"12UN| 32 | 6668 | 95 | 3175 | 78 | 45 | 27 | 23 | M4 172 | 122 | 400
11/2" | GFS605UN |17%"-12UN| 38 | 79.38 | 112 | 3650 | 94 | 50 | 30 | 23 | Mi6 | 58 | 191 400
2" | GFS606UN [2)5"12UN| 51 | 96.82 | 134 | 4445 | 114 | 65 | 37 | 23 | M20 | 34 |336| 400

T8 Specification:

1. {XiT#:2% Flange only:
AHIELFLN (Metric thread) :
UNCIZZL L (UNC thread) :

GFS302UN, GFS302UN-X
GFS302UNU, GFS302UNU-X

— 50

a o
3 '
fa) )
—m{ N &
s [
= O\ O
4l S \=*,
ok || [T=a—"]
H c
L1 D
AFW--UN L (Material)
1. B%4XQ345B, carbon steel Q345B
RIEHRFHM Blank oiled [AFWsRkUN
KHCr+3 (4 Cr+3 white zinked:AFW#UN--CFX
KA S NiZnzinked  AFWHHUN-ZN
2454 AISI 321/304 SAFWHHRFUN-X
3N AISI 316L AFWHREUN—-XX
Al ms RoFB# dimension — e ——— W L
Size Ty R bolt oM oring| . [MAXWP
(inch) A B[] c [D]E [H[I[K[uU]L M [ u | (k@) | kosom?
%Z%] 3000 psi
1/2" | AFW301UNF |%"16UNF| 13 |38.10| 54 [17.48| 16 | 17 | 9 | 20 | 37 | M8x30 |5/16x1 1/4|18.66x353| 0.35 | 350
34" | AFW302UN |1%e™-12UN| 19 [47.63| 65 |22.23| 18 | 23 | 11 | 24 | 39 [ M10x35 | 3/8x1 172 | 25.00x353| 0.48 | 350
1" | AFW303UN [1%¢™12UN| 25 [52.37| 70 |26.19| 19 | 23 | 11 | 28 | 44 | M10x35 | 3/8x1 1/2 |32.92x3.53| 068 | 315
11/4" | AFW304UN [1%"-12UN | 32 |58.72| 79 |30.18| 21 | 23 [11.5 | 34 | 52 | M10x40 |7/16x1 1/2|37.70x3,53| 1.00 | 250
1172 | AFW305UN | 17%"-12UN| 38 |69.85| 93 [35.71| 25 | 23 | 135 | 38 | 57 | M12x45 | 1/2x1 3/4 |47.22x3.53| 1.44 | 200
2" | AFW306UN |25"12UN| 51 |77.77 (102 |42.88| 25 | 23 [13.5 | 42 | 65 | M12x45 | 1/2x13/4 |56.75x3.53| 1.76 | 200
21/2" | AFW307UN | 3™12UN | 60 |88.90|115|50.80| 25 | 30 [13.5 | 50 | 77 | M12x45 | 1/2x1 3/4 |69.45x353| 2.85 | 160
HARY| 6000 psi
1/2" | AFWBO1UNF |%"16UNF| 13 |40.49| 56 [18.24| 16 | 17 | 9 | 20 | 38 | M8x30 |5/16x11/4[18.66x353| 0.39 | 400
34" | AFWB02UN |1%¢"-12UN| 19 |50.80| 71 |23.80| 19 | 23 | 11 | 28 | 43 | M10x35 | 3/8x1 172 | 25.00x3.53| 071 | 400
1" | AFWB03UN [1%¢™12UN| 25 [57.15| 79 |27.76| 21 | 23 | 13 | 34 | 51 | M12x40 | 7/16x1 3/4|32.92x3.53| 0.95 | 400
11/4" | AFWB04UN |1%"-12UN| 32 |66.68( 93 [31.75| 25 | 23 | 15 | 38 | 56 |M14x45 | —  [37.70x3.53| 1.37 | 400
11/4" | AFWB04UN-12| 1%"-12UN | 32 |66.68| 93 (31.75| 25 | 23 |135| 38 | 56 | - | 1/2x13/4 [37.70x3.53| 1.37 | 400
1172 | AFWBO05UN |17%"-12UN| 38 |79.38 (110 (3650 25 | 23 | 17 | 42 | 65 | M16x50 | 5i8x2 [47.22x3.53| 2.12 | 400
2" | AFWG06UN |24"-12UN| 51 [96.82|134 |44.45| 33 | 23 | 21 | 45 | 75 | M20x65 | 3/4x2 1/2 | 56.75x3.53| 3.16 | 400

iT#%i%B Specification:

1. fUiT¥:2% Flange only: AFW301UNF, AFW301UNF-X

2. LA R4 KO, 0J5 4 M: AFW301UNFM, AFW301UNFM-X (Bt % fi#8#2: AFW301UNFU, AFW301UNFU-X)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

— 51



G D G D
H © H ©
('X i H
SENC e NG
< 7)) 7N W\ ol < "-"l vl
N W\)/7
(227 N (777 I 7
I oK | M(U)
¥ (Material) " :
AFS--S 1. #41Q3458, carbon steel Q3458 M ¥} (Material)
REARGAFN Blankoiled  AFSHHS GFS--S  (Metricthreaq) - %#1Q345B, "carbon steel Q3458
274540 AISI 321/304 AFSHH*S-X RERB M Blank oiled [GFSHH+S
3 RE540 AISI 3161 AFSHikS-XX GFS--SU (uNc thread) 274540 AISI 321/304 :GFS**%S-X
— — 34 AlSI 316L {GFSHRFS-XX
R bl R+2% dimension LR I
Size Type i bolt OF%H o-ring we '\}&%ﬁ B o5 R+&% dimension %VE %1’55%
(inch) A [B[CID]EJF[G[H]I[K M U (k) |(kg/em?) e Type " | mAxwe
- (inch) A | BJ] c [ D] EJFJGJ[H] I [IM™ U (kg) [ (kgfem?)
%A% 3000 psi .
B &% 3000 psi
12" | AFs301s | 21.60 | 13 [38.10( 54 [17.48[ 46 | 36 | 16 | 19 | 9 | Msxao [s116x11/4|18.66x353] 0.24 | 350
12" | GFs3o1s | 2160 | 13 [ 3810 | 54 [ 1748 | 46 | 36 | 16 | 19 | m8 | 516 | 026 | 3s0
34" | AFs302s | 27.20 | 19 [47.63] 65 |22.23[ 50 | 36 | 18 | 19 [ 11 | M10x35 [ 3/8x1 172 |25.00x3.53] 0.37 | 350
3/4" | orsso2s | 2720 | 19 [ 4763 | 65 [ 2223 [ 50 [ 36 | 18 | 19 [ m10 [ 38 | 039 [ 350
3/4" | AFS3025-25 | 25.30 | 19 [47.63| 65 |22.23( 50 | 36 | 18 | 19 [ 11 | M10x35 [ 3/8x1 12 |25.00x3.53| 0.38 | 350
3/4" |GFs302s25| 2530 | 19 | 4763 | 65 [ 2223 | 50 [ 36 | 18 | 19 [ m10 [ 38 [ 040 [ 350
1" | AFs303s | 34.00 | 25 52:37| 70 |26.19( 55 | 38 | 18 | 19 [ 11 | m10x35 [ 3/8x1 172 |32.92x3.53| 0.43 | 315
1" | Grs303s | 3400 | 25 [ 5237 | 70 [ 2619 | 55 | 38 [ 18 [ 19 | mi0o | a8 [ 045 [ 315
11/4" | AFs3oas | 42.80 | 32 [58.72] 79 [30.18] 68 | 41 | 21 [ 22 [11.5| Mm1oxa0 |7/16x1 1/2]37.70x3.53[ 0.64 | 250
114" | GFs3oas | 4280 | 32 [ 5872 | 79 [ 3018 | 68 | 41 | 21 | 22 | m10 | 7116 | o066 | 250
11/4" | AFS3045-38 | 38.30 | 32 [58.72] 79 [30.18| 68 | 41 | 21 [ 22 [11.5| Mm10x40 |7/16x1 1/2]37.70x3.53[ 068 | 250 -
11/4" |GFs3o4as-3s| 3830 | 32 | 5872 | 79 [ 3018 | 68 | 41 | 21 | 22 | m1o | 716 | 070 | 250
11/2" | AFs305S | 48.60 | 38 [69.85]| 93 [35.71| 78 | 45 | 25 [ 24 [ 135 M12xa5 | 1/2x1 314 [47.22x353[ 1.01 | 200 -
11/ GFs305S | 4860 | 38 | 6985 | 93 [ 3571 | 78 | 45 | 25 | 24 | w12 | 12 | 108 | 200
11/2" | AFS3058-50 | 50.50 | 38 [69.85] 93 [35.71 78 | 45 | 25 [ 24 [ 135 M12xa5 | 1/2x1 314 [47.22x353[ 0.98 | 200
11/2" |GFs3058-50| 5050 | 38 | 6985 | 93 [ 3571 | 78 | 45 | 25 | 24 | w12 | 12 [ 103 | 200
2" | Arsaoss | 61.00 | 51 |77.77[10242.88] 90 [ 45 | 25 | 26 [ 13.5| m12xa5 | 1/2x13/4 [56.75x3.53| 1.16 | 200 ~
2 GFs306S | 61.00 | 51 | 77.77 [ 102 [ 4288 | 90 | 45 | 25 | 26 | m12 | 12 [ 118 | 200
21/2'| AFs307s | 76.60 | 63 [88.90| 114 |50.80(105 | 50 | 25 | 30 [13.5| M12xas | 1/2x1 34 |69.45x3.53] 1.47 | 160 .
212" | cFs3o7s | 7660 | 63 | 88.90 | 114 | 5080 [ 105 [ 50 | 25 | 30 | m12 | 12 [ 149 | 160
3" | Ars3oss | 90.50 | 73 [106.38[ 134 [61.93| 124 50 [ 27 | 34 | 17 | m16xs0 | s8xe [85.32x353| 204 | 138
3" | crssoss | 9050 | 73 [106:38 | 134 | 6193 [ 124 | 50 [ 27 [ 34 | mie | 58 | 208 [ 138
312" | AFs309s [103.00 | 89 [120.65|152|69.85[136 | 48 | 27 [ 34 | 17 | M1exs0 | s8x2 |98.02x353| 235 | 35
312" | GFs309s | 103.00 | 89 | 12065 | 152 | 6985 | 136 | 48 | 27 | 34 | mt6 | 58 | 239 35
4 | Ars3tos [11550| 99 J130.18[162|77.77| 146 | 48 | 27 | 34 | 17 | m16xs0 | s8x2 [110.72x353] 256 | 35
4 | cFsatos [ 11550 | 99 [13018 | 162 [ 7777 [ 146 | 48 | 27 | 34 [ m16 | s [ 260 35
5" | AFs311s [142.00 | 120 |152.40[ 184 [92.08 180 | 50 | 29 | 28 | 17 | m16x55 | s8x2 [136.12x3.53] 382 | 35
. 5° | Grs311s | 14200 [ 120 [ 15240 | 184 [ 9208 [ 180 [ 50 [ 20 [ 28 [ m16 | 58 [ 389 35
HEA% 6000 psi :
EAR%| 6000 psi
12" | AFse01s | 21.60 | 13 [40.49| 56 |18.24[ 48 [ 36 | 16 | 19 [ 9 | Msx30 | s5/16x1 174 |18.66x3.53| 0.29 | 400
12" | GFseo1s | 2160 | 13 [ 4049 | 56 [ 1824 [ 48 | 36 | 16 | 19 | ms | 516 | 030 | 400
34" | AFseo2s | 27.20 | 19 [50.80 71 |23.80[ 55 | 35 | 21 | 22 [ 11 | m10x35 | 3/8x1 12 |25.00x3.53| 0.50 | 400
w 3/4" | orseo2s | 2720 | 19 [ 5080 | 71 [ 2380 | 55 | 35 | 21 [ 22 | mio | 38 | 052 | 400
1 AFS603S | 34.00 | 25 |57.15] 81 [27.76[ 65 [ 42 | 25 [ 22 | 13 | M12x45 | 7/16x1 3/4 [32.92x3.53] 0.77 | 400
1" | GFs603S | 3400 | 25 | 5715 | 81 | 2776 | 65 | 42 | 25 | 22 | M12 | 7116 | 080 | 400
11/4" | AFse04S | 42.80 | 32 [66.68] 95 [31.75] 78 [ 45 [ 27 [ 25 | 15 | Mm14x50 —  [37.70x353] 112 | 400
11/4" | GFS604s | 4280 | 32 | 6668 | 95 | 3175 | 78 | 45 | 27 | 25 | M4 | 12 | 119 | 400
11/4" | AFS6045-12 | 42.80 | 32 |66.68] 95 |31.75| 78 | 45 | 27 | 25 [135| — | 1/2x134 |37.70x353| 112 | 400
11/4" | GFs604s-38| 38.30 | 32 | 6668 | 95 | 31.75 | 78 | 45 | 27 | 25 | M4 | 12 | 124 | 400
11/4" | AFs604s-38 | 38.30 | 32 [66.68] 95 [31.75] 78 [ 45 [ 27 [ 25 | 15 | m14x50 —  [37.70x3553] 147 | 400
11/2" | GFS605s | 4860 | 38 | 7938 | 112 | 3650 | 94 | 50 | 30 | 28 | M6 | 58 | 186 | 400
11/2" | AFse05S | 48.60 | 38 [79.38[112]36.50[ 94 [ 50 [ 30 [ 28 | 17 | m1exs5 | si8x2 [47.22x353[ 1.77 | 400
11/2" | GFS6055-50| 5050 | 38 | 79.38 | 112 | 3650 | 94 | 50 | 30 | 28 | M6 | &8 | 183 | 400
11/2" | AFS6055-50 | 50.50 | 38 [79.38[112[36.50| 94 [ 50 [ 30 [ 28 [ 17 | M16xs5 | siex2 [47.22x353[ 174 | 400
2" | GFs606S | 61.00 | 51 | 96.82 | 134 | 4445 | 114 | 65 | 37 | 32 | M20 | a4 | 335 | 400
2" | AFs606S | 61.00 | 51 |96.82[134 [44.45[ 114 65 [ 37 | 382 | 21 | m20x70 | 3/ax2 12 [56.75x3.53] 3.20 | 400
21/2" | GFseo7s | 7660 | 63 | 12383 | 180 | 5873 | 152 | 80 | 45 | 30 | M24 | — [ 723 | 400
2172 | AFse07s | 76.60 | 63 [123.83[ 180 [58.73[152] 80 | 45 | 30 | 25 | m24xe5 —  |7557x5.33] 696 | 400
3" | GFseoss | 9050 | 73 [15240 | 208 | 7143 [ 178 | 90 | 55 | 30 | m30 | — [ 1250 | 400
3" | AFseoss | 90.50 | 73 [152.40[208[71.43[178] 90 [ 55 | 30 [ 32 [ m3oxt00] -~  [ss.27x5.33| 11.92 | 400

iT#RiB Specification:

1. {XiT#:2% Flange only:
ARSI (Metric thread) : GFS301S, GFS301S-X
UNCHZZFLIE (UNC thread) : GFS301SU, GFS301SU-X

iTHR LB Specification:

1.f2iT¥:2% Flange only: AFS301S, AFS301S-X

2. YA A FIEE ROTEIE, fnj5 4t M: AFS301SM, AFS301SM-X (Bt & #)iZ ke : AFS301SU, AFS301SU-X)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

3. AFS-S 5 GFS-SEL i E 1T AT AFS-S and GFS-S assembled: DFS301S, DFS301S-X

- 52 - - 563 —



oA
| ! 0
7 EapNEe)
~
g AR (RS
\
/]
NI
w || | =
H C
L1 D
AFW--S #EL (Material)
1. B4HQ345B, carbon steel Q3458
FHJBIHH Blank olled AFWHHS
2.4 AISI 321/304 (AFWHRS-X
3B AISI 316L (AFWHRS-XX
L 5 R85 dimension FEH M R g %{’FE%
Size Type B bolt IO?&E e Wt |axw Pl
(inch) A [B]cIpJETJH] I TKJu]L2 M | u | 9 (k) |(kglem?
%A% 3000 psi
172" AFW301S | 21.60 | 13 |38.10| 54 |17.48| 16 | 10 9 |20 37 M8x30 [5/16x1 1/4|18.66x3.53| 0.35 350
3/4" AFW302S | 27.20 | 19 |47.63| 65 |22.23| 18 | 10 | 11 | 24 | 39 | M10x35 | 3/8x1 1/2 |25.00x3.53| 0.50 350
1" AFW303S | 34.00 | 25 |52.37| 70 |26.19| 19 | 12 | 11 | 28 | 44 | M10x35 | 3/8x1 1/2 |32.92x3.53| 0.70 315
114" [ AFw304s | 42.80 | 32 |58.72( 79 [30.18] 21 | 14 | 11.5| 34 | 52 | M10x40 |7/16x1 1/2|37.70x3.53| 1.03 | 250
11/2" | AFW305S | 48.60 | 38 |69.85]| 93 |35.71| 25 | 16 | 13.5| 38 | 57 | M12x45 | 1/2x1 3/4 |47.22x3.53| 1.48 200
2" | AFw3o0es | 61.00 | 51 |77.77[102|42.88]| 25 | 18 | 13.5| 42 | 65 | M12x45 | 1/2x1 3/4 |56.75x3.53| 1.83 | 200
21/2" | AFW307S | 76.60 | 60 [88.90|115]50.80| 25 | 30 [13.5| 50 | 77 | M12x45 | 1/2x1 3/4 [69.45x3.53| 2.85 | 160
HEZRJF| 6000 psi
1/2" AFW601S | 21.60 | 13 |40.49| 56 |18.24| 16 | 10 9 |20 38 M8x30 [5/16x1 1/4|18.66x3.53| 0.39 400
3/4" AFW602S | 27.20 | 19 |50.80| 71 |23.80( 19 | 12 | 11 | 28 | 43 | M10x35 | 3/8x1 1/2 [25.00x3.53| 0.71 400
1" | AFW603s | 34.00 | 25 |57.15| 79 |27.76( 21 | 14 | 13 | 34 | 51 | M12x40 |7/16x13/4|32.92x3.53| 0.96 | 400
11/4" [ AFwe04s | 42.80 | 32 |66.68| 93 [31.75| 25 | 16 | 15 | 38 | 56 | M14x45 - |37.70x353| 1.39 | 400
11/4" | AFW604S-12| 42.80 | 32 |66.68| 93 |31.75| 25 | 16 | 13.5| 38 | 56 - 1/2x1 3/4 |37.70x3.53| 1.39 400
11/2" | AFW605S | 48.60 | 38 [79.38|110]36.50| 25 | 18 | 17 | 42 | 65 | M16x50 5/8x2 | 47.22x3.53| 2.12 400
2" AFW606S | 61.00 | 51 |96.82(134 |44.45( 33 | 18 | 21 | 45 | 75 | M20x65 | 3/4x2 1/2 |56.75x3.53| 3.60 400

T8 Specification:
1. fX3T¥:2 Flange only: AFW301S, AFW301S-X
2. WA A KRR RO, njE4: M: AFW301SM, AFW301SM-X (FE 35418k : AFW301SU, AFW301SU-X)

Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

D
Hoy
(o]
| \
i
= D) @)
@9
s Y w e
N\ &J N
v N\
4 a -~
| K
#4 L (Material)
1. B49Q345B, carbon steel Q345B
RMWPHM Blank oiled AFCH¥xS
284540 AISI 316L (AFCH**S-—-XX
e # 2 R&% dimension L I %\% %ﬂzﬂg%
Size Type MAX.W. P
(inch) A B C D E F [ H I K| %# bot | M oring | (ka) |(kg/cm?)
12" AFC301S 2160 | 15 | 38.10 | 54 | 17.48 | 46 10 3 9 M8x25 18.66x3.53 0.12 40
3/4" AFC302S 2720 | 20 | 4763 | 65 | 2223 | 50 12 4 1 M10x30 25.00x3.53 0.18 40
a& AFC303S 3400 | 29 | 5237 | 70 | 26.19 | 60 12 4 11 M10x30 32.92x3.53 0.20 40
11/4" AFC304S 4280 | 34 | 5872 | 79 | 30.18 | 68 12 4 11.5 | M10x30 37.70x3.53 0.28 40
11/2" AFC305S 4860 | 42 | 69.85 | 93 | 35.71 | 78 15 4 13.5 | M12x35 47.22x3.53 0.47 40
2" AFC306S 61.00 | 53 | 77.77 | 102 | 42.88 | 90 15 4 13.5 | M12x35 56.75x3.53 0.55 40
21/2" AFC307S 77.00 | 64 88.90 | 114 | 50.80 | 105 15 4 13.5 | M12X35 69.45X3.53 0.68 40
3" AFC308S 90.50 | 80 [106.38| 134 | 61.93 | 124 20 5 17 M16x40 85.32x3.53 1.20 40
31/2" AFC309S 103.00| 93 |120.65| 152 | 69.85 | 136 20 5 17 M16x40 98.02x3.53 1.56 35
4" AFC310S |115.50| 105 |130.18 | 162 | 77.77 | 146 | 25 6 17 M16x45 110.72x3.53 2,07 35
5" AFC311S | 142.00| 126 |152.40 | 190 | 92.08 | 170 | 28 8 17 M16x50 136.12x3.53 3.00 35

iT1% L8 Specification:

1. {U3T¥:2 Flange only: AFC301S, AFC301S-XX

2. BT A iRk K OTEIE, N5 4% M: AFC301SM, AFC301SM-XX (it 3 Hilig4e: AFC301SU, AFC301SU-XX)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U
3. AFC-S 5 GFC-SHL % 21T it AFC-S and GFC-S assembled: DFC301S, DFC301S-XX

55



D D
H H
o] o]
| } /-]_\
i i
Ly A ,\\ ------ — ﬁm ﬁ%
e N fﬁ P =] N2 f\ NS/
< ] wl o g | f \ wl ol
8| nl \\ J 4 \.J
% N4 Z N4 7
I M oK
G Fc__s (Metric thread) PAFS __s
GFC--SU (uncthread) . e i
#E (Material) #EH (Material)
1. %4Q345B, carbon steel Q3458 1. %41Q345B, carbon steel Q3458
FERPIFEI Blank oiled :GFCHH*S REWPiFHl Blank oiled ‘PAFS##*S
2G4 AISI 316L :GFCH*S—XX 2454 AISI 316L PAFS*R*S-XX
e iR R+&% dimension A %ﬂzﬂg% A i Ra+2% dimension Ll B %ﬂzﬂg%
Size Type Wt [ A Size Typo WgH_bolt [ ow Wt | R
(inch) A B C D E F H I M| (ka) [(kgicm?) (inch) A [B]JcC[D[ETJFIHJITK M_[ U (kg) |(kglcm?)
12" | GFc3o1s | 21.60 15 38.10 54 17.48 46 10 3 M8 | 013 | 40 A% 3000 psi
@& | orcaozs | 2720 P Py pe 55158 - i 4 w0 | oz 1 20 172" | PAFs301s [21.60 | 13 [38.10] 54 [17.48 | 46 | 19 [14.2] 85 | Msx40 | 516x11/2] 18.66x3.53 | 0.22 | 350
3/4" | PAFS302S |27.00 | 19 |47.63| 65 | 2223 | 52 | 19 [14.2[10.5| M10x40 | 3/8x11/2 | 25.00x3.53 | 0.29 | 350
" GFC303S 34.00 29 52.37 70 26.19 60 12 4 Mo | 022 [ 40
1" | PAFS303s |34.00 | 25 | 5237 | 70 [ 26.19 | 59 [22.4| 16 [10.5| M10x45 | 3/8x13/4 | 32.92x3.53 | 0.40 | 315
114" | cFc3nds | 4280 o ks o 5018 68 12 o M0 | 031 ] 40 114" | PAFS304S | 42.80 | 32 | 58.72 | 79 | 3018 | 73 | 24 |17.5|11.5| M10xa5 | 7/16x13/4 | 37.70x353 | 0.57 | 250
11/2" | GFC3058 | 4860 42 69.85 93 3571 78 15 4 mM12 | 050 | 40 11/2" | PAFS305S | 48.60 | 38 | 69.85| 94 [ 3571 83 | 30 | 19 [13.5| M12x60 | 1/2x2 1/4 | 47.22x3.53 | 0.99 | 200
P GFC306S 61.00 53 77.77 102 42.88 90 15 4 M12 0.59 40 2" PAFS306S | 61.00 | 51 | 77.77 | 102 | 42.88 | 97 | 35 [22.2(13.5| M12x65 | 1/2x2 1/2 | 56.75x3.53 | 1.33 200
212" | GFc307s . P B850 o — 105 5 1 wiz | o2 | 4 21/2" | PAFS307S | 73.60 | 63 | 88.90 | 114 | 50.80 | 109 [44.5|25.4| 135 | M12X70 | 1/2x2 3/4 | 69.45X3.53 | 2.08 | 160
3" | PAFS308s |90.50 | 76 [106.38] 135 | 61.93 | 131 | 54 |31.7[17.5| M16x90 | 5/8x3 1/2 | 85.32x3.53 | 3.44 | 138
3" GFC308S8 90.50 80 10638 | 134 61.93 124 20 5 mi6 | 125 [ 40 -
HER% 6000 psi
31/2" | GFC309S | 10300 | 93 | 12085 | 152 | 69.85 | 136 20 o Mg | 162 | 35 112" | PAFS601S | 21.60 | 13 | 40.49 | 58 | 18.24 | 49 |31.8]14.2] 8.5 | M8x50 | 5/16x2 | 18.66x3.53 | 0.46 | 400
4 GFC310s | 11550 [ 105 | 130.18 | 162 77.77 146 25 6 Mi6 | 215 | 35 3/4" | PAFS602S | 27.00 | 19 |50.80 | 75 | 23.80 | 63 [31.8]14.2[105| M10x50 | 3/8x2 | 25.00x3.53 | 0.78 | 400
5" GFC311S 142.00 126 152.40 190 92.08 170 28 8 M16 3.10 35 1" PAFS603S | 34.00 | 25 | 57.15| 81 | 27.76 | 70 | 38 | 16 | 13 | M12x65 | 7/16x2 1/2| 32.92x3.53 | 1.03 400
. — 11/4" | PAFs604s | 42.80 | 32 [ 66.68 | 95 [31.75| 78 | 38 [17.5[14.5| M14x65 37.70x3.53 | 1.34 | 400
iTHR UL Specification: i
o 11/4" [PAFS604S-12| 42.80 | 32 [66.68 | 95 [31.75| 78 | 38 [17.5(135] 1/2x2 1/2 | 37.70x3.53 | 1.34 | 400
1 DUTAZ Flange only: GFC3018, GFC301S-XX 11/2" | PAFS605S | 48.60 | 38 [79.38 | 113 [ 36.50 | 95 |44.5( 19 [17.5| M16x75 | 5/8x3 | 47.22x3.53 | 2.26 | 400
2. AFC-S 5 GFC-SE AT AFC-S and GFC-S assembled: DFC301S, DFC301S-XX = e LT R P P B TR "7 4" = sl e -
3. AT HLUNCHEZFLI: 2, 755y GFC-SU: UNC thread flange also available, part No. will be GFC-SU PAFS606S [61.00 | 51 |/96.82 | 133) 4445 522, K75 Six3 | S675A58 [3.05 0
2172 | PAFS607S | 73.60 | 63 [123.83] 174 | 58.73 | 149 [52.3|25.4 | 25 | M24x90 69.45X3.53 | 6.63 | 400
3" | PAFS608S | 90.50 | 76 [152.40] 216 | 71.43 | 178 |66.5|31.7| 32 | M30x120 85.32x3.53 | 12.37 | 400

T ¥H Specification:

1. f¥iT#:2% Flange only: PAFS301S, PAFS301S-XX

2. VR AL A HIIRKE KO, IN/5 45 M: PAFS301SM, PAFS301SM-XX (At 25#14#: PAFS301SU, PAFS301SU-XX)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

3. PAFS-S 5 PGFS-SHL & T lijH PAFS-S and PGFS-S assembled: PDFS301S, PDFS301S-XX



(RN

kezares

m
/
7
e a
=)
A
3
A

ISP &
N
\J) <] 4
NN ~~] oK
30° .
M(U) kL (Material)
AFS--T 1. B4RQ3458, carbon steel Q3458
daxs IR Blank oiled AFSHRRT
PGFS--S (Metric thread) A IREIALRT (MR xBERD |, FE@H RO T fUR 30° 2R AISI 321/304 (AFSHRRFT-X
TR . REARFTFI R A FIARERUAS , o ATARYE F P EERAT o 3B AISI 316L [AFSFRT-XX
- UNC thread| Jai 8
PGFS SU (¢ ) M*“l’ (Matenal) %iz% B R85 dimension [ bosﬁﬁil’ﬁﬁl %f %’ETK§
. 3 il MAX.W.P
1.&’6}1‘034553 carbon §(eel Q345B (inch)| ~ Type xS [l c o]l EJFlGlHIK VI 1] |9?W 0-MIg| (kg) | (kgicem?)
KRB Blank oiled :PGFS*¥*S %751 3000 psi
2540 AISI 316L PGFSHHS—-XX 5 psi
" 16x2.5, 20x3, 21.6x2.6
A —_ SFEH  dimension %\% FES 12" | AFS301T [18:2520 13 [38.10( 54 |17.48| 46 [ 36 |16 | 9 | M8x30 |5/16x1 1/4|18.66x3.53|0.25| 350
(inch) Type A B c | o0 | E [ F [HJ T [ mMJ]u |k (k’;ﬁ‘r’r“’ﬂ 3/4" [ AFs302T |326. 2555 19 |47.63| 65 |22.23| 50 | 36 | 18 | 11 [ M10x35 | 3/8x1 1/2 | 25.00x3.53 | 0.39 [ 350
% %% 3000 psi 1" | AFS303T (284033732 38186 | 95 152.37| 70 | 26.19| 55 [ 38 [ 18 | 11 [ M10x35 | 3/8x1 1/2 [ 32.92x3.53 | 0.46 | 315
U2 | PGRS301S | 2160 | 13 | 380 | 54 | 1748 | 46 19 | 142 | M8 [ 516 | 023 | 350 114" | AFS304T [39,38G, 12405 32 |58.72[ 79 [30.18| 68 | 41| 21 [11.5| M10x40 |7/16x1 12| 37.70x3.53 [ 0.66 | 250
3/4" | PGFS302S | 27.00 19 47.63 65 2223 52 19 142 | M10 | 3/8 | 032 | 350
- 11/2"| AFS305T |38%.524x32 48.956,483x4.5 | 38 | 69.85| 93 | 35.71| 78 | 45 | 25 |13.5| M12x45 | 1/2x1 3/4 | 47.22x3.53| 1.05 | 200
1 PGFS303S | 34.00 25 52.37 70 26.19 59 224 16 M10 | 3/8 | 043 | 315 g 00
114" | PGFS304S | 4280 | 32 | 5872 | 79 | 3018 | 73 | 24 | 175 | M10 | 7/16 | 061 | 250 2 | AFs306T 883538 8385 88 bnes | 51|77.77|102|42.88) 90 | 45| 25 [13.5| M12x45 | 1/2x1 3/4 | 56.75x3.53| 1.19 | 200
11/2" | PGFS305S | 48.60 38 69.85 94 35.71 83 30 19 M12 | 172 | 1.06 | 200 21/2"| AFS307T [135.3 780 oo 10t 63 [88.90114]50.80| 105 | 50 | 25 |13.5| M12x45 | 1/2x1 3/4 | 69.45x3.53 | 1.40 | 160
2" | PGFS306S | 61.00 51 7777 | 102 | 4288 o7 35 222 | m12 | 12 | 141 | 200 o | AFssoeT |[54ne es 890 73 [106.38|1135| 61.93 | 124 | 50 | 27 | 17 | M16x50 | 5i8x2 | 85.32x3.53| 2.15| 138
21/2" | PGFS307S | 73.60 63 8890 | 114 | 5080 | 109 | 445 | 254 | M12 | 12 | 218 | 160
31/2"| AFS309T |9xe,90x4, 103<7.1 89 [120.65152| 69.85| 136 [ 48 | 27 | 17 | M16x50 | 5/8x2 [98.02x3.53|2.40( 35
3" | PGFS308S | 90.50 76 | 10638 | 135 | 6193 [ 131 54 317 | M6 | 58 | 359 | 138
HER%| 6000 psi 4" | AFS310T |114.3x6, 115.5:8.3 99 [130.18]162| 77.77 | 146 | 48 | 27 | 17 [ M16x50 | 5/8x2 [110.72x3.53| 2.85| 35
12" | PGFS601S | 21.60 13 40.49 58 18.24 49 318 | 142 | M8 | 516 | 049 | 400 5" | AFS311T [t40x45, 14065, 141x105 127[152.40[184|92.08| 180 | 50 | 28 | 17 | M16x55 | 5/8x2 [136.12x3.53| 4.00| 35
34" | PGFS602S | 27.00 19 50.80 75 23.80 63 318 | 142 | M10 | 38 | 083 | 400 ##5] 6000 psi
1" | PGFSB03S | 34.00 | 25 | 57.15 81 2776 | 70 38 16 | M12 | 7716 | 111 | 400 172" | AFSB01T |16x25, 1813, 22x4.5 13 [40.49| 56 [18.24| 48 | 36 | 16 | 9 | M8x30 |5/16x1 1/4|18.66x3.53 | 0.26 | 400
11/4" | PGFS604S | 42.80 32 66.68 95 31.75 78 38 175 | M14 | 12 | 142 | 400
3/4" | AFSB02T |305.78 S8 58 19 [50.80| 71 |23.80( 55 [ 36 | 21| 11 [ M10x35 | 3/8x1 1/2 [ 25.00x3.53| 0.50 | 400
11/2" | PGFS605S | 48.60 38 7938 | 113 | 36.50 95 4.5 19 M16 | 58 | 238 | 400 —
) x, 30x, 33,74
> | PGFseoos | 61.00 7 o8z | 133 | 235 | 112 | a5 | 22 | wzo [ 23 | 320 | a0 1" | AFSB03T |34 04 S 563 2557.15 81|27.76| 65 [ 42| 25| 13 | M12x45 |7/16x1 3/4| 32.92x3.53 | 0.76 | 400
21/2" | PGFS607S | 73.60 63 123.83 | 174 58.73 149 | 523 | 254 | M24 | - | 685 | 400 11/4" | AFSB04T |30, 306, 4200, 424703 32)66.68| 95 |31.75| 78 | 45| 27 [ 15 [ M14x50 - |37.70x3.53| 1.20 | 400
3" | PGFS608S | 90.50 76 | 15240 | 216 | 7143 | 178 | 665 | 317 | M30 | -- | 1287 | 400 11/4" |AFSB04T-12]30¢, 3946, 12455, 42.4x6.3 32|66.68(95|31.75| 78 [ 45|27 |135| -~ | 1/2x13/4 [37.70x3.53|1.20 | 400
TR YLH Specification: 11/2"| AFSBO05T |396.403x7.1, 483385, 46.5x103 38 | 79.38112| 36.50| 94 | 50 | 30 | 17 | M16x55 [ 5/8x2 |47.22x3.53(1.65 | 400
ST yE .
L. f2i7# Flange only: 2" | AFSBOGT [F200.805411 6055609 | 51 | 06.82|134|44.45| 114 g—gg—g 21 [ M20x70 | 3/4x2 172 | 56.75x3.53 | 3.15 | 400
AHIIRECFLIT (Metric thread) : PGFS301S, PGFS301S-X —
UNCIZZILIT (UNC thread) : PGFS301SU, PGFS301SU-X 21/2" AFSBO7T |73x05. 76.1x125, 89x11,89x14.2 63 [123.83(18058.73 152 [ 80 [ 45| 26 |M24x85| -  [75.57x5.33|8.30 400
3" | AFs608T [soxtt,0xi2 73 [152.40[208| 71.43[ 178 | 90 | 55 | 32 |M30x100] - [88.27x5.33|13.5| 400

iTHR 8 Specification:

1. fUiT¥:2 Flange only: AFS301T-22x3, AFS301T-22x3-X

2. 2 A iR KO 1 : AFS301TM-22x3, AFS301TM-22x3-X (At £ ##E 4% : AFS301TU-22x3-X)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

3. AFS-T5GFS-TFL K E 1T Wi AFS-T and GFS-T assembled: DFS301T-22x3, DFS301T-22x3-X

— 58 -— - 59 -—



Y
2 | | |
q T | A
ﬂ = DY~ 1D
o % e %)
8| \ L
B s AN\ SR 722\
é N\ V%
w || ==
H C
L1 D
AFW--T % (Material)
1. B4#9Q345B, carbon steel Q345B
daxs KRB Blank oiled ARk T
IR ARALR T (SR xBERD , (RIS TR 30° 24540 AISI 321/304 (AFWHRFT-X
PO . BEARPTEI AR FIARERRS , AT 2 BERAT 3R AISI 316L [AFWHRKT-XX
4 . imensi PO wE | B K
Size %yi R+5% dimension B bolt IO%E o Wt I&%)é
(inch) daxs [B] c D] EJH[K]L]L2 M [ u | (K9) | (kglem?)
% Z%] 3000 psi
12" | AFW301T |22x3, 22045 13 |38.10( 54 [17.48( 16 | 9 | 20 | 37 | M8x30 |5/16x1 1/4[18.66x3.53|0.33 | 350
3/4" | AFW302T |27.2¢4,28x4,30, 35| 19 [47.63[ 65 [22.23] 18 | 11 | 24 | 39 [ M10x35 [ 3/8x1 1/2 | 25.00x3.53 | 0.49 | 350
1" | AFW303T |30x, 35 25 [52.37( 70 |26.19] 19 | 11 | 28 [ 44 [ M10x35 | 3/8x1 1/2 | 32.92x3.53 | 0.66 | 315
11/4" | AFW304T |81, 42.4x¢, 428x5.4 | 32 |58.72| 79 [30.18( 21 [11.5] 34 | 52 | M10xd0 [7/16x1 1/2[ 37.70x3.53 | 1.20 [ 250
172" | AFW305T |5 J6es 38 [69.85| 93 | 35.71( 25 [13.5| 38 [ 57 [ M12x5 | 1/2x1 3/4 | 47.22x3.53( 1.65 | 200
2" | AFW306T [s0.3x4,603:6,61 | 51 77.77(102|42.88] 25 |13.5| 42 | 65 | M12x45 | 1/2x1 3/4 | 56.75x3.53 [ 2.00 | 200
21/2" | AFW307T [77x7.4,77x85,77x10 | 60 [88.90[115|50.80| 25 |13.5| 50 | 77 [ M12x45 [ 1/2x1 3/4 | 69.45x3.53| 2.95 | 160
HER%] 6000 psi
172" | AFWB01T |01, 2204 13 |40.49| 56 [18.24( 16 | 9 | 20 | 38 | m8x30 |5/16x1 1/4]18.66x3.53|0.35| 400
3/4" | AFW602T |25w,26.9x,28xa5 | 19 [50.80( 71 [23.80| 19 | 11 | 28 | 43 [ M10x35 [ 3/8x1 1/2 | 25.00x3.53 | 0.70 | 400
1" | AFWB0ST (30633045 25 |57.15| 79 |27.76| 21 [ 13 | 34 [ 51 | M12x40 |7/16x1 3/4| 32.92x3.53 [ 1.00 | 400
174" [ AFWB04T 354380 54 32 |66.68| 93 [31.75| 25 | 15 | 38 [ 56 [ M14x45 - |37.70x3.53(1.40| 400
11/4" | AFWB04T-12 | 3350385, o 4 32 |e6.68| 93 |31.75| 25 |13.5( 38 | 56 — | 1/2x13/4 [37.70x3.53 | 1.40 [ 400
11/2" [ AFWB05T |48, 48.6x53.506 | 38 |79.38[110 [36.50( 25 | 17 | 42 | 65 | M16x50 | 5/8x2 [ 47.22x3.53 | 2.80 [ 400
2" | AFWE06T [soaxio.6ns6me | 51 [96.82(134 |44.45] 33 | 21 | 45 | 75 | M20x65 | 3/4x2 1/2 | 56.75x3.53 [ 4.00 | 400

G D
H C
[— o
i
e D D
9 " B = f\ g
A1 I
| &J oD
1222 U
i
~| M(U)
30°
GFS--T (Metric thread) ¥k (Material)
1. %49Q345B, carbon steel Q345B
- UNC thread
daxs GFS--TU < — RIARBHN Blankolled  (GFSHT
ISR (SMExBER) |, 7EE W L T BUR30° 2. 78540 AISI 321/304 (GFS**T-X
SR . REATERA RIARERIRE, ARG A P ZRAT 3R AISI 316L (GFS**T-XX
3 y : jimensi EE | B, X
il grg = R-&% dimension i d‘;&r\%
(inch) ype daxs [ Bl c o]l EJTFle]lH]IMT]uU (ka) | {kgjem?)
% %% 3000 psi
12" | GFS301T |19:25,20:3. 21.626 13 [ 3810 | 54 [ 1748 | 46 | 36 | 16 | M8 | 516 | 025 | 350
3/4" | GFS302T |35 250 19 | 4763 | 65 [ 2223 | 50 [ 36 | 18 | M10 | 38 | 039 [ 350
1" | GFS303T [35x 2% 3732, 33.7x3.6 25 | 5237 | 70 | 2619 | 55 | 38 | 18 | M10 [ 3/8 | 046 | 315
11/4" | GFS304T |35 385, 12036 32 [ 5872 | 79 | 3018 | 68 | 41 | 21 | m10 | 716 | 066 | 250
11/2" | GFS305T [38%55 40 2,45-33.8. 48.3x4.5 38 6985 | 93 | 3571 | 78 | 45 | 25 | m12 [ 12 | 1.05 | 200
2" | GFS306T [$53:32 80532 8034 w65 51 | 77.77 | 102 | 4288 | 90 | 45 | 25 | m12 [ 12 | 119 | 200
21/2" | GFS307T |15 3 o 5. 77x7 63 | 88.90 | 114 | 50.80 [ 105 | 50 | 25 | m12 | 12 | 140 | 160
3" | GFS308T |75 Sk 89x5.5. 808 73 [106.38 | 135 | 6193 | 124 | 50 | 27 | m16 | 58 | 215 | 138
31/2" | GFS309T |89x4, 90x4, 103¢7.1 89 |120.65| 152 | 69.85 | 136 | 48 | 27 | M16 | 58 | 240 | 35
4" | GFS310T |114.3%6, 115.5%6.3 99 |130.18| 162 | 77.77 | 146 | 48 | 27 | M16 | 58 | 285 | 35
5" | GFS311T |140x4.5, 140x65, 141x10.5 127 | 15240 | 184 | 92.08 | 180 | 50 | 28 | m16 | 58 | 400 [ 35
HER%] 6000 psi
112" | GFSB01T |16x25, 1843, 22x4.5 13 | 4049 | 56 | 1824 | 48 | 36 [ 16 [ m8 | 5116 | 0.26 | 400
3/4" | GFSB02T |26 285 22956 19 | 5080 | 71 | 2380 | 55 | 36 | 21 | m1o [ 38 | 050 | 400
1" | GFSBO3T [ T st 563 25 | 5715 | 81 | 2776 | 65 | 42 | 25 | m12 | 716 | 0.76 | 400
11/4" | GFSBOAT |30 380, 1255, 42463 32 [e668 | 95 | 3175 | 78 | 45 | 27 | m14 [ 12 | 120 | 400
11/2" | GFSBO5T [3965 8300 tp s 483102 38 | 7938 [ 112 | 36550 [ 94 | 50 | 30 | M16 | 58 [ 1.65 | 400
" 60.3x10, 60.3x11.1, 61x5.5, 61x9 65 37
2" | GFS606T e rssenms | 51 | 9682 | 134 | 4445 | 114 [—g=——57— M20 | 34 | 315 | 400
21/2" | GFS607T |73x9.5, 76.1x12.5, 89x11, 89x14.2 63 |12383| 180 | 58.73 | 152 | 80 | 45 | M24 | - | 830 | 400
3" | GFs608T |sextt, sox12 73 | 15240 | 208 | 71.43 | 178 | 90 | 55 | M30 | - | 135 | 400

iTHR LB Specification:
1. f0iT#:% Flange only:

AflSREFLI (Metric thread) : GFS301T-22x3, GFS301T-22x3-X
UNCH#24: 7L (UNC thread) : GFS301TU-22x3, GFS301TU-22x3-X

— 60

iT#R 8 Specification:

1. 103T¥#:2% Flange only: AFW301T-22x4, AFW301T-22x4-X

2. P22 A il K OFE B : AFW301TM-22x4, AFW301TM-22x4-X (Bt fllig 12 : AFW301TU-22x4-X)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



#da

S D
/ 8
7 c
A .
=T I~
o N\ \¥2/
Wl
Ve _ ~
D D
4\,A (D D) Wz N
D\ VY el 4
L)
U/ oK
JAR D AFC--L
[§ \J)
{ 1 EFXTEEA T, WIE FMARE 22 i AFC--L,
oK | B /> i
URMERE, MPBHERE. AFC 8 (Material)
H c Shipping plate AFC--L will be available for the 1. F:41Q3458, carbon steel Q3458
L1 D Zero pressure situation to reduce the cost and LHWBIEH Blank oiled [AFCHbk
the weight. HIMCr+3(94E Cr+3 white zinked:AFC*¥*-CFX
REFHEE 4 Ni-Zn zinked {AFCHrx-ZN
21540 AISI 316L AFCHrk-XX
ﬁgiz% o5 R+&8% dimension T Dot EHETE %\% %ﬂ;g%
N . 3 T WA il MAX.W.P|
AGW--T # kL (Material) (inchy | TP c [ o [ E [ F [ H K M| U W 0ig | (k9) |(kgiom?)
1. T#4NQ345B, carbon steel Q3458 ®%%5] 3000 psi
W 7l Blank oiled (AGWHRKT
daxs zfgg Kf\zfﬁm Hoa RGN 12" | AFC301 | 3810 | 54 | 1748 | 46 16 9 M8x30 |5/16x11/4| 18.66x3.53 | 022 | 350
A EWMAARALR A SRR , HRBHL TR0 . AGWHT 3/4" c 4763 | 65 | 2223 | 50 16 11 | M10x35 | 3/8x11/2 | 25.00x353 | 0.30 | 350
PRI . RERFTFIIRA ARSI, 0 ATARYE R P SR T 3 AN AISI 316L AGWHRT-XX AFC302 : - X S mndl :
W i R<#%  dimension wx B, % 1 AFC303 | 5237 | 70 | 2619 | 60 19 11 | M10x35 | 3/8x11/2 | 32.92x353 | 045 | 315
Size ;Kl'_ypji W | AW 114" | AFC304 | 5872 | 79 | 3018 | 68 18 | 115 | M10x40 |7116x11/2| 37.70x353 | 056 | 250
inch
i e I e l 2 ’ : ’ f | K l £ I £ (k) |(kgfom?) 112" | AFC305 | 6985 | 93 | 3571 | 78 20 | 135 | M12xa5 | 1/2x13/4 | 47.22x353 | 0.86 | 200
#A% 3000 psi 2" AFC306 | 77.77 | 102 | 4288 | 90 20 135 | M12x45 | 1/2x13/4 | 56.75x3.53 | 1.11 | 200
12 | AcwaorT |23 224s 38.10 56 17.48 20 9 2 50 07 | 350 21/2" | AFC307 | 8890 | 114 | 5080 | 105 20 | 135 | M12xa5 |1/2x13/4 | 69.45x3.53 | 148 | 160
e 3" AFC308 | 106.38 | 134 | 61.93 | 124 24 | 175 | M16x50 | 5/8x2 | 8532x353 | 248 | 138
3/4" | AGW302T 47.63 n 223 2 " 39 60 1.0 [ 350 312 | AFC309 | 12065 | 152 | 69.85 | 136 22 | 175 | M16x50 | 58x2 | 98.02x353 | 286 | 35
| acwaoar | —— . 5,45 5 7 P 7 g | 3 4 AFC310 | 13018 | 162 | 77.77 | 146 25 | 175 | M16x50 | 5/8x2 | 110.72x353 | 3.77 | 35
5" AFC311 | 15240 | 190 | 92.08 | 170 28 | 175 | M16x55 | 5/8x2 | 136.12x353 | 590 | 35
114" | AGW304T | Sograz®d 58.72 95 30.18 32 15 545 75 25 | 250 A5 6000 psi
prs Py 5 - % | o0 12" | AFC601 | 4049 | 56 | 1824 | 48 16 9 M8x30 |5/16x11/4| 18.66x3.53 | 023 | 400
" | AGW305T o | 69.85 112 35.71 38 135 :
ARS8, 3/4" | AFCe02 | 5080 | 71 | 23.80 | 60 19 11 | M10x35 | a/8x11/2 | 25.00x353 | 046 | 400
HEHR5] 6000 psi 1" AFC603 | 57.15 | 81 | 27.76 | 70 24 13 | M12x45 | 7/16x1 3/4| 32.92x353 | 077 | 400
12 | acweort |22 40149 - 18124 2 5 a2 - o7 | o0 11/4" | AFC604 | 6668 | 95 | 3175 | 78 27 15 | M14x50 37.70x353 | 1.15 | 400
— 11/4" | AFC604-12 | 6668 | 95 | 3175 | 78 27 | 135 — | t2x13/4 | 37.70x353 | 117 | 400
. 260
3/4" | AGW602T 50.80 4 23.80 24 " 39 60 1.0 400 112" | AFceos | 79.38 | 112 | 36.50 94 30 17 M16x50 | 5/8x2 | 47.22x3.53 | 1.82 | 400
o, 355 2" | AFCe06* | 96.82 | 134 | 4445 | 114 28 21 | M20x65 | 3/4x21/2 | 56.75x3.53 | 243 | 400
1 | AGWB03T 57.15 81 27.76 28 13 46 70 14 | 400
212" | AFCG07 | 12383 | 180 | 58.73 | 152 45 26 | M24x80 7557x5.33 | 7.25 | 400
114" |AGWB04T oyl 66.68 95 31.75 32 * 545 75 25 | 400 3" AFC608 | 15240 | 208 | 7143 | 178 55 32 | M30x100 |  — 88.27x5.33 | 11.76 | 400
wige =353 i = i
112" | AGW605T | s *%°°| 7038 112 36.50 38 17 64 % 38 | 400 %7 i P fEH=356%Lt For this part H=35 also can be supplied
iT#UiH Specification:
T H W Specification: 1. f0iT#:2% Flange only: AFC301, AFC301-XX, AFC301L, AFC301L-XX
1. T2 Flange only: AGW301T-22x3, AGW301T-22x3-X 2. VA BIEAS R OTERE, N5 % M: AFC301M, AFC301M-XX (B2 31848 : AFC301U, AFC301U-XX)

Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

- 62 — - 63 —



_H_ -
o]
el yany D
—— N~ U
L
D
7
M(U)
GFC-- (Metric thread) B (M ial)
GFC--U  (uncthread) 1. Bﬁ@musg,t ezla?bon steel Q3458
ARAYPI M Blank oiled :GFCH¥*
KCr+3(94% Cr+3 white zinked:GFC*¥+.CFX
KEEEE4 Ni-Zn zinked :GFC##++-ZN
28554 AISI 316L (GFC¥*k-XX
e 5 R+&% dimension L %ﬂ; E;S
Gy | e k) | By
C D E [ F H [ M U (kg) | (kglem?)
®%Z&%| 3000 psi
172" GFC301 38.10 54 17.48 46 16 m8 5/16 0.24 350
34" GFC302 47.63 65 2223 50 16 M10 3/8 0.32 350
1" GFC303 52.37 70 26.19 60 19 M10 3/8 0.48 315
114" | GFC304 58.72 79 30.18 68 18 M10 716 0.61 250
112" | GFC305 69.85 93 35.71 78 20 M12 112 0.92 200
2" GFC306 7777 102 42.88 90 20 M12 172 1.17 200
21/2" | GFC307 88.90 114 50.80 105 20 M12 172 1.54 160
3 GFC308 106.38 134 61.93 124 24 M16 5/8 2,57 138
31/2' | GFC309 120.65 152 69.85 136 22 M16 5/8 2.96 35
4 GFC310 130.18 162 77.77 146 25 M16 5/8 3.87 35
5" GFC311 152.40 190 92.08 170 28 M16 5/8 6.00 35
HA%| 6000 psi
172" GFCB01 40.49 56 18.24 48 16 M8 5/16 0.26 400
3/4" GFC602 50.80 71 23.80 60 19 M10 3/8 0.49 400
1 GFC603 57.15 81 27.76 70 24 M12 7116 0.83 400
11/4" | GFC604 66.68 95 31.75 78 27 M14 172 1.23 400
112" |  GFC605 79.38 112 36.50 94 30 M16 5/8 1.91 400
2 GFC606* 96.82 134 44.45 114 28 M20 3/4 253 400
21/2" | GFC607 123.83 180 58.73 152 45 M24 7.55 400
3" GFC608 152.40 208 71.43 178 55 M30 12.12 400

*i%7 W] it H=35##% For this part H=35 also can be supplied

iT#R B Specification:

L. fUiT¥#: Flange only:
AHIRSCFLE (Metric thread) : GFC301, GFC301-X
UNCHZZFLAY (UNC thread) : GFC301U, GFC301U-X

P N, )
R J J
= ! W
D \ ——j 7D
&+
™~ /
#k (Material)
GFC--M-- 1. %49Q345B, carbon steel Q3458
REWB il Blank oiled “GFCH++-M
KM Cr+3A%: Cr+3 white zinked:GFC***-M—-CFX
KEHRE S Ni-Zn zinked :GFCHrkM--ZN
2 K540 AISI 316L “GFCHF*-M--XX
%Jg e R+5% dimension %V%
. 1
(inch) e M c D [ E ] F H M, (kg)
% %% 3000 psi
GFC301-M30x2 M30x2 56 48 13 0.15
172" 38.10 17.48 M8
GFC301-M32x1.5 | M32x1.5 54 46 16 0.14
GFC302-M39x2 M39x2 65 50 14 0.17
3/4" 47.63 2223 M10
GFC302-M39x1.5 | M39x1.5 65 52 18 0.22
GFC303-M45x2 M45x2 70 60 16 0.25
" 52.37 26.19 M10
GFC303-M46x1.5 | M46x1.5 70 59 19 0.27
GFC304-M52x3 M52x3 79 68 16 M12 0.31
11/4" 58.72 30.18
GFC304-M52x2 M52x2 79 73 21 M10 0.42
GFC305-M64x3 M64x3 93 78 16 0.39
172" 69.85 35.71 M12
GFC305-M62x2 M62x2 94 83 25 0.66
GFC306-M72x3 M72x3 102 2 16 0.46
2 7777 42.88 M12
GFC306-M72x2 M72x2 102 97 26 0.83
21/2" | GFC307-M85x3 M85x3 88.90 14 50.80 105 19 M12 0.66
EZR% 6000 psi
GFC601-M30x2 M30x2
172" 40.49 56 18.24 48 16 M8 0.18
GFC601-M32x1.5 | M32x1.5
GFC602-M39x2 M39x2
3/4" 50.80 7 23.80 60 19 M10 0.33
GFCB02-M39x1.5 | M39x1.5
GFC603-M45x2 M45x2
" 57.15 81 27.76 70 24 M12 0.55
GFC603-M46x1.5 | M46x1.5
GFC604-M52x3 M52x3
11/4" 66.68 95 31.75 78 27 M14 0.82
GFC604-M52x2 M52x2
GFC605-M64x3 M64x3
172" 79.38 112 36.50 % 30 M16 1.21
GFC605-M62x2 M62x2
2" | GFC606-M72x3 M72x3 96.82 134 44.45 114 35 M20 2.15

iTH B Specification:
L AXiT#:2 Flange only: GFC301-M30x2, GFC301-M30x2-XX

— 65




1<Hoy
vz7 &
g o| o
AFC--G1/4
#EL (Material)
1. 1%49Q345B, carbon steel Q3458

AHEM10x1. NPT1/4, SAE4#IEFLE,

7= A5 A AFC--M10x1. AFC--N1/4. AFC--SAE4
Test Point M10x1,NPT1/4,SAE4# also can be supplied,
Part No. AFC—-M10x1. AFC--N1/4, AFC--SAE4

K45 Blank oiled AFCH¥*-G1/4

HKECr+3H%4E Cr+3 white zinked:AFC***-G1/4--CFX

REFHEES Ni-Zn zinked AFCH¥*-G1/4--ZN
2447 AISI 316L AFCH®%.G1/4--XX

%i;g B2 R&% dimension TCH B %‘% %ﬂ: E%
(inch) | Tyee c | o | E | F [ H J K B bot | o orng | (K9) [ kerendy
%% 3000 psi
1/2" | AFC301-G1/4| 38.10 54 17.48 46 16 9 M8x30 18.66x3.53 0.20 350
3/4" | AFC302-G1/4| 47.63 65 22.23 50 16 1 M10x35 25.00x3.53 0.28 350
1" AFC303-G1/4| 52.37 70 26.19 60 19 1 M10x35 32.92x3.53 0.43 315
11/4" | AFC304-G1/4| 58.72 79 30.18 68 18 11.5 M10x40 37.70x3.53 0.54 250
112" | AFC305-G1/4| 69.85 93 35.71 78 20 135 | M12xd5 | 47.22x353 | 0.84 | 200
2" | AFC306-G1/4| 77.77 102 42.88 90 20 135 | M12x45 | 56.75x353 | 1.09 | 200
21/2" | AFC307-G1/4| 88.90 114 50.80 105 20 135 | M12x45 | 69.45X353 | 146 | 160
3" AFC308-G1/4| 106.38 134 61.93 124 24 17.5 M16x50 85.32x3.53 246 138
31/2" | AFC309-G1/4| 120.65 152 69.85 136 22 17.5 M16x50 98.02x3.53 2.84 35
4" | AFC310-G1/4| 130.18 162 77.77 146 25 175 | M16x50 | 110.72x3.53 | 3.75 35
5" AFC311-G1/4| 152.40 190 92.08 170 28 17.5 M16x55 136.12x3.53 5.88 35
HEAR%] 6000 psi
1/2" | AFC601-G1/4| 40.49 56 18.24 48 16 9 M8x30 18.66x3.53 0.21 400
3/4" | AFC602-G1/4| 50.80 7" 23.80 60 19 1 M10x35 25.00x3.53 0.44 400
1" AFC603-G1/4| 57.15 81 27.76 70 24 13 M12x45 32.92x3.53 0.75 400
11/4" | AFC604-G1/4| 66.68 95 31.75 78 27 15 M14x50 37.70x3.53 1.13 400
11/2" | AFC605-G1/4| 79.38 112 36.50 94 30 17 M16x50 47.22x3.53 1.80 400
2" |AFC606-G1/4*| 96.82 134 44.45 114 28* 21 M20x65 56.75x3.53 2.40 400
21/2" | AFC607-G1/4| 123.83 180 58.73 152 45 26 M24x80 75.57x5.33 7.23 400

M
v D D
N
c c
HHH HIH
D o i P
S (\\ “1 ()
—— Y,
9B 9B
oK oK| =1 i
Form A Form B
AGL--G1/4
% (Material)
1. #4MQ345B/45#, carbon steel Q345B/C45
. pa RTEHRBE5H Blank oiled [AGL***-G1/4
ATHEM10x1. NPT1/4, SAE4#IIEFLE, FTMCr+3(9%4F Cr+3 white zinked:AGL¥***-G1/4--CFX
7454 AGL-M10x1. AGL--N1/4. AGL--SAE4 KEFHEE4E Ni-Zn zinked AGL¥**-G1/4--ZN
Test Point M10x1,NPT1/4,SAE4# also can be supplied, 2. R4540 AISI 321/304 :AGL¥*k-G1/4--X
Part No. AGL-M10x1. AGL-N1/4. AGL-SAE4 3R AISI 316L :AGL*¥+.G1/4--XX
M e R~t&% dimension Bz ?f’&E%
Size Type WE | AW P
(inch) Vi B [ c D | E_ | F [ H K (k@) | (kglem?)
% Z%| 3000 psi
172" | AGL301-G1/4 13 38.10 56 17.48 46 24 9 0.32 350
34" | AGL302-G1/4 19 47.63 65 2223 50 24 11 0.37 350
" AGL303-G1/4 25 52.37 71 26.19 60 24 11 0.47 315
11/4" | AGL304-G1/4 32 58.72 79 30.18 68 24 12,5 0.57 250
112" | AGL305-G1/4 38 69.85 93 35.71 78 24 135 0.80 200
2" | AGL306-G1/4 51 77.77 102 42.88 90 24 13.5 0.94 200
21/2" | AGL307-G1/4 63 88.90 114 50.80 105 25 13.5 1.22 160
3" | AGL308-G1/4 73 106.38 134 61.93 124 23 17.5 1.57 138
ER% 6000 psi
112" | AGL601-G1/4 13 40.49 56 18.24 46 24 9 0.32 400
314" | AGL602-G1/4 19 50.80 71 23.80 60 24 11 0.50 400
1" AGL603-G1/4 25 57.15 81 27.76 70 24 13 0.66 400
11/4" | AGL604-G1/4 32 66.68 96 31.75 80 24 15 0.86 400
112" | AGL605-G1/4 38 79.38 112 36.50 94 24 17 125 400
2" | AGL606-G1/4 51 96.82 134 44.45 114 24 21 1.69 400

*IZ%7= W] it H=35##% For this part H=35 also can be supplied

iT#R B Specification:

1. fiT¥#:2% Flange only: AFC301-G1/4, AFC301-G1/4-XX, AFC301-M10x1, AFC301-SAE4, AFC301-N1/4-XX

2. VEAEC A HIREE ROIEIE, )& %% M: AFC301-G1/4M, AFC301-G1/4M-XX (BC 3 #1iZ#2: AFC301-G1/4U)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

iTHR%B Specification:
1. fiI¥%:2% Flange only: AGL301-G1/4, AGL301-G1/4-X, AGL301-M10x1, AGL301-M10x1-X, AGL301-N1/4, AGL301-N1/4-X
AGL301-SAE4, AGL301-SAE4-X



H F F cD2
E1 E1
T T
fa\Wzar) N LY IR
NZA\ 1\ S n oY
A $ $ $’ 11 / -\ gl o~ ~ &
g 8 o5 4D [='k3) D YA o < o
4 % U A D 0. -
= m# N 4 © N sl TS Ot
2 WD G Il 1" /]
| s A\ o\ Ll L1
c2 c2 1 #B1
Form A Form B
X & FanY
2 // AN
\ —
G-AF kB i \ ML L-GD #El (Material)
Material N 1
1. 491Q345B/45#, carbon steel Q345B/C45 & | | T 1.@%%()3453{45#, carl?on steel Q345B/C45
KRB Blank oiled 1G-AF bk » R P Blank olled  :L-GD-¥k*
£THCr+3[14% Cr+3 white zinked:G-AF-*¥*-CFX i | i | | i | i RIMCr+3 114 C_r+3 w_hlts zinked: L-GD-¥**-CFX
KEHEE S Ni-Zn zinked :G-AF-#kkZN L L KEHEE4 Ni-Zn zinked : L-GD-#%x-ZN
2 R4 AISI 321/304 {G-AF-¥HEX 21441 AISI 321/304 : L-GD-%k-X
3R AlSI 316L {G-AF-HFEXX 3R AlSI 316L : L-GD-%bk-XX
T AT
A W g Rt8# dimension RO BE RS L £ RotB¥ dimension R Wt | L
3 MAX.W.P| i ype - W]
(inch) TP IgwBz2[ o1 [ c2 [ D | E1 [ E2 [ F [ A | K [ M | % vot [0 oving| (@) |kglom?) (inch) B1/B2][ C1 | C2 [ D | E1 | E2 [F [G] K | M | S1] 52 |k bolt|0%H oring| (k9) [(kgiem?)
i %51 3000 psi
%% 3000 psi
/212" | L-GD-301_| 13 [36.10]38.10] 55 [17.48]17.48] 5550 | 9 | M8 | 25 | 35 | MBx65 | 18.66x3.53] 1.00 | 350
3/4"112" |G-AF-302/301( 19113 47.63 | 38.10 | 67 [2223[ 1748 56 | 28 | 11 | M8 | M10x35 [ 25.00x3.53 | 061 | 350 3T Lonaor 1o 14763 a3 e 122232223 60 Teo 1 Twio T30 T30 Twiors 2500323120 320
1"-3/4" |G-AF-303/302| 25119 | 52.37 | 47.63 | 72 | 26.19 [ 2223 | 65 | 30 | 11 [M10 [ M10x35 | 32.92x353 | 0.84 | 315 3/4"-1/2"_|L-GD-302/301| 19/13 | 47.63| 38.10| 65 |22.23|17.48| 60 | 60 | 11 | M8 | 30 | 40 | M10x75 | 25.00x3.563 | 1.20 | 350
141" |G-AF-304/30332/25| 58.72 | 52.37 | 80 [30.18 [ 26.19| 70 | 30 |11.5|M10| M10xd0 | 37.70x353 | 1.00 | 250 1" | L-GD-303 | 25 15237]5237] 72 |2619]2619] 65|65 | 11 |M10] 33 | 40 | M10x60 | 52.92x3.53 | 1.90 | 315

1"-3/4" |L-GD-303/302| 25/19|52.37 | 47.63| 72 |26.19(22.23| 65 |65 | 11 | M10| 33 | 40 | M10x80 | 32.92x3.53| 1.90 | 315
11/4"-11/4"| L-GD-304 32 |58.72|58.72| 82 |30.1830.18| 82 [ 80 |11.5|M10| 39 | 38 | M10x95 | 37.70x3.53 | 3.50 | 250

11/2"-11/4"|G-AF-305/304( 38/32 | 69.85 | 58.72 | 95 | 35.71|30.18 | 80 | 30 | 13.5|M10 | M12x45 | 47.22x3.53 | 1.33 200

2"-11/2"|G-AF-306/305| 46/38 | 77.77 | 69.85 | 102 | 42.88 | 35.71 | 95 30 |13.5 | M12 | M12x45 | 56.75x3.53 1.75 200 11/4"-1" L-GD-304/303| 32/25 [ 58.72(52.37 | 82 (30.18/26.19| 80 | 80 |11.5(M10 | 39 | 38 [ M10X95 |37.70X3.53| 3.50 250
2'-11/4"|G-AF-306/304| 51/32 | 77.77 | 58.72 | 102 | 42.88 | 30.18 | 80 | 35 |13.5 [M10 | M12x45 | 56.75x3.53 | 1.70 | 200 11/2°-11/2"| L-GD-305 | 38 |69.85|69.85| 98 | 35.71]35.71| 92|92 |13.5| M12| 51 | 59 |M12x110]47.22x3.53| 5.00 | 200
—_— 11/2"-11/4"|L-GD-305/304] 38/32 | 69.85 [ 58.72] 98 [ 35.71[30.18[ 92 [ 92 [13.5[M10 [ 51 | 59 [M12x110[47.22x3.53| 5.00 [ 200
21/2"-2"  |G-AF-307/306| 63/51| 88.90 | 77.77 | 114 | 50.80 | 42.88 | 109 | 35 [13.5 | M12 | M12X45 | 69.45X3.53 | 2.08 | 160 T op306 | 46 (777717777 102 (22881 4285 85 67 1135 Wiz | 51 T 28 MiaxT10 56 75 53 750 | 200
21/2"-11/2"|G-AF-307/305| 63/38 | 88.90 | 69.85 | 114 | 50.80 | 35.71 | 109 | 35 | 13.5 | M12 | M12x45 | 69.45x3.53 | 2.22 160 2"-11/2"|L-GD-306/305| 51/38 | 77.77 | 69.85 | 102 | 42.88 [ 35.71] 85 [ 87 [ 13.5 [ M12 [ 51 [ 48 [M12x110 56.75x3.53 | 7.90 | 200
3"2"  |G-AF-308/306| 73/51|106.38| 77.77 | 140 | 61.93 | 42.88 | 114 | 40 | 17 [M12| M16x50 | 85.32x3.53 | 3.46 138 21/2"-21/2"| L-GD-307 63 |88.90(88.90(115)50.80|50.80|110({120|13.5| M12 | 60 | 65 |M12X140|69.45X3.53| 8.60 160
32112 |G-AF-308/307| 73/63 | 106.38| 88.90 | 140 | 61.93 | 50.80 | 114 | 40 | 17 | M12| M16x50 | 85.323.53 | 297 | 138 21/2"-2" _|L-GD-307/306| 63/51]88.90 [ 77.77 | 115 | 50.80 [ 42.88|110]120[13.5 [ M12 [ 60 | 65 [M12x140[69.45x3.53] 8.60 [ 160
: 3"-3" L-GD-308 | 73 [106.38[106.38 135 [ 61.93]61.93]150[135]17.5 [M16 [ 67 | 90 [M16x150] 85.32x3.53] 10.5 | 138
HARZ 6000 psi 3"-21/2"[L-GD-308/307] 73/63 [106.38[ 88.90 | 135 | 61.93]50.80 [150[135[17.5 [M12 | 67 [ 90 |M16X150] 85.32x3.53] 10.5 | 138

3/4"-1/2" |G-AF-602/601|19/13 | 50.80 | 40.49 | 70 | 23.80 | 18.24 | 56 | 28 | 11 | M8 | M10x35 | 25.00x3.53 | 0.68 | 400 #H R 6000 psi
3/4"-3/4" |G-AF-602/602| 19 |50.80 [ 50.80 | 70 | 2380|2380 70 | 28 | 11 [m10| M10x35 | 25.00x353 | 0.87 | 400 1/2-1/2" | L-GD601 [ 13 [40.49140.49| 60 |18.24|18.24|60 50| 9 | M8 | 25 | 40 | M8x60 | 18.66x3.53| 1.00 | 400

— 3/4"-3/4" | L-GD-602 | 19 |50.80]50.80] 72 [23.80[23.80] 60 [ 55 | 11 [M10[ 32 | 36 | M11x70 [25.00x3.53] 1.00 [ 400
1"-3/4" |G-AF-603/602) 25/19) 57.15 | 50.80 | 81 [27.76]23.80| 70 | 30 | 13 |M10[ M12x45 | 32.92353 | 0.77 | 400 3/4"1/2"_|L-GD-602/601] 19/13 | 50.80 | 40.49| 72 | 23.80]18.24| 60 | 55| 11 | M8 | 32 | 36 | M10x70 | 25.00x3.53] 1.40 | 400
1"1"  |G-AF-603/603| 25 |57.15|57.15| 81 |27.76 [27.76 | 75 | 36 | 13 |M12 | M12x45 | 32.92x3.53 | 0.98 | 400 174" L-GD-603 | 23 |57.15]57.15] 82 [27.76]27.76 [ 68 [ 64 | 14 [M12] 37 [ 40 | M12x80 [ 32.92x3.53| 2.30 | 400

11/4"1"  |G-AF-604/603| 32/25 | 66.68 | 57.15 | 100 | 31.75 [ 27.76 | 83 | 35 | 15 |M12 | M14x40 | 37.70x3.53 | 1.75 | 400 1"-3/4" |L-GD-603/602) 23/19 |57.15|50.80| 82 |27.76(23.80| 68 | 64 | 14 |M10| 37 | 40 | M12x80 | 32.92x3.53| 2.30 | 400

11/4"11/4"| L-GD-604 | 30 |66.68]66.68] 96 [31.75]31.75] 76 | 72| 16 |M14| 41 | 46 | M14x90 | 37.70x3.53[ 3.30 | 400

11/4"1"_ |L-GD-604/603| 30/23 | 66.6857.15| 96 |31.75]27.76] 76 | 72| 16 | M12| 41 | 46 | M14X90 | 37.70X3.53| 3.30 | 400

11/4"-11/4"|G-AF-604/604| 32 | 66.68 | 66.68 [ 100 | 31.75| 31.75| 90 | 35 | 15 | M14 | M14x50 | 37.70x3.53 | 1.84 400

11/2"-11/4" |G-AF-605/604| 40/32 | 79.38 | 66.68 | 113 | 36.50 | 31.75 | 95 | 48 | 17 | M14 | M16X55 | 47.22X3.53 | 2.36 400 11/2"-11/2"| L-GD-605 38 [79.38(79.38|114 [36.50|36.50| 86 | 89 | 18 | M16 | 50 | 52 [M16x110|47.22x3.53| 5.40 400
11/2"-11/2"|G-AF-605/605| 38 |79.38 | 79.38 [ 113 | 36.50 | 36.50 | 113 | 50 | 17 |M16 | M16x55 | 47.22x3.53 | 2.93 400 11/2"-11/4"|L-GD-605/604| 38/30 | 79.38 [ 66.68 | 114 | 36.50|31.75[ 86 | 89 | 18 | M14 | 50 | 52 |M16x110)|47.22x3.53 | 5.40 | 400
2"-2" L-GD-606 50 [96.82(96.82| 133 [44.45)|44.45]107|107| 22 | M20 | 64 | 70 [M20X140|56.75x3.53 | 9.00 400

2"-11/2"|G-AF-606/605( 51/38 | 96.82 | 79.38 | 140 | 44.45 | 36.50 | 125 | 60 | 21 | M16 | M20x60 | 56.75x3.53 | 4.74 400

— 2"-11/2"|L-GD-606/605| 50/38 | 96.82  79.38 | 133 | 44.45| 36.50 [107|107| 22 | M16 | 64 | 70 |M20x140] 56.75x3.563 | 9.00 | 400
21/22"  |G-AF-607/606| 63/51(123.83| 96.82 | 180 | 58.73 | 44.45 | 152 | 70 | 25 | M20 | M24x80 | 69.45x3.53 | 8.92 | 400 5177312 L.Gp607 | 65 1123.83123.83 180 [58.73 [55.73 [160[155| 25 24 17751 90 M2ax200]75.57x5.33 | 145 T 200

21/2"-2"  |L-GD-607/606| 63/50 |123.83| 96.82 [ 180 | 58.73 | 44.45|160(155| 25 | M20 |77.5 90 |M24X200| 75.57x5.33 | 14.5 400




M(u)
oA N o
R4 LA
ol @ ey
o
SARSE
E
F
GFG-- (Metric thread)
GFG--U (UNC thread)
#EL (Material)
1. 4W45#, carbon steel C45
KHwPiEEM Blank oiled :GFG¥kk
KIECr+31%%E Cr+3 white zinked:GFG***—CFX
KEFRAS NiZnzinked  :GFGHH--ZN
2 R540 AlSI 321/304 GFGH*--X
3R AISI 316L 1GFGHiok--XX
M L) R~t&% dimension 22 ?VEE%
Size Wt
(inch) Type M MAX-W.P
B c [ o [ E [ F [ H M u (kg) | (kglcm?)
% Z%| 3000 psi
12" GFG301 13 38.10 55 17.48 50 35 M8 5/16 0.62 350
3/4" GFG302 19 47.63 65 22.23 50 40 M10 3/8 0.94 350
L GFG303 25 52.37 70 26.19 60 45 M10 3/8 1.33 315
11/4" GFG304 32 58.72 80 30.18 70 50 M10 7116 1.60 250
1172" GFG305 38 69.85 95 35.71 80 50 M12 12 2.20 200
2" GFG306 51 77.77 105 42.88 95 50 M12 12 2.80 200
HER%] 6000 psi
172" GFG601 13 40.49 55 18.24 50 35 M8 5/16 0.62 400
3/4" GFG602 19 50.80 70 23.80 60 45 M10 3/18 1.41 400
iy GFG603 25 57.15 80 27.76 70 50 M12 7116 1.64 400
11/4" GFG604 32 66.68 95 31.75 80 50 M14 12 2.90 400
11/2" GFG605 38 79.38 115 36.50 95 60 M16 5/8 4.30 400
2" GFG606 51 96.82 135 4445 115 65 M20 3/4 6.20 400

D
C
N D
N\ \ N\ ™ E}
L | b
P -
N
B
oK oK
Form A Form B
AGL--
# ¥ (Material)
1. 54MQ345B/45#, carbon steel Q345B/C45
KP4 Blank oiled {AGL¥**
KIECr+3[1%E Cr+3 white zinked:AGL*¥*-CFX
KR A4S Ni-Zn zinked :AGL*¥**-ZN
2R AISI 321/304 (AGLIHREX
3 AISI 316L AGLIFEXX
R = R+&% dimension RE ?{fggﬁ
Size Type Wt AX WP
(inch) B c o [ E [ F [ H K (ka) | (kglem?)
%A% 3000 psi
12" AGL301 13 38.10 56 17.48 46 24 9 0.32 350
3/4" AGL302 19 47.63 65 2223 50 24 1 0.37 350
1 AGL303 25 52.37 71 26.19 60 24 1 0.47 315
11/4" AGL304 32 58.72 79 30.18 68 24 12,5 0.57 250
11/2" AGL305 38 69.85 93 35.71 78 24 13.5 0.80 200
2" AGL306 51 77.77 102 42.88 90 24 13.5 0.94 200
21/2" AGL307 63 88.90 114 50.80 105 25 135 1.22 160
ar AGL308 73 106.38 134 61.93 124 23 17.5 1.57 138
HZF| 6000 psi
12" AGL601 13 40.49 56 18.24 46 24 9 0.32 400
3/4" AGL602 19 50.80 71 23.80 60 24 11 0.50 400
1" AGL603 25 57.15 81 27.76 70 24 13 0.66 400
11/4" AGL604 32 66.68 96 31.75 80 24 15 0.86 400
11/2" AGL605 38 79.38 112 36.50 94 24 17 1.25 400
2" AGL606 51 96.82 134 44.45 114 24 21 1.69 400
T #%Ui8 Specification:
1. fXiI¥%:2% Flange only: AGL301, AGL301-X
— 70 —

iTHR UM Specification:
1.{XiT¥: Flange only:

AHERSLET (Metric thread) : GFG301, GFG301-X
UNCHZZ(FLIY (UNC thread) : GFG301U, GFG301U-X

- 71




D H D H
C A C A
D I‘—— I——'
’D\ C (' T T (' ( T
s 5 ZV I AL ¢ 5 AT WLk
2PN g | D) 3]
d SN ] SNHP '
w| o an ] \ T . = 4 \ : : ] }
AN B = i i H1 oy S H1
" A PSR 71 &= )
Finy 1 N
il ANp |’_\: = v 2 ' =
— — L 3 al > — b A g.
: c = {lhe v " HiveTeo D
= N P2 \ 2
D kkk A Lkkk i
#lFy T _ AGSHKkA KKK (Metric thread) AGS¥REAANKKB  (Metric thread)
W) w . GWFG--  (Metric thread) AGSHKKA KKK (UNC thread) AGS*¥kA-*k%*BU (UNC thread)
o D15 1-© GWFG--U (UNC thread) B15B2% ) (B1.5B2[A )
IR TR B - P (Material)
i i 1g£iéyategla|)t | cas 1. [%49Q345B/45#, carbon steel Q345B/C45
g ; carbon stee| RKIFWRPiHH Blank oiled AGSHFHKAKFK
KRB Blank oiled GWF Gk RTATEMAT RS GIREL. UNBRLL, iﬁfﬁ:ﬂ'ﬂ@ Cr+3 white zinked:AGS*#+AHk%_CFX
KiCr+3[ 4 9r+3 white zinked:GWFG***--CFX PR ELGR AGSHHEM-Kkk | AGSHHXG—rkk, AGSHFFUN--+x* K44 Ni-Zn zinked SAGSHRKA KKK ZN
KRR AE Ni-Zn zinked IGWFGHk--ZN Thread M,G,UN could be supplied for the size A, 2 R4 AISI 321/304 LAGSHHRKAIRK_X
2-?23 AISI 321/304 GWFGHH*--X Part No. will be AGS*#+M-k¥k | AGSHF*G-trk | AGSHIKUN--¥k* 3G AlSI 316L [ AGSHHRAFREXX
3RGE4 AlSI 316L :GWFGH¥k--XX
ew]  ws R+B% dimension R HE
L 5 R+2% dimension 22 %VFE;J: -Sizf‘ Type Wt
o Type WE | AX WP inch) A [Bi]B2][ C [D| E [FIH[H]L[U]L2] K] M |#k bot [oFM oring|(kg)
(inch) B | ¢ | b | E | F ] 6] st [s2]M™M]u (kg) | (kglem?) 251 3000 psi
FeR5] 3000 psi AGS301M-301 | M16X15
172" GWFG301 13 | 3840 | 55 | 1748 | 55 50 | 25 | 35 | M8 | 516 | 14 350 1/2" | AGS301G-301 g/G:éﬁ'N . 13 | 11 (3810 56 |17.48| 40 [ 27 | 24 | 95 | 20 | 55 | 9 | M8 | M8x40 |18.66x3.53 |0.86
- AGS301UN-301| %~
3/ GWFG302 19 [ 4763 | 65 | 2223 | 60 60 | 30 40 [ M0 | a8 16 350 7G5302M305 | M20XTE
1 GWFG303 24 | 5237 | 72 | 2619 | 65 65 | 33 40 | M0 | 3m 20 315 3/4" | AGS302G-302 3/@11&"'1 . 19 | 17 |47.63| 65 |22.23| 44 | 33 | 30 |104| 22 | 60 | 11 |M10| M10x50 | 25.00x3.53 |1.26
AGS302UN-302| %'
114" | GWFG304 32 | 5872 82 | 3018 | 82 80 | 39 38 | M0 | 7716 | 37 250 AGS303N 303 | NZEXTE
112" | GWFG305 38 | 6985 | 98 | 3571 | 92 2 51 59 | M12 | 112 54 200 1" | AGS303G-303 1yc§'31/g£m 25 | 22 |52.37| 70 |26.19| 50 | 38 | 35 |120| 25 | 70 | 11 |M10| M10x55 | 32.92x3.53 [1.75
- AGS303UN-303| 1%s"-
2 GWFG306 51 | 7777 | 102 | 4288 | 85 87 51 48 [ M12 | 112 44 200 ~G530aM 304 | M35
21/2" GWFG307 62 88.90 110 50.80 110 120 60 65 M12 112 8.3 160 11/4"| AGS304G-304 " GJZUN 32| 29 (58.72| 79 |30.18| 56 | 45 | 42 (136 | 28 | 80 [11.5|M10| M10x60 | 37.70x3.53 [2.54
- AGS304UN-304| 1%s"
3 GWFG308 73 [10638 | 135 | 6193 | 150 | 135 | 675 | 90 | M16 | 58 | 163 138 AGS30EM305 | Mo
31/2" GWFG309 89 120.65 | 150 69.85 145 145 725 75 M16 5/8 17.3 35 11/2"| AGS305G-305 1?911’3:“ 38 | 35 (69.85| 93 | 35.71| 64 | 53 | 50 [154 | 32 | 90 [13.5|M12| M12x70 | 47.22x3.53 [3.95
AGS305UN-305| 1%"
A _6000 psi } EA5 6000 psi
172" GWFG601 13 [ 4049 | 60 | 1824 | 60 50 | 25 | 40 | m8 | 5116 | 13 400 AGSE0TME0T | WGXTE
3/a" GWFG602 19 | 5080 | 72 | 2380 | 60 55 | 32 36 | M0 | 38 17 200 1/2" | AGS601G-601 g/G:éU"N o| 13| 11 |4040| 56 18:24| 40 | 27 | 24 | 95| 20 | 55| 9 | M8 | MBxdO |18.66x3.53 086
: AGS601UN-601| %4
1 GWFG603 23 | 6715 | 82 | 27.76 | 68 64 | a7 40 [ M12 | 7716 | 30 400 - San02e0s | V0K
114" | GWFG604 30 | 6668 | 9 | 3175 | 72 72 Y] 46 | M1a | 2 33 400 3/4" | AGSB02G-602 3/Guz" 19 | 17 |50.80| 71 |23.80| 50 | 33 | 30 |120| 25 | 70 | 11 |M10| M10x50 | 25.00x3.53 |1.67
0 AGS602UN-602| ¥%"-16UNF
1172 GWFG605 38 | 79.38 | 114 | 3650 | 86 89 | 50 52 | M16 | 58 5.8 400 655037603 T ABEXTS
2" GWFG606 50 | 96.82 | 133 | 4445 | 107 | 107 | 64 70 | M20 | 3/4 96 400 1" | AGS603G-603 G |2 57.15| 81 |27.76| 60 | 38 | 35 |140| 30 | 80 | 13 |M12| M12x55 | 32.92x3.53 | 2.44
m AGS603UN-603| 16"
21/ GWFG607 62 |12383| 180 | 58.73 | 160 | 1556 | 775 | 90 | M24 | — 30.0 400 T TR R
e o 11/4"| AGSB04G-604 | _ G1" | 32 | 29 |66.68| 95 |31.75| 68 | 45 | 42 |158 | 34 | 90 | 15 [M14| M14x65 | 37.70x3.53 [3.68
T #5i8 Specification: 1512
5 : AGS604UN-604| 1%s"-12UN
1. fX3T¥:2 Flange only: - AGS605M-605 M39yX2
) " ? Gl 79.38 36.50 22x3.53|5.96
ABIRLILIF (Metric thread) : GWFG301, GWFG301-X :gsse%%ﬁq ?055 - 38 | 35 112 80 | 53 | 50 [185| 40 [105| 17 |M16| M16x75 | 47.22x3.53

UNCHRZFLIY (UNC thread) : GWFG301U, GWFG301U-X 9] Specification:

1. {XiT#:2% Flange only: AGS301M-301, AGS301M-301B, AGS301M-301U (UNCHBZL)

- 72 - - 73 —



H 2 H 2
. \
(S | - #4 fo- | -9
W g ++ C) w| w
& & & &
\{ / ¢ i L/
2K 8K
AP ZP
#EE (Material)
T4 carbon steel
K45 M Blank oileed AP/ZP**x
KIECr+3F%E Cr+3 white zinked:AP/ZP¥#*-CFX
KR 44 Ni-Zn zinked :AP/ZP*¥*-ZN
%iz’;ﬁ |2 NS E =3 dimension %\%
(inch) Typa A | ¢ [ o [ E [ F [ H [ « (kg)
%A% 3000 psi
12" AP301/ZP301 13 38.10 54 17.48 46 3 9 0.04
3/4" AP302 / ZP302 19 47.63 65 22.23 52 3 11 0.06
1" AP303 / ZP303 25 52.37 70 26.19 58 3 1 0.07
11/4" AP304 / ZP304 32 58.72 79 30.18 72 3 11 0.10
11/2" | AP305/ZP305 38 69.85 94 35.71 82 3 13 0.14
2" AP306 / ZP306 51 77.77 102 42.88 90 3 13 0.17
21/2" | AP307/ZP307 63 88.90 114 50.80 108 3 13 0.23
3" AP308 / ZP308 73 106.38 134 61.93 130 4 17 0.43
31/2" | AP309/ZP309 89 120.65 152 69.85 139 4 17 0.53
4" AP310/ZP310 99 130.18 162 77.77 152 4 17 0.63
5" AP311/2ZP311 120 152.40 184 92.08 180 4 17 0.86
HAR%] 6000 psi
12" AP601 / ZP601 13 40.49 56 18.24 47 4 9 0.06
3/4" AP602 / ZP602 17 50.80 71 23.80 60 4 1 0.10
1" AP603 / ZP603 24 57.15 81 27.76 69 4 13 0.13
11/4" | AP604 / ZP604 31 66.68 95 31.75 77 4 15 0.17
11/2" AP605 / ZP605 38 79.38 113 36.50 95 4 17 0.23
2" AP606 / ZP606 51 96.82 133 44.45 114 4 21 0.35

G
H<—
s 3 o
N
SHFL
£l (Material)
Tk4N45#, carbon steel C45
KIEHFE5H Blank oiled {SHF Lok
KM Cr+3[94% Cr+3 white zinked:SHFL*¥*-CFX
K EAS NiZnzinked  :SHFL#*ZN
%iz’f # B R+2% dimension i B A %V% ";%{/;J\%;j;
= T W,
(inch) e A B[] Cc D[ E [FJG][HI K | B oot [0l oring| (K3) |(kglom?)
2" SHFL306-62 62 | 48 | 77.77 [ 103 | 4288 | 70 | 70 | 16 | 135 | M12x35 |56.75x3.53| 099 | 10
21/2" SHFL307-62 62 | 50 | 88.90 | 114 | 5080 | 84 | 70 | 19 | 135 | M12x40 |69.45x3.53| 1.28 10
3 SHFL308-91 91 | 78 |106.38 | 136 | 61.93 | 106 | 70 | 17 | 17.0 | M16x50 |85.32x3.53| 1.57 10
31/2" | SHFL309-116 | 1165 | 90 |120.65| 151 | 69.85 | 139 | 90 | 18 | 17.0 | M16x50 |98.02x3.53| 329 | 10

iTHR M Specification:

1. fiT#: Flange only: SHFL306-62

2. LA IR KO, NS4 M: SHFL306-62M, (Fi%Hi24%: SHFL306-62U)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

75



24"
2D1
I._

U

@/\Q
f7a)
)

&
% S
H <&
G
¥ (Material)
GF--LK-- %4 carbon steel
FECr+3(9%4F Cr+3 white zinked:GF¥+LK-CFX
KIS 4 Ni-Zn zinked :GPRFLK-ZN
o B Ry&H dimension FC b ?{’EE%
Type 2D1 D H K LK G M ﬁf gjiénf h("@cvx.g

GF30LK-L10 L10 36 8 6.5 30 30 M16x1.5 | M6x22 17x2.5 315
GF30LK-L12 L12 36 8 6.5 30 30 M18x1.5 | M6x22 17x2.5 315
GF35LK-L10 L10 39 8 6.5 35 30 M16x1.5 | M6x22 20x2.5 315
GF35LK-L12 L12 39 8 6.5 35 30 M18x1.5 | Méx22 20x2.5 315
GF35LK-L15 L15 39 8 6.5 35 30 M22x1.5 | Méx22 20x2.5 250
GF35LK-L18 L18 39 8 6.5 35 30 M26x1.5 | M6x22 20x2.5 250
GF35LK-S16 s16 39 8 6.5 35 30 M24x1.5 | Méx22 20x2.5 315
GF35LK-S20 $20 39 8 6.5 35 56 M30x2 M6x22 20x2.5 315
GF40LK-L15 L15 42 8 6.5 40 35 M22x15 | M6x22 26x2.5 100
GF40LK-L18 L18 42 8 6.5 40 35 M26x1.5 | M6x22 26x2.5 100
GF40LK-L22 122 42 8 6.5 40 35 M30x2 M6x22 26x2.5 100
GF40LK-L28 128 42 8 6.5 40 42 M36x2 M6x22 26x2.5 100
GF40LK-L35 L35 42 8 6.5 40 62 M45x2 M6x22 26x2.5 100
GF55LK-L28 L28 55 12 8.5 55 40 M36x2 M8x25 33x2.5 100
GF55LK-L35 L35 55 12 8.5 55 50 M45x2 M8x25 33x2.5 100
GF55LK-L42 L42 55 12 8.5 55 55 M52x2 M8x25 33x2.5 100
GF55LK-S20 S20 55 12 8.5 55 40 M30x2 M8x25 33x2.5 250
GF55LK-S25 s25 55 12 8.5 55 50 M36x2 M8x25 33x2.5 250
GF55LK-S30 $30 55 12 8.5 55 50 M42x2 M8x25 33x2.5 250

L1 D
d_=5 )
[=]
s
J/ RSN
o~
-
D1
24"
M
¥} (Material)
WF--LK-- BN carbon steel
RECr+3[% Cr+3 white zinked:WF*FLK-CFX
REHHEAES Ni-Znzinked  WFHLK-ZN
We R2% dimension RO jii;{'ggﬁ
Type 2D1 D K LK L1 L2 M iR OFE | mAXWP
bolt o-fing (Kg/em®)
WF35LK-L10 L10 39 6.5 35 16.5 38 M16x1.5 | M6x22/M6x35 | 20x2.5 315
WF35LK-L12 L12 39 6.5 35 16.5 38 M18x1.5 | M6x22/M6x35 | 20x2.5 315
WF35LK-L15 L15 39 6.5 35 16.5 38 M22x1.5 | M6x22/M6x40 | 20x2.5 250
WF35LK-L18 L18 39 6.5 35 205 38 M26x1.5 | M6x22/M6x40 | 20x2.5 250
WF35LK-S16 | S16 39 6.5 35 20 38 M24x1.5 | M6x22/M6x40 | 20x2.5 315
WF35LK-S20 |  S20 39 6.5 35 25 45 M30x2 | M6x22/M6x45 | 20x2.5 315
WF40LK-L15 L15 42 6.5 40 225 38 M22x1.5 | M6x22/M6x45 |  26x2.5 100
WF40LK-L18 L18 42 6.5 40 225 38 M26x1.5 | M6x22/M6x45 |  26x2.5 100
WF40LK-L22 L22 42 6.5 40 225 38 M30x2 M6x22 26x2.5 100
WF40LK-L28 L28 42 6.5 40 28 40 M36x2 | M6x22/M6x50 |  26x2.5 100
WF40LK-L35 L35 42 6.5 40 34 41 M45x2 | M6x22/M6x60 |  26x2.5 100
WF40LK-S20 | S20 42 6.5 40 225 40 M30x2 | M6x22/M6x45 | 26x2.5 250
WF55LK-L28 L28 58 85 55 30 49 M36x2 | M8x25/M8x55 |  33x2.5 100
WF55LK-L35 L35 58 85 55 32 49 M45x2 | M8x25/M8x60 |  33x2.5 100
WF55LK-L42 L42 58 8.5 55 40 49 M52x2 | M8x25/M8x70 |  33x2.5 100
WF55LK-820 |  S20 58 85 55 30 49 M30x2 | M8x25/M8x55 |  33x2.5 250
WF55LK-S25 |  S25 58 85 55 30 49 M36x2 | M8x25/M8x55 |  33x2.5 250
WF55LK-S30 | S30 58 85 55 32 49 M42x2 | M8x25/M8x55 |  33x2.5 250

T UiH Specification:
1. fXiT¥%:2 Flange only: GF35LK-L10

2. ILZF AR KO, /54 M: GF35LK-L10M
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U
3B AR KO, AL RELIRIE, FIN/E4 KM: GF35LK-L10MKM
Flange with bolts, O-ring, cutting ring and nut: with additional suffix KM

— 76

T8 Specification:

1.fUiT¥%:* Flange only: WF35LK-L10
2. R FLAHIIR R KOTEIE, fnJE 4 M: WF35LK-L10M

Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U
3B AR KOTEE, ML R KERIE, FEIN/E4E KM: WF35LK-L10MKM

Flange with bolts, O-ring, cutting ring and nut: with additional suffix KM



H

)

NN

_o01_|
[\ 24" ]
M
3WF--LK--
K (Material)
B4 carbon steel
KM Cr+39%% Cr+3 white zinked:3WF**LK-CFX
KF A4 Ni-Zn zinked BWFH*LK-ZN
R+&8 dimension TR LTS
il E T TAEET
Type 2 MAX.W.P
P @D1 D K LK L1 L2 M ol oring Koo
3WF26LK-L12 L12 32 55 26 16 32 M18x1.5 M5x25 14x1.78 250
3WF30LK-L12 L12 38 6.5 30 19 37 M18x1.5 M6x25 17x2.5 250
3WF30LK-L15 L15 38 6.5 30 19 37 M22x1.5 M6x25 17x2.5 250
3WF40LK-L22 L22 48 85 40 25 45 M30x2 M8x30 24x2.5 160
3WF40LK-L28 L28 48 85 40 25 45 M36x2 M8x30 24x2.5 160

D
-
(1
< %\ o
- % :
=y
G
GF--LK--UN
£l (Material)
54X carbon steel
RMCr+3E% Cr+3 white zinked:GF#*LK-CFX
REHEA S Ni-Zn zinked (GF#*LK-ZN
w s R+H2%  dimension A imﬁ
Type A B D G LK K Wi | OmE MAX.W.P
bolt o-ring o-ring (Kalem?)
GF35LK-"%s-16  |'%e™-16UN| 9.5 40 50 35 6.5 4xM6x25 | 20x2.5 |12.42x1.78| 210
GF40LK-1%e-12  [1%e12UN| 15 45 65 40 6.5 4xM6x25 | 24x2.5 |18.77x1.78| 210
GF40LK-1%6-12  [1%4¢"-12UN| 20.6/16 45 65 40 6.5 4xM6x25 | 26x2.5 |23.52x1.78| 210

T8 Specification:

1. {¢iT¥%:% Flange only: 3WF30LK-L12
2. LA IR 0T, )54 M: 3SWF30LK-L12M
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U
3 EZFA KSR KO/, RN AL REKIRIE, /55 KM: 3WF30LK-L12MKM
Flange with bolts, O-ring, cutting ring and nut: with additional suffix KM

iT# 8] Specification:

1. {0724 Flange only: GF35LK-'%¢-16

2. VR AT AR KO, N5 4 M: GF35LK-1%6-16M
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



N
A

L1

|

9K|

\\_j )
D

o~
=k
A
WF--LK--UN
kL (Material)
T4 carbon steel
KECr+3[%E Cr+3 white zinked:WF**LK-CFX
RIHREE Ni-Zn zinked WFHLK-ZN
P e dimension EEH]:HLF ?{’EE;(J
Type A B D L1 L2 LK K 2 OfZHE1 | OFME2 MAX.W.P
bolt o-ring o-ring (Kalem?)
WF30LK-"%¢ %e"-16UN| 6.5 30 15 30 30 55 M5x20/M5x25 | 15x2.5 | 9.25x1.78 210
WF30LK-'%s |'%6"-16UN| 9.5 30 15 30 30 6.5 M6x20/M6x25 | 15x2.5 |12.42x1.78 210
WF35LK-%s  |'%6"-16UN| 9.5 40 20 55 35 6.5 | M6x22/M6x35 [ 18x2.5 | 12.42x1.78 210
WF40LK-1 1"-14UNS 15 45 24 60 40 6.5 M6x20/M6x35 | 24x2.5 | 15.6x1.78 210
WF40LK-1%6  |1%6"-12UN 20 42 28 40 40 6.5 M6x20/M6x50 | 26x2.5 | 23.52x1.78 210
WF55LK-1"%s [1'%46"-12UN| 26 58 32 49 55 8.5 M8x22/M8x50 | 32x2.5 | 29.87x1.78 210

iTH Ui Specification:
1. f¢iT%:2% Flange only: WF30LK-%¢
2. B AR K OTE M, JINJR 4 M: WF30LK-"%6M

Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

oK
S E=H1 =
[ Z: {
g 3 1= i g <
7= 1z | Z i
G
GDS--LK--G GD--LK--G GF--LK--G
kL (Material)
B4 carbon steel
#THCr+3[14¢ Cr+3 white zinked:GDS*LK-G¥*+-CFX
EMbHR A4S NiZnzinked  :GDS*HLK-GH+-ZN
o 5 R<%%  dimension TR iﬂrﬁ
Type A A1 B D e LK H K e | |
GDS30LK-G3/8 | G3/8" - . 45 . 30 15 65 | 4xM6x16 |18.77x1.78| 250
GD30LK-G3/8 | G3/8" | 21 . 45 55 30 10 65 | 4xM6x20 |18.77x1.78| 250
GF30LK-G1/2 | G1/2" g 14 45 55 30 10 65 | 4xM6x20 |18.77x1.78| 250
GDS40LK-G1/2 | G1/2" . . 58 . 40 14 85 | 4xM8x20 |25.12x1.78| 250
GD4OLK-G1/2 | G1/2" | 265 . 58 60 40 12 85 | 4xM8x25 |25.12x1.78| 250
GF40LK-G3/4 | Ga/4" i 19 58 60 40 12 85 | 4xM8x25 |25.12x1.78| 250
GDS51LK-G3/4 G3/4" - - 76 - 51 18 10.5 4xM10x25 | 31.42x2.62 250
GD51LK-G3/4 G3/4" 33.5 - 76 72 51 16 10.5 4xM10x30 | 31.42x2.62 250
GF51LK-G1 G1" - 24 76 72 51 16 10.5 4xM10x30 | 31.42x2.62 250
GDS56LK-G3/4 G3/4" - - 76 - 56 18 10.5 4xM10x25 | 31.42x2.62 250
GDS6LK-G3/4 | G3/4" | 335 = 76 72 56 16 105 | 4xM10x30 | 31.42x2.62| 250
GF56LK-G1 G - 24 76 72 56 16 105 | 4xM10x30 | 31.42x2.62| 250
GDS62LK-G1 | G1" . . 88 . 62 20 105 | 4xM10x25 | 37.70x3.53| 180
GDS62LK-G1-12 |  G1" i E 88 . 62 20 125 | 4xM12x25 | 37.70x3.53| 180
GDS725LK-G11/4| G1 14" | - - 98 - 725 22 125 | 4xM12x30 | 47.22x353| 180

IR UiB Specification:
1. {312 Flange only: GDS30LK-G3/8

- 81



L1 D
|
I
—J
ol
o 2 | S
o O D)s
.| ( o wl
W23
60°7]
A
WF--LK--G--
# &t (Material)
49 carbon steel
KIHCr+3[4% Cr+3 white zinked:WF**LK-G**-CFX
RERMRAS NiZnzinked  WPHLK-GH-ZN
5 dimensi R B X
w5 Rt imension P THER
Type A D H K LK L1 L2 i O | MAXWP
bolt o-ring (Kg Jom? 3
WF35LK-G3/8 G3/8" 39 11.5 6.5 35 18 40 M6x25/M6x40 20x2.5 315
WF35LK-G1/2 G1/2" 39 11.5 6.5 35 18 40 M6x25/M6x40 20x2.5 315
WF35LK-G3/4 G3/4" 39 11.5 6.5 35 18 40 M6x25/M6x40 20x2.5 315
WF40LK-G3/8 G3/8" 42 13 6.5 40 24 425 M6x25/M6x45 26x2.5 250
WF40LK-G1/2 G1/2" 42 13 6.5 40 24 425 M6x25/M6x45 26x2.5 250
WF40LK-G3/4 G3/4" 42 13 6.5 40 24 425 M6x25/M6x45 26x2.5 250
WF40LK-G1 G1" 42 13 6.5 40 24 42.5 M6x25/M6x45 26x2.5 250
WF55LK-G1/2 G1/2" 58 13 8.5 55 40 59 M8x25/M8x60 33x2.5 250
WF55LK-G3/4 G3/4" 58 13 8.5 55 40 59 M8x25/M8x60 33x2.5 250
WF55LK-G1 G1" 58 13 8.5 55 40 59 M8x25/M8x60 33x2.5 250

iT#RiiB Specification:

1.{XiT¥:2 Flange only: WF35LK-G3/8
2. VLR ARIIRE KO, 542 M: WF35LK-G3/8M
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

L1 D
<H_|
=
—
[a]
B &
N
N
A
WDS--LK--G--
kL (Material)
B4 carbon steel
RIMCr+3[% Cr+3 white zinked:WDS**LK-G¥**-CFX
FEEAS NiZnzinked  :WDSHLK-G¥+-ZN
Rt2% dimensi W BoX
ﬁ = imension I{’gE}]
Type A D H K LK L1 L2 it OFE | mAxw.p
bolt o-ring (Kg Jom? )
WDS30LK-G3/8| G3/8" 39 15 6.5 30 18 40 M6x25/M6x40 | 15.54x2.62 | 315
WDS35LK-G3/8| G3/8" 39 115 6.5 35 18 40 M6x25/M6x40 |  20x2.5 315
WDS35LK-G1/2| G1/2" 39 115 65 35 18 40 M6x25/M6x40 |  20x2.5 315
WDS40LK-G3/8| G3/8" 42 13 6.5 40 24 425 | M6x25/M6x45 | 26x2.5 250
WDS40LK-G1/2|  G1/2" 42 13 65 40 24 425 | M6x25/M6x45 | 26x2.5 250
WDS40LK-G3/4| G3/4" 42 13 6.5 40 24 425 | M6x25/M6x45 | 26x2.5 250
WDS40LK-G1 | G1" 42 10 6.5 40 34 51 M6x22/M6x60 |  26x2.5 250
WDS55LK-G1/2|  G1/2" 58 13 8.5 55 40 59 M8x25/M8x70 |  33x2.5 250
WDS55LK-G3/4| G3/4" 58 13 8.5 55 40 59 M8x25/M8x70 |  33x2.5 250
WDSS5LK-G1 | G1" 58 13 8.5 55 40 59 M8x25/M8x70 |  33x2.5 250
WDS55LK-G11/4 G1 1/4" 58 13 85 55 40 59 M8x25/M8x70 |  33x2.5 250

5 Specification:
1. {X0iT%:2% Flange only: WDS35LK-G3/8
2 VAL AR X OTE R, InjE 4 M: WDS35LK-G3/8M

Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



N I
Y
f/ad\\
§J<;
\ D&
F\if
X
L2
3WDS--LK--G--
#4 £t (Material)
4 carbon steel

KM Cr+3[E4% Cr+3 white zinked:3WDS**LK-G**-CFX
KIEEHREE Ni-Zn zinked :3WDS**LK-G**-ZN
o R+2%  dimension A %mjg
Type A B K LK L1 L2 aich O | mAXW.P
bolt o-ring (Kalem?)
3WDS26LK-G3/8 | G3/8" 10 55 26 17 24 M5x20 14x1.78 315
3WDS26LK-G1/2 |  G1/2" 10 55 26 17 24 M5x20 14x1.78 315
3WDS30LK-G3/8 | G3/8" 12 6.5 30 17 24 M6x20 15.54x2.62| 315
3WDS30LK-G1/2 |  G1/2" 12 6.5 30 17 24 M6x20 15.54x2.62| 315
3WDS40LK-G1/2 |  G1/2" 19 8.5 40 21 36 M8x25 | 23.47x2.62| 315
3WDS40LK-G3/4 |  G3/4" 19 8.5 40 21 36 M8x25  |23.47x2.62| 315
3WDS51LK-G3/4 |  G3/4" 26 10.5 51 26 45 M10x30  |31.42x2.62| 315
3WDS51LK-G1 G1" 26 10.5 51 26 45 M10x30  |31.42x2.62| 315
3WDS56LK-G3/4 | G3/4" 26 10.5 56 26 45 M10x30 | 31.42x2.62| 315
3WDS56LK-G1 G1" 26 10.5 56 26 45 M10x30 | 31.42x2.62| 315

TR ULH Specification:
1.{XiT¥:2% Flange only: 3WDS30LK-G3/8
2. BB AR K OTE R, INJE 4 M: 3WDS30LK-G3/8M

Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

84

FK—
api =y
B R — X
ok — R
2R —4
#l: FK50-0-60.3x2.9

WFA--

90° Tik2—H
O —H
2R —4

]: WFA50-3-76.1x10

AR

ISO 6164 k4 &5

#%H B Material specification:

1506164771 2 A A BRANA A BRI T, F RS 40Kk X 43

Material used for ISO6164 square flanges is indicated with suffix as follow:

L AR IS4

Flange and welding adapter are all carbon steel: without suffix.

2 VR FRRAN, RE FAABMAIST 304/3210F: JIJE4-ST/X

Carbon steel flange and stainless steel AIS| 304/321 welding adapter: with the suffix-ST/X
JEA F REBANAIST 316L0F: HIJG4%-ST/XX

Carbon steel flange and stainless steel AISI 316L welding adapter: with the suffix-ST/XX

3. B2, RAFHCIANRAINT . FHATST 304/321, fN/S4-X; FHAISI 316L, f0jE45-XX

Flange and welding adapter are all stainless steel:

AISI 304/321 with the suffix -X, AISI 316L with the suffix -XX

FAG--
iR
HOMHHE — R
Ol —R
e —4

#l: FAG50-0 I

v

NP
N

FKG-- —H_Th
FREE=R
HOMEE—R

ST #E— R

O pE— R

e —4

#1: FKG50-0-60.3x2.9

)

QS

ARIEEFHRERGER, WARRARNZRFIELREEE 5 HMAR RRETEE.



£ A
|
B

BARTAEE S Max.w.p: 160 kglcm?

L : 2L
i H
L oT /é‘ /
% =) ~% ED /%\
B
3|0 S Ko 3|v
A Y A
N IR é% g
A il — [=)
) H Sy
FA FK

da x s AREIIXSEIALRT (SMExEER) , fEEH GO 30°
FRE T . REARPTSINR A RIARAEAMS, TR 7 ZERAT o

RS
H { ir® H
L A
50" —1 30- T 0"
1A o= N~ -~ P& /% ™
] B
3l» 5 A %
Y s Y
N\ TR gﬁ g !
E A | o
[ = —TiT &
FA 7 FK
da x s NEFIAHEIALR T (SMEBER) , TEEH A TR 30°
BATAEIE S Max.w.p: 64 kg/icm? JREEIT . BEARPTH IR A FIARERIAS , AT ARHE P 2SR AT .
w8 Rt2% dimension T FH B A A
i Wit
Type daxs B D H T | d1| K L | ®# bot | omm oring | (kg)
FA M12X45 14
FK 32-0 |42.4x2.6 80 - 24 72 55 13 64 M12X70 37.70x3.53 265
FA M16X55 20
Fr 400 |48.3x3 % - 20 | 80 | 60 | 17 | e8 [ wigod | 4722383 |
FA o [42x3,60.3x2.9 M16X65 | 53.34x5.33 | 3.1
Fk 500 l603xa5 100 f - | 38 ) 98 | 76 | A7 | 80 | m1ex100 | 58.00x355 | 6.0
FA M20X75 55
FK 65-0 |76.1x2.9, 76.1X3.6 120 - 47 118 92 21 98 M20X120 75.79x3.53 106
FA M24X80 9.5
FK 800 |8oxd, 89x8 150 | - 48 | 145 | 110 | 25 | 109 [ g ine | 8e.60x57 | oY
FA M30X90 17
FK 90-0 [101.6x7.1 180 - 58 175 135 32 135 M30X150 99.60x5.7 33
FA 114.3x4, 114.3x6 M30X90 17
FK 100-0 114.3x7 1 180 - 58 175 135 32 135 M30X150 109.60x5.7 33
A M24X100 29
rk 1250 [139.7x10 - | 245 | 69 | 200 [ 168 | 25 | 150 | po.Sio0 | 129.6x57 p
A M30X120 485
Fk 1500 (168.3x6, 168.3x10 - | 300 | 79 | 245 | 205 | 32 | 186 | yngtong | 16447x699 | o7

iTH Ui Specification:
TR4N%] All carbon steel: FA50-0-60.3x2.9, FK50-0-60.3x2.9
TRANTLE, NEHNEE Carbon steel flange and stainless steel welding adapter (AISI 321/304) :
FA50-0-60.3x2.9-ST/X, FKG50-0-60.3x2.9-ST/X
RGN All stainless steel (AISI 321/304) : FA50-0-60.3x2.9-X

R R &% dimension T FH B %‘%
Type daxs B D H T | dl| K L | ## bot | OB oring | (kg)
e 122 [1ex26 so | - |10 | aa |28 | 11 | 4z | MO 45 sace2 =
R 162 [a0x2s 60 | - |10 | sa |3 | 11| so [ MO | 34n2e2 952
R 202 |25 60 | - |19 | sa |3 | 11| so [ MO | 234nae2 B
R 252 |28x4, 30032 70| - | 19| 64 | a6 | 13| 56 mgigg 2082062 | 9
R s22 [38xs 0 | - |26 | 72 | 85 | 13 | 64 | oy | 77053 | Ja
FR 402 [48.3va, 48.3%63 o | - | 20 | s | 60 | 17 | 8 | Moo | s250x55 2
EQ 50-2 gg:g’;g: ‘égﬁi"s 100 | - 38 | 98 | 76 | 17 | e0 “%11&(16050 53.34x5.33 g";
,EQ 652 |70x8.8, 76.1x7.1 120 | - a7 | 118 | 2 | 21 | o8 ,\';"22(?;17250 69.22x5.33 150'%
F% 802 |101.6x10 180 [ - | s 75 135 | a2 | 135 | WSSO | sasms7 |17
P2 1002 [114.3x10 180 [ - | s 75 135 | a2 | 135 | NP0 | qoseoxs7 | 17
R 1252 [1307x12.5 - | 245 | 69 | 200 | 168 | 25 | 150 | Maax1O | 120.6x5.7 -
R 1502 [177.8617.5 - |30 | 79 | 205 | 205 | s2 | 186 | pooxoes | 16447x600 | a22




(i (i
GENS Sq
L / f - 2L L = 2L
H i T @ H H i T @ H
o1 P / / &‘ /
50" 5] 50, e H 0" 50, &1 50" gH T o
,7\ B jﬁ/ Sl ,@ = S—H1 /%\ o= 5] o, ~ =29 e S—H1) /%\
,| B B
3l s L S 3| v 3| » 5 u . 3| »
Y A=Y Y Y LY Y
> 7N 4h > B
7 o1 _tHe=—"t—F1F ] Z S
FA ¢ FK FA FK
da x s AR T (UMExBER) |, ZEEF AL TR 30° da x s NEERIXEIALR T (UMExBER) , ZE@H LT HUR 30°
AT AEE S Max.w.p: 250 kg/lcm? JRBEIT . BEARFTH NI A FIARERIAR , AT AREE P SR AT . BARTAEE S Max.w.p: 320 kglcm? JREET . BEATH IR A FIARERIAR , AT AR P SR AT .

e R&% dimension TG FA Fi A A % B Rt2% dimension FCH B R
5 Wt il Wt
Type daxs B D H T d1 K L B# bolt | OFM oing | (kg) Type daxs B D H T d1 K L B bolt | OMM oring [ (kg)
FA M10X35 0.43 FA M10X35 0.43
Fk 103 [16x3 50 - 19 | 44 | 28 | 11 | 43 | itel | 1554282 | 6s rk 104 [17.2x36 50 - 19 [ 44 | 28 | 11 | 43 | yuoles | 1554282 | 53
FA M10X35 0.62 FA M10X35 0.62
Fr 123 |20x3 60 = 19 | 54 | 38 | 11 | s0 | wotel | 2347262 [ a0 Fx 124|204, 22x4 60 - 19 | 54 | 38 | 11 | s0 | wuoel | 2347262 [ o0
FA M10X35 0.62 FA M10X35 0.62
Fr 163 |22xa 60 - 19 | 54 | 38 | 11 | 50 | wuoiel | 2347262 [ a0 K 164 |26.9x4.5 60 - 19 | 54 | 38 | 11 | 50 | wuotes | 2347262 [ o0
FA 26.9x3.6, 27x4 M12X40 0.90 FA . M12X40 0.90
K 203 |30 vt 70 - 19 | 64 | 46 | 13 | 56 | olce | 2082262 | 176 FK 204 |33.7x56 70 - 19 | 64 | 46 | 13 | 56 | wuolce | 2082262 [ {36
FA M12X45 1.4 FA M12X45 1.4
Fk 253 |33.7x45 80 - 24 | 72 | 85 | 13 | e | p5lTo | s7Toxess | e FK 254 |42.4x8 80 - 24 | 72 | 85 | 13 | e [ pslTo | sToxess | e
FA M16X55 21 FA M16X55 21
FK 32-3 [42.4x5.6 90 - 29 80 60 17 68 M16X80 42.50x3.55 4.0 EK 32-4 |48.3x8 90 - 29 80 60 17 68 M16X80 42.50x3.55 4.0
FA M16X65 31 FA M16X65 31
FK 40-3 [60.3x8 100 - 38 98 76 17 80 M16X100 53.34x5.33 6.0 EK 40-4 160.3x10 100 - 38 98 76 17 80 M16X100 53.34x5.33 6.0
FA M20X75 55 FA M20X75 55
Fk 503 [76.1x10 120 | - 47 | 18 | 92 | 21 | a8 [ At | e28mxs33 | 5% K 504 |76.1x125 120 | - a7 [ 18 [ o2 [ 21 [ o8 [ Al | 628733 [ 5%
FA M24X80 95 FA M24X80 95
Fk 653 [76.1x10, 89x11 150 | - 48 | 145 | 110 | 25 | 109 | yoson | 79.60x67 5 K 654 |76.1x12.5, 89x14.2 150 | - 48 | 145 | 110 | 25 | 109 [ o, | 79.60x6.7 i
FA 101.6x12.5 M30X90 | 89.60x5.7 17 FA o M30X90 17
fx 808 [1oxie 180 | - 58 | 175 | 135 | 32 | 135 | peocicr | ioncone 5 Fx 804 |1143x175,114.3x20 | 180 [ - 58 | 175 | 135 | 32 | 135 [ yeoerio | 89.60x6.7 s
FA M24X100 29 FA M24X100 29
F 100-3 |133.7x20, 139.7x20 - | 245 | 69 | 200 | 168 | 25 | 150 | voulioo | 114.60x5.7 pa Fx 100-4 |139.7x22.2, 152.4x28 - | 245 | 69 | 200 | 168 | 25 | 150 | o.tioo | 114.60x5.7 =
FA M30X120 485 FA M30X120 48.5
FK 1253 |168.3x20, 177.8x20 - | 300 | 79 | 245 | 205 | 32 | 186 | piosoon | 14859699 | o7 Fx 1254 |177.8x30 - | a0 | 79 [ 245 | 205 | 32 | 186 | ygioqo | 14859x699 [ o7
FA M36X140 58 FA 193.7x32 M36X140 170.00x7 58
FK 150-3 [193.7x25 - 355 90 290 245 38 200 M36X220 170.00x7 112 EK 150-4 219.1x38 - 355 90 290 245 38 200 M36X220 164.47%6.99 12




— L1 K|

LD

r<:1| -
R
7 E g
7
o
\CJ
HiEE
LJl
b
}
|
|
|
|
|
%G
i i\

(
B 7\ \i’

A I
g o T lortd
S K o - N
| o b | | |
A ASY s 30°
_/ Il Il
A 77 TN\ E;% g \ S #da
A T 4 i
FA 7 FK WFA
da x s AEE RS OMExBEE) , FEE K T30
PR O REARPTSI IR RIARAERIAS , TR BERAT 1
P Rel&# dimension A WA L
g Wit
. Type daxs H L1 | L2 L B T K | @# bott | OBM oring | (kg)
da x s A FHEIALR ST (UMExBEE) , FEEH T iR 30° = o0 Py
K TAEHE /7 Max.w.p: 400 kg/cm? TR . BEAFTHIATRA FIARHERIRS, B ATARYE P BERAT WFA10 " 17"2x4 29 17 55 80 50 44 1 M10X45 | 15.54x2.62 078
Rts dimension e F A i
L Wt -3 | 20x3 0.85
WFA 12 54 11 M10X50 | 23.47x2.62

Type daxs B | D|[H| T | d | k| L | e oot |ommong| (ko -4 | 20xa 82 | 18 | 65 | 95 | 60 X 0.85
FA M16X65 31 -3 | 21.3x3 0.9
FK 325 |48.3x8.8 100 s 38 [ 98 | 76 | 17 | 80 | piexio0 | 53:34x6.33 G WFA16 " | Segas 41 23 65 95 60 54 11 M10X60 | 23.47x2.62 0e
FA M20X75 55 -3 | 26.9x4 15
FK 405 [60.3x11 120 = 47 | 118 | 92 | 21 | @8 | yooeon | 6287633 | 5% WFA20 T | S s 47 26 75 110 70 64 13 M12x65 | 32.92x3.53 1o
FA M24X80 95 -3 | 337x45 23
FK 505 |76.1x14.2 150 - 48 | 145 | 110 | 25 [ 109 | TSNS | 7e60x5.7 ia WFA25 “ | Tt 56 30 90 130 80 72 13 M12X75 | 37.70x3.53 5
FA M30X90 17 -3 | 424x55 34
Fk 655 |101.6x20 180 = 58 | 175 | 135 | 32 | 135 | paoviso | 89.60x6.7 33 WFAZ2 Ty | Go i 64 35 95 140 20 80 17 M16X85 | 4250355 | g
FA M24X100 29 -3 | 60.3x8 4.9
FK 805 |133.7x25 - | 245 | 69 | 200 | 168 | 25 | 150 | wo.Siz0 | 114.60x5.7 s WFA40 T | 0 76 40 105 | 155 | 100 98 17 | M16X100 | 53.34x5.33 |
FA M30X120 485 -3 [ 76.1x10 9.2
rx 1005 [152.4x30 - | s00 | 7o | 245 | 205 | 32 | 186 | pagsoqo | 14859%699 | op WFAS0 5 | S 100 53 115 | 175 | 120 | 118 21 | M20x130 | 62.87x5.33 oa
FA M36X140 68 -3 | 88.9x11 16.2
rk 1255 [219.1x45 - | 390 | e | 315 | 273 | 38 | 195 | oS00y | 180.00x7 o8 WFABS ) | oo oxia2 120 64 125 | 200 | 150 | 145 25 | m24x150 | 79.60x5.7 e
-3 | 101.6x125 275
WFAB0 [ | 19,522 140 73 130 | 220 | 180 | 175 32 | M30X180 | 89.60x5.7 | 507

iT#RiEH Specification:
WFAF= BT, W8k R O Rl C S5
WEFA parts supplied with bolts and O-rings



H H H H
S . 22 K 30 sy SO . 2247 K R S ) o = o m T Y
- 7\ = 7\ P—E13 » 7 7\ o= 7\ eH D
i
/@’/\@ B
3lw : U o 3lwn 3lon 3| »
1SS < | J s s s
oL
é% N g! § N\ N
//, B - E% A B E%
CASF CBSF CASF CBSF
da x s NEE NIRRT (OMExBEED , 7EIEHE AL T 8UR30° da x s AR MR R T (OMExBEED , TEEE A EU%30°
B K TAEE /7 Max.w.p: 250 kg/cm? PR . BEARFTBATRA AR, B FTRRAE P RAT il HKTAEH /7 Max.w.p: 400 kg/cm? TR . BEATB AT A TSR, AT AR F P B RAT .
e w g RF8%  dimension R gy e W RoF8%  dimension B A By
Size Size
(inch) Type daxs B H T K L @ bolt | OFM oring | (kg) (inch) Type daxs B H T K L @t bolt | OFM oring [ (kg)
.| casFaouss | 18xs M6X25 022 . | casFeotas M6X25 0.25
st | e | e 40 14 35 65 30 Moy | 1554x262 | 022 | Choreors | 18x35 40 16 35 6.5 35 Voxay | 1700250 [ 02
. CASF301 | 22¢35 M8X30 0.30 . CASF601 | 21.3x4.5 MBX30 0.35
72 CBSF301 | 21.3x36 43 15 42 8:5 S0 Mexdo | 1866x353 | oe 12 CBSF601 | 22%4 e 17 42 85 40 Msxas | 18:66x3.53 | gq
: CASF302 | 28x4 M8X30 0.40 . CASF602 | 26.9x6.6 MBX35 0.50
3 CBSF302 | 26.9x4 50 ie B e 35 Mex4o | 2500x383 | ;70 3 CBSF602 | 28x5 20 . 50 85 45 Mexs0 | 25:00x3.53 | g,
. CASF303 | 35x5, 34x4 M10X35 0.70 . CASF603 | 33.7x5.6 M10X40 0.90
i CBSF303 | 33.7x3.6 63 18 62 i 40 mioxso | 3292383 | 45 ! CBSF603 | 34x5,35x6.5 ©° 24 62 i 50 mioxes | 3292383 | 475
. CASF304 | 43x55 M12X40 1.10 . CASF604 | 42.4x8 M12X45 1.40
114 CBSF304 | 42.4x5 - 2 3 13 45 Mizxeo | 3770x353 | 50 114 CBSF 604 | 44x7.5 g 28 3 13 55 Mizxzo | 3770883 | s
] CASF305 | 50x6 M14X45 150 ] CASF605 | 48.3x8.8 M14X55 20
1 CBSF 305 | 48.3x5 85 25 | 8485 | 15 o0 Miax7o | 4722383 | gy 1 CBSF605 | 51x8 &8 32 | 8485 | 15 60 Miaxgo | 47223883 | 54,
. CASF306 | 62x7.5 M16X55 2.50 . CASF 606 | 60.3x10 M16X65 3.30
2 CBSF306 | 60.3x8 100 30 98 7 60 Miexgo | S675x8.53 | T4 2 CBSF606 | 61x9 100 40 98 7 70| mrexto0 | 9B7OX353 | gy
. CASF307 | 76x9 M20X70 420 . CASF607 | 76.1x12.5 M20X80 5.50
2 CBSF307 | 76x7.1 120 £ e . 70| maoxt00 | 6945x353 | gy 2 CBSF607 | 80x13.5 120 48 113 N 80 [ moox120 | 6922633 | 4550
. CASF308 | 90x10 M20X80 6.20 . CASF 608 | 89x14.2 M20X90 8.60
o CBSF308 | 89x10 140 40 145 21 80 | mgoxt10 | 85323583 | i’y 3 CBSF608 | 90x16 140 52 145 2 90 [ m2ox130 | 7557538 | 4540
; CASF 309 M20X90 7.50 . CASF 609 M20X90 8.80
31/2 CBSF 309 102x11 140 52 145 21 920 M20X120 88.27x5.33 14.20 31/2 CBSF 609 102x19.5 140 52 145 21 90 M20X130 88.27x5.33 16.80
. CASF 310 M24X100 11.50 . CASF 610 M24X100 13.0
4 bt ol REPF 160 60 160 25 105 | woawiso | 9779x533 | 1150 4 cher g | 110 160 60 160 25 105 | Maaciso | 977exs33 [ 130
CDSF/CESF:# CBSF/CASF i iy Ol f58F e i ts Ot el 3 CDSF/CESF:#CBSF/CASFH [y O F5L s s Ot el i
Replace welding adapter with plug in CBSF/CASF ( parts with groove) Replace welding adapter with plug in CBSF/CASF ( parts with groove)



H oK H
1V ﬁ
7 j’”
o
NPT NPT
N HEEA L.
] / [S4|¢ =
7
R TAEIE S Max.w.p: 400 kgicm?
ks I Rt2% dimension T A f A '%\%
Size
(inch) Type NPT B H T K i bott | OM oring | (kg)
. | CASF601-NPT3/8 . M6X30 0.20
3/ oSk 601.NPTas | NPT3! 40 20 35 65 Mexso | 17:00x250 | o4
. | cAsFe01-NPT1/2 . M8X35 0.26
112 CBSF BO1NPT1/2 | NPT122 45 22 42 85 Mexss | 1866x353 | o2
. | CASFe02-NPT3/4 . M8x35 032
3/ CBSF B02.NPTa/4 | NPT 50 22 50 85 Mexss | 2500x3.53 [ oed
. CASF 603-NPT1 . M10X40 059
1 CaeF aoanpT1 | NPTI 65 24 62 11 VHoxes | 3292353 | 350
. | cAsF60a-NPT11/4 " M12X45 0.87
14| CasF 60a-NPT11/4 | NPT1 s . = 18 miaxzo | 3770353 | 47g
. | CASF 605-NPT11/2 . M14X55 1.26
111 CBEF a0aNPT11/2 | NPT1112 85 32 84.85 15 Miaxgo | 4722383 | 5o
. CASF 606-NPT2 . M16X65 2,09
2 cBoF 6oeNpT2 | NPT2 100 40 98 17 Mi6x1o0 | 5675%353 | 700
. | CASF 607-NPT21/2 . M20X80 372
21/ CBSF 807.NPTa1/2 | NPT21/2 120 45 118 21 Moox12o | 6922x633 | 32
. CASF 608-NPT3 . M20X90 5.40
3 opSF 60a.NPTa | NPT3 140 52 145 21 Moox1z0 | 7557%633 | nod
. CASF 610-NPT4 . M24X100 7.11
* cBsF 610-NPT4 | NPT 150 50 150 25 M24x150 | 9779633 | 4400
Wk UiH Specification:
CETOP NPT#:22 A% 713000 psi#R%l
No 3000 psi series for CETOP NPT Flange

LG LG
A e A e
B f B f
277 AT
DL D S D D S
(N |ul| 3 T ERT (TN Lak| 35 R
NP | 5 NPALL | TS 7 -
% ¥ N ¢
\4-2d, 4-9d
SHA SHB
Gy
A $d3
B :’dz ’?0.‘-
I
1/ o 3
Fary far'd P
5 -
) o< o[ 4]
4 L3 :
&) #E (Material)
'$ X 1. B%4¥20#, carbon steel C20
h WM Blank oiled :SHA-**
\4-0d, pame 2 R4 AISI 321/304 :SHA-#*X
LHA 34 AISI 316L SSHARF-XX
b3 B Rt% dimension T A4 B
Sz | Ty we | owm | M
(inch) Ala|B|C|c | h d | d | d | e |dg|ds| T r bolt o-ing (kg)
SHA M10G5 | 24431 | (o0
12" | SHB 15 |63 |69 |40 | 22|40 | 20 | 16 |30 [ 222 | 11|32 | 11 35| 5 [[M10x55 :
LHA 244x31 | 1.30
SHA WHO0X85 | 2043.0 |
3/4" | SHB -20 |68 |76 | 45 | 22| 45 |225| 20 | 35 |27.7 |12 |38 | 11| 4 | 5 [ M10x55 :
LHA 29.4x31_| 166
SHA WH2x70 | 34431 ] -
1" | SHB -25 |80 |89 |53 |28|50| 25| 25 |40 (34514 45|13 | 4 | 5 [M12x70 :
LHA 34.4x31 | 2.50
SHA MH2x70 | 3041 | , ,0
11/4" | SHB 32 |90 | 99 | 63 | 28 | 63 [31.5(31.5| 45 432 |16 |56 |13 | 6 | 5 [[Mi2x70 :
LHA 39.4x3.1_|_4.00
SHA M16x30 | 49431 | , 0
11/2" | SHB -40 |100(116| 70 | 36 | 71 [35.5(37.5| 55 | 49.1 | 18 |63 | 18 | 7 | 5 [ M16x090 :
LHA 294x31_| 5.70
SHA M16x30 | 504x3.1 | , o
2" | SHB -50 [112]130| 80 | 36 | 85 |425|47.5( 65 | 61.1|20 | 75 [ 18 | 7 | 5 [ M16x90 :
LHA 59.4x3.1_| 8.60
SHA M20xT15 | 74431 | . o
21/2" | SHB -65 [140 (160|100 | 45 |106| 53 | 60 |80 | 77.1| 22 | 95 | 22 | 9.5 | 6 [M20x115 -
LHA 744x3.1_| 160
SHA M22xTT5 | 84431 | o o
3" | SHB -80 |155|180|112| 45 [118| 59 | 71 |90 | 90 | 25 [108| 24 | 11 | 6 [M22x115 :
LHA 84.4x31_| 22.0

iT# Ui Specification:
1. {UT¥:% Flange only: SHA-15, SHB-15, LHA-15, SHA-15-X, SHB-15-X, LHA-15-X
2 3R A KR K OTE B, 54 M: SHA-15M, SHA-15M-X, LHA-15M, LHA-15M-X

Flange with bolts and O-ring: for Metric bolts with the suffix M
3. LHAVE 2 A R K FE B 2 P 4R 58

95



F O——N

A A e
B B f
a Fary S
D _L 4 D _L D S
@ % l<| O 2 491_ ﬁ % Sk \,. 2
AT ® 3 AT 38
\4-@ds SSB
A
B L ¥o. "
VN
| ;
o |4 '
VZhl )
I<C ol H
4 L3] -
<« ¥ (Material)
'@ 1. B%4N20#, carbon steel C20
h WP Blank oiled :SSA-KK
\4—¢d, = 24840 AISI 321/304 :SSA*-X
314540 AISI 316L 1SSA-RkXX
e W k= dimension BCApE i
Sz | Ty we | owm | W
(inch) B d dq dy dy [ dy | M bolt o-ring (kg)
SSA MT0x40 | 24431 | 0
12" | SSB -15 36 16 | 30 | 222 32 [ 11 |M10 :
LSA 24.4x3.1 | 0.90
SSA M10x40 | 20431 | e
3/4" | SSB -20 40 20 | 35 | 27.7 38 | 11 |M10 :
LSA 29.4x3.1 | 1.30
SSA M1260 | 34431 |
1" SSB -25 48 25 | 40 | 345 45 | 13 |M12 :
LSA 34.4x3.1 | 1.90
SSA M1260 | 30431 | oo
11/4" | SSB -32 56 315 45 | 432 56 | 13 |M12 :
LSA 39.4x3.1 | 3.10
SSA M16x65 | 40431 .
11/2" | SSB -40 65 37.5| 55 | 49.1 63 | 18 |M16 :
LSA 49.4x3.1 | 4.90
SSA M16x65 | 50431 [ - o
2 SSB -50 73 475| 65 | 61.1 75 | 18 |M16 :
LSA 50.4x3.1 | 7.40
SSA Mi20x80 | 74431 | , oo
21/2" | SSB -65 92 60 | 80 | 77.1 95 | 22 |M20 )
LSA 74.4x3.1 | 14.0
SSA M22:80 | 84431 , o0
3 SSB -80 103 71|90 | 9 108 | 24 (M22 :
LSA 84.4x3.1 | 19.0

iT# Ui Specification:

1. fiT#:2% Flange only: SSA-15, SSB-15, LSA-15, SSA-15-X, SSB-15-X, LSA-15-X
2. VE LA R K OTL B, e 2% M: SSA-15M, SSA-15M-X, LSA-15M, LSA-15M-X
Flange with bolts and O-ring: for Metric bolts with the suffix M

3. LSAVE AL A R4 RE il % P 9 5

96

E
F
FF--F
¥ (Material)
pudiara=s Lainpra=tae 1. 54MQ345B, carbon steel Q345B
KIECr+3F%E Cr+3 white zinked:FF***F-CFX
2. 4540 AISI 316L (FPFRRRE-XX
A i a5 R85 dimension PRk B %ﬂzg%
(isr:f:ﬁ )| e bolt wt | XS
c | o [ e | F [ H [ K L(L) (k) | (kglom?)
% %% 3000 psi
12" FF308F 38.1 54 17.5 46 20 9 M8x60 (40) 0.17 350
3/4" FF312F 47.6 65 222 52 20 11 M10x60 (40) | 0.23 350
1" FF316F 524 70 26.2 59 20 11 M10x60 (40) | 0.27 350
11/4" | FF320F 58.7 79 30.2 73 20 11 M10x70 (40) | 0.39 280
11/2" | FF324F 69.9 94 357 83 25 13.5 M12x80 (45) | 0.65 280
2" FF332F 77.8 102 429 97 30 13.5 M12x80 (50) | 0.98 280
21/2" | FF340F 88.9 114 50.8 109 40 13.5 M12x110 (60)| 1.49 210
3" FF348F 106.4 135 61.9 131 50 175 M16x130 (80)| 2.52 210
ERY] 6000 psi
172" FF608F 40.5 56 18.2 48 22 9 M8x65 (40) 0.20 420
3/4" FF612F 50.8 71 23.8 60 23 11 M10x70 (40) 0.42 420
1" FF616F 57.2 81 278 70 25 13.5 M12x75 (45) 0.51 420
11/4" | FF620F 66.7 95 31.7 78 30 15 M14x90 (50) | 0.86 420
11/2" | FF624F 794 113 36.5 95 33 17.5 M16x100 (60) [ 1.45 420
2" FF632F 96.8 133 445 114 38 21 M20x110 (70)| 2.35 420




Rz OfEME2
O-ring 2 O-ring 2'

HEHE
Bonded Seal
A% B %! c#l D %!
Type A Type B Type C Type D
kL (Material)

1. 1%4XQ345B, carbon steel Q3458
KM Cr+3E4F Cr+3 white zinked:k/HkxkkFA-CFX

Type A/B/C/DJy R RN IR 28 R M0 EL S, I/ AT
2440 AISI 316L ok /HH 4 RREA XK

TR SR REEAT ISR, OFBRE L. 2804 & 3Bl Hom = A A .

C

F O

RF--F

# %k (Material)
1. 549Q345B, carbon steel Q345B
K Cr+3F%E Cr+3 white zinked:RF***F-CFX

B2 R

| E R A5 Type TCH B
Size [ [Fipe AZT B7 CH DA EZ HE ORI o2 AARE
(inch) | Size Type A Type B Type C Type D Flange Sleeve o-ring 1 o-ring 2 Bonded Seal
16x2 | 08/16x2FA | 08/16x2FB | 08/16x2FC | 08/16x2FD 08/16F 12x1.0
18x2_| 08B/18x2FA | 0B/18x2FB | 08/18x2FC | 0BMBX2FD | pranor | OBIBF 14x1.0
172 [ 20x2 | 08/20x2FA | 08/20x2FB | 08/20x2FC | 08/20x2FD i 08/20F | 18.66x3.53 | 16x1.0 023
25x2.5 | 08/25x2.5F A | 08/25x2.5F B | 08/25x2.5FC | 08/25x2.6FD| FF608F ™ None 20x1.0
25x3 | 08/25x3FA | 08/25x3FB | 08/25x3FC | 08/25x3FD None 20x1.0
20x2 | 12/20x2FA | 12/20x2FB | 12/20x2FC | 12/20x2FD 12/20F 16x1.0
20x2.5 [ 12/20x2.5FA [ 12/20x2.5FB [ 12/20x2 5FC[12/20x2.5FD | ppqqpr | 12/20F 15x1.0
3/4" [25x2.5 | 12125x2.5FA | 12125x2.5F B | 12/25%x2.5FC | 12/26x2.5FD| 5 12125F | 25.00x3.53 | 20x1.0 013
25x3 | 12/25x3FA | 12/25x3FB | 12/25x3FC | 12/25x3FD | FF612F [T1325F 20x1.0
30x3 | 12/30x3FA | 12/30x3FB | 12/30x3FC | 12/30x3FD None 23x1.0
25%2.5 | 16/25x2.5F A | 16/25x2.5F B | 16/25x2.5FC | 16/25x2.5FD 16/25F 20x1.0
25x3_| 16/25%3FA | 16/25x3FB | 16/25x3FC | 16/25%3FD | rrayr | 16/25F 20x1.0
1" [730x3 | 16/30x3FA | 16/30x3FB | 16/30x3FC | 16/30x3FD " 16/30F | 32.92x3.53 | 23x1.0 027
30x4 | 16/30x4FA | 16/30x4FB | 16/30x4FC | 16/30x4FD | FF616F ["1g/30F 22x1.0
38x4 | 16/38x4FA | 16/38x4FB | 16/38x4FC | 16/38x4FD None 30x1.0
30x3 | 20/30x3FA | 20/30x3FB | 20/30x3FC | 20/30x3FD 20/30F 23x1.0
| 30x4_| 20/30x4FA | 20/30x4FB | 20/30x4FC | 20/30X4FD | rranor | 20/30F 22x1.0
11/4" [ 38x4 | 20/38x4FA | 20/38x4FB | 20/38x4FC | 20/38x4FD D 20/38F | 37.70x3.53 | 30x1.0 030
1 38x5 | 20/38x5FA | 20/38x5FB | 20/38x5FC | 20/38x5FD | FF620F [™o0/38F 28x1.0
42x4 | 20/42x4FA | 20/42x4FB | 20/42x4FC | 20/42x4FD None 34x1.0
30x3 | 24/30x3FA | 24/30x3FB | 24/30x3FC | 24/30x3FD 24/30F 23x1.0
14jon | 38x4 | 24I38x4FA | 24/38x4FB | 24/38x4FC | 24/38x4FD FF§24F 24/38F 47205353 30x1.0 032
42x4 | 24/42xAFA | 24/42x4FB | 24/42x4FC | 24/42x4FD | Fresar | 24/42F 34x1.0
50x5 | 24/50x5FA | 24/50x5FB | 24/50x5FC | 24/50x5FD None 21x1.78
50x5_| 32/50x5FA | 32/50x5FB | 32/50x5FC | 32/50X6FD | rraaor | 32/50F 41x1.78
2" [ 60x5 | 32/60x5FA | 32/60x5FB | 32/60x5FC | 32/60x5FD =% None | 56.75x3.53 | 50.52x1.78 019
60x6 | 32/60x6FA | 32/60x6FB | 32/60x6FC | 32/60x6FD | FF832F ™ None 47.37x1.78
60x5 | 40/60x5FA | 40/60x5FB | 40/60x5FC | 40/60x5FD 40/60F 50.52x1.78
21/2" [ 72x7 | 40/72x7FA | 40/72xTFB | 40/72x7FC | 40/72x7FD | FF340F | None | 69.45x3.53 | 56.87x1.78 036
75x5 | 40/75x5FA | 40/75x5FB | 40/75x5FC | 40/75x5FD None 63.22x1.78
g | 755 | 4BIT5XEFA | 4BITSXEFB | 4B/75x5FC | aBr75xsFD | | aBrrsF | ] 63.22x1.78 039
Q0x5 | 48/90x5FA | 48/90x5FB | 48/90x5FC | 48/90x5FD None SEXS: 79x1.78

2. 4540 AISI 316L (RFFF¥F-XX
ﬂsiz*eg A5 R~t&% dimension Efﬁ;&‘ %‘% %ﬂ;ﬂg;{]
(inch) | TYPe c | o | E [ F T #n [ K L(L) (ko) |Vkgrom)

% %% 3000 psi
172" RF308F 38.1 54 175 46 20 9 M8x60 (40) 0.17 350
3/4" RF312F 47.6 65 22.2 52 20 11 M10x60 (40) 0.21 350
1" RF316F 52.4 70 26.2 59 20 11 M10x60 (40) 0.27 350
11/4" | RF320F 58.7 79 30.2 73 20 11 M10x70 (40) 0.38 280
11/2" | RF324F 69.9 94 35.7 83 25 13.5 M12x80 (45) 0.63 280
2" RF332F 77.8 102 429 97 30 13.5 M12x80 (50) 0.94 280
21/2" | RF340F 88.9 114 50.8 109 40 13.5 M12x110 (60)| 1.51 210
3" RF348F 106.4 135 61.9 131 50 17.5 M16x130 (80)| 2.29 210

HERY] 6000 psi
172" RF608F 40.5 56 18.2 48 22 9 M8x60 (40) 0.20 420
3/4" RF612F 50.8 71 238 60 23 11 M10x70 (40) 0.38 420
1 RF616F 57.2 81 278 70 25 135 M12x70 (45) 0.50 420
11/4" | RF620F 66.7 95 317 78 30 15 M14x90 (50) 0.87 420
11/2" | RF624F 79.4 113 36.5 95 33 17.5 M16x100 (60) [ 1.40 420
2" RF632F 96.8 133 445 114 38 21 M20x110 (70) | 2.18 420



B
PRIFER

* R

Flange
Retain ring

& Welding adapter

Fok A

daxs

R WXL OMEXBER) |, FEEF RGO FMUR30° R
Pl . FEARFTFINRAFSAAERE, AR A P ZRARARIT .

/8  Bonded seal

W #RE AR AR E K W AMBLRE 2 R
e i T P U OTY B B

i

(R RHEAREHD

8 R rk: * Socket welding and male and female

b N} thread adapters also could be supplied.

| ** O-ring seal also could be supplied.

¥ fod ( Please contact with our people for detail )

N
\ "
E
L
" RF ; )
XA 2 A J # ¥ (Material)
butt welding adapter 1. #4RQ345B, carbon steel Q3458

KE R4 Blank oiled
2.4 AISI 321/304
3B AISI 316L

:RFJ**-daxs
:RFJ**-daxs-X
:RFJ**-daxs-XX

o U= % %% (daxs) R~tZ# dimension TP B
Size N C — —
> T Pipe S S REFIR A
(ineh) i i B E Flange Retain Ring [ Bonded Seal
16x3, 18x3
RFJ08-daxs 20x3, 22x3 RF308F
172" 45 3 3 RFR-08 023
(#l: RFJ08-16x3) 22x5, 26x6 -
20x3, 25x4
RFJ12-daxs 26.9x3.6, 28x1.5 RF312F
34 45 3 % RFR-12 013
(#l: RFJ12-20x3) 30x5, 36x8 RER i
25x3, 30x4
" RFJ16-daxs 34x4, 35x5 RF316F
1 50 2 =® RFR-16 027
(#: RFJ16-25x3) 38x5, 39x7.5 ..
38x4, 38x5
" RFJ20-daxs 42.4x3.2, 42.4x4 RF320F
11/ 55 3 o RFR-20 030
(#: RFJ20-38x4) 42.4x6.3, 46x8 ..
42.4x4, 48.3x3.2
. RFJ24-daxs 48.3x4.5, 48.6x5.3 RF324F
] 147 60 3 E3 RFR-24 032
(#]: RFJ24-42.4x4) |50x6, 56x8.5 -
48.3x3.2, 57x5
= RFJ32-daxs 60.3x4, 60.3x5.6 RF332F
2 75 3 3 RFR-32 019
(fl: RFJ32-48.3x3.2) |60.3x6.3, 66x8.5 .
60.3x4, 70x7
" RFJ40-daxs 76.1x4, 76.1x5.5
22" | (4, RFJ40-60.3x4) | 76.1x7.1, 8OX10 90 3 RF340F | RFR-40 036
76.1x5.5, 89x4
a RFJ48-daxs 89x6, 89x8
% | (5. RFJ4BTE1x5.5) |90x10, 97x12 110 6 RF348F RFR-48 039

— 100 —

F ©®
E1 B2
- N_ Y= _69_ or—
e | N U, i
[ | Sy o | s
°° C) <5
L N/ ] <z — — |
| | 1 |
- T o=
=D DS RCHRCIEE
M S1
T-BL
an]
s
#1¥F (Material)
1. %445#, carbon steel C45
B8 K WPiEM Blank oiled T-BL-kk
| 28_| KifCr+3E4% Cr+3 white zinked: T-BL-¥**-—-CFX
KIHHR G4 Ni-Zn zinked T-BL-#¥%--ZN
24540 AISI 321/304 ST-BL-F¥¥X
3.AEE AISI 316L T-BL-*#%--XX
M ) R&8 dimension by %{’EE%
Size Wt
(inch) Type % MAX WP
B [ ¢ D [ et [ E2 | F [ ¢ [ s1 [ ™ (kg) | (kglem?)
% 7% 3000 psi
1/2" | T-BL-301-301 13 38.10 55 17.48 | 17.48 70 50 25 M8 14 350
3/4" | T-BL-302-302 19 47.63 65 2223 | 22.23 75 55 275 | M10 18 350
1 T-BL-303-303 25 52.37 70 2619 | 26.19 80 60 30 M10 22 315
11/4" | T-BL-304-304 32 58.72 80 30.18 | 30.18 20 70 35 M10 3.2 250
11/2" | T-BL-305-305 38 69.85 95 3571 | 3571 | 110 85 425 | M2 5.7 200
2" T-BL-306-306 50 77.77 | 110 | 42.88 | 4288 | 120 100 50 M12 8.1 200
21/2" | T-BL-307-307 63 88.90 | 110 | 50.80 | 50.80 | 160 120 60 M12 12.0 160
3 T-BL-308-308 73 | 10638 | 135 | 6193 | 61.93 | 160 160 80 M16 20.3 138
EA%| 6000 psi
1/2" | T-BL-601-601 13 40.49 60 1824 | 18.24 EN) 50 25 M8 1.9 400
3/4" | T-BL-602-602 19 50.80 70 2380 | 23.80 72 55 32 M10 18 400
1" T-BL-603-603 23 57.15 82 27.76 | 27.76 90 64 37 M12 32 400
114" | T-BL-604-604 30 66.68 96 31.75 | 31.75 | 100 72 41 M14 45 400
11/2" | T-BL-605-605 38 7938 | 110 | 3650 | 3650 | 107 100 50 M16 75 400
2" T-BL-606-606 50 96.82 | 133 | 44.45 | 4445 | 135 107 64 M20 1.6 400
212" | T-BL-607-607 62 | 12383 | 180 | 5873 | 58.73 | 180 155 775 | M24 32.6 400



¢da

B L
FV FE (Material)
1. T%4X45#, carbon steel C45
KifCr+3[4% Cr+3 white zinked:FV¥¥++-CFX
HEHEAS NiZnzinked  FVs2zN
da x s IR RRHRHALR T SMExBEE) , FEE I TR 30° 2554 AISI 321/304 [FVkkX

JREE . REASHT S 9 A FIARMERUR, I ATARYE F 7 B SR AT il o 3N AISI 316L FVHRREXX
o Rt 2% dimension BE
% 5 Wt
i daxs B T L (kg)
FV50 & Eﬁ 131? 50 44 97 16
FV60 &R Eh12S 60 54 106 26
FV60 & Eﬁ 123 60 54 106 26
FV70 wm o208 70 64 115 3.9
FV80 EH Ez ggj 80 72 123 54
FV90 EH Ez ggj 2 80 140 73
FV100 & ,Ez :gj 100 98 160 10
FV120 & Eﬁ ggj 120 118 180 16
FV150 EH a3 150 145 210 27
FV180 & Eﬁ ggj 180 175 260 49

D
C
= T T
LIl | il
D) "
Ht H 8 o 2
1) |\/‘| 7"l
b "
gyl
111 L1l r( Z
¢ 9B
LE L TTIT
o L | );:(
H
N/ Lt} L
N A T4 D
12}
Mo
iph 1 1 il T-GD
£l (Material)
1. 4945#, carbon steel C45
RIMARPI I Blank oiled {T-GD-%k
XTECr+35 % Cr+3 white zinked: T-GD-#+*--CFX
RS 4 Ni-Zn zinked {T-GD-#kk-.ZN
2 R340 AISI 321/304 T-GD-¥#%-X
3R AISI 316L T-GD-*k*k-—XX
%—liz% ® B2 RtsH5 dimension %\% i\f’;)ﬁ%v%;
(inch) Type B | c [ D | E1[E2]F 6 [ L [ ™m]si]s2]| (ka) |(kgem
% &% 3000 psi
172" | 7-GD-301-301 | 13 [3810| 55 |17.48|17.48| 70 | 50 9 [ M8 | 25 | 35 13 350
34" | T-GD-302-302 | 19 | 4763 | 65 |[2223 (2223 75 | 55 | 11 [ Mmi0 | 275 375 16 350
1" | T-GD-303-303 | 25 [5237| 72 [2619 2619 80 | 60 | 11 | Mi0| 30 | 40 2.1 315
11/4" | T-GD-304-304 | 32 |5872| 82 |30.18 3018 90 | 70 | 115 | Mi0o | 35 | 45 30 250
112" | T-GD-305-305 | 38 |69.85| 98 |3571(3571| 110 | 85 | 135 | M12 | 425 | 55 55 200
2" | T-GD-306-306 | 50 |77.77 | 102 |42.88 |42.:88| 120 | 100 | 135 [ M12 | 50 | 60 6.7 200
21/2" | T-GD-307-307 | 63 |[88.90| 115 |50.80 | 50.80| 160 | 120 | 135 [ M12 | 60 | 80 11.9 160
3" | T-GD-308-308 | 73 [106.38| 135 |61.93 |61.93| 160 | 160 | 175 [ M16 | 80 | 80 18.8 138
HER%] 6000 psi
1/2" | T-GD-601-601 | 13 |40.49 | 60 |1824 1824 90 | 50 9 | M8 | 25 | 45 1.9 400
3/4" | T-GD-602-602 | 19 [5080| 72 [2380|2380| 72 [ 55 [ 11 | mi0 | 32 | 36 1.8 400
1" | T-GD603603 | 23 |57.15| 82 |[27.76 2776 | 90 | 64 | 14 [Mm12| 37 | 45 2.9 400
11/4" | T-GD-604-604 | 30 |6668| 96 |31.75[31.75] 100 | 72 | 16 | M14 | 41 | 50 4.1 400
112" | T-GD-605-605 | 38 |79.38 | 114 | 3650 [3650| 107 | 89 | 18 | Mi6 | 50 | 55 6.5 400
2" | T-GD-606-606 | 50 |96.82 | 133 |44.45[44.45] 135 [ 107 | 22 [ M20 | 64 [ 675 108 400
21/2" | T-GD-607-607 | 62 |12383| 180 |58.73[58.73[ 180 | 155 | 25 | M24 [ 775 | 90 306 400

- 102 —

iT#¥iW Specification:

1 AUTE 44 iR Flange T-block only: FV50, FV50-X

2. SMELER R ik 2 AT T-block and all welding couplings and flanges assembly: FV50-16x3-X
* BRARHEIS06164 77 TEE 2 S EC AL, A FEREZ ARbRER Ty SIS ECEIT Bt .
For square flange block parts, also supply according to the drawing of customer.

- 103 —



oE
#D ]
e
S
n—od ¥ A R
/_ =
LA ||
#C w
9B
oA
C*%-2633
B (Material)
1. 7#41C20,  carbon steel C20
HKIEHPE5H Blank oiled :C*¥+2633
AT{EDIN2632. 2635. 2527 %% 2R AISI321/304  :CH*2633-X
DIN2632. 2635. 2527 also available 34 AISI 316L :CH+2633-XX
EiTIeC Rt5% dimension %\%
=
g A B C DXs E F | m1 [ A2 [ L n-od R | (kg)
C10-17.2x1.82633 [ 90 | 60 | 40 |172x1.8 | 28 2 14 6 | 35 | 4o14 4 | oss
C15:21.3x2-2633 | 95 | 65 | 45 | 213x2 | 32 2 14 6 | 35 | ao1a 4 | oes
C20-26.9%2.32633 | 105 | 75 | 58 | 26.9x23 | 40 2 16 6 | 38 | 414 4 | o9s
C25-33.7x2.6-2633 | 115 | 85 | 68 | 33.7x26 | 45 2 16 6 | 38 | 4ot 4 | 114
C32-42.4%2.6-2633 | 140 | 100 | 78 | 424x26 | 56 2 16 6 | 40 | ao18 6 | 169
C40-48.3x2.6-2633 | 150 | 110 | 88 | 48.3x26 | 64 3 16 7 | 42 | 4018 6 | 186
C50-60.3x2.9-2633 | 165 | 125 | 102 | 60.3x2.9 | 75 3 18 8 | 45 | ao18 6 | 253
©65-76.1X2.9-2633 | 185 | 145 | 122 | 76.1x2.9 | 90 3 18 [ 10 [ 45 | 4218 6 | 3.06
©80-88.9X3.2-2633 | 200 | 160 | 138 | 889x32 | 105 [ 3 [ 20 [ 10 | 50 | 828 8 | 370
C100-114.3x3.6-2633| 220 | 180 [ 158 [1143x36| 131 | 3 | 20 | 12 | 52 | 818 s | 462
C125-139.7X4-2633 | 250 | 210 | 188 | 139.7x4 | 156 [ 3 | 22 | 12 | 55 | 88 s | 6.30
C150-168.3X4.5-2633| 285 | 240 | 212 |1683x45| 184 | 3 | 22 | 12 | 55 | 8@22 | 10 | 775
C175-193.7x5.4-2633| 315 | 270 | 242 [1937x54| 210 | 3 | 24 | 12 | 60 | 8222 | 10 | 985
©200-219.1x5.9-2633| 340 | 205 | 268 [219.1x69( 235 | 3 | 24 | 16 | 62 | 12.22 | 10 | 110
C250-273X6.3-2633 | 405 | 355 | 320 | 273x63 | 202 [ 3 | 26 | 16 | 70 | 12026 | 12 | 156

T8 Specification:
1. f4iT¥:2% Flange only: C10-17.2X1.8-2633. C10-17.2X1.8-2633-XX

— 104 —

DA

2G

oE
A
G
QE
2B

i 7, 7

£/ £/

RE820-- RE820B--

ok (Material)
1. %4NQ345B, carbon steel Q3458
24540 AISI 316L

bl Rt2% dimension
VP8 A B C D E F G H
REB20-8 | 34.9 414 216 | 3M4-16UNF | 175 | 142
RE820-12 | 413 523 27 1116-12UN | 249 | 142
RE820-16 | 47.6 52.3 34 15/16-12UN | 313 | 16
RE82020 | 60.3 52.3 428 | 15B812UN | 392 | 175
RE820-24 73 55.9 486 | 17/812UN | 456 | 19
RE82032 | 857 63.5 61 21212UN | 55 | 222
REB20B-8 | 34.9 318 414 208 216 | 3M4-16UNF | 175 | 142
REB20B-12 | 41.3 38.1 52.3 26.2 27 1116-12UN | 249 | 142
REB20B-16 | 476 | 445 52.3 26.2 34 1516-12UN | 313 | 16
RE820B-20 | 60.3 57.2 52.3 26.2 428 | 15B812UN | 392 | 175
RES20B24 | 73 69.9 55.9 28 486 | 17/812UN | 456 | 19
RE820B-32 | 857 82,6 635 318 61 21212UN | 55 | 222

iTH iR Specification:
1. {XiT#:3k1k Adapter only: RE820-8, RE820-8-XX, RE820B-8, RE820B-8-XX

- 105 —



carbon steel Q345B

DA
2G

DA
G
2B

8| e g
/.
4 \e
RE825--
¥} (Material)
1. BH4IQ3458,
2454 AISI 3161
b2 R+2% dimension
e A B c D E F G
RE825-4 | 286 | 254 | 323 | 163 NPT1/4 7M6-20UNF | 9.9
RE825-6 | 318 | 28.6 | 381 | 194 NPT3/8 9/16-18UNF | 12.9
REB258 | 349 | 318 | 414 | 208 NPT1/2 3/4-16UNF | 165
REB25-10-12| 413 | 381 | 445 | 224 NPT3/4 7/8-14UNF | 205
RE82512 | 413 | 381 | 523 | 262 NPT3/4 1116-12UN | 216
REB25-14-16 | 476 | 445 | 546 | 274 NPT1 1316-12UN | 26.7
RE825-16 | 476 | 445 | 523 | 262 NPT1 15/16-12UN | 26.7
RE82520 | 603 | 572 | 523 | 262 | NPT11/4 15/8-12UN | 36.1
RE825-24 73 | 699 | 559 28 NPT 1/2 17/8-12UN | 419
RE82532 | 857 | 826 | 635 | 318 NPT2 21/212UN | 54

iT#UiH Specification:
1. {2iT#:3k4k Adapter only: RE825-4, RE825-4-XX

— 106 —

£/ \E ¥/ \E

RE830-- RE830B--

£l (Material)
1. #49Q345B, carbon steel Q3458
27854 AISI 316L

S R2% dimension
s A B C B F G

RE830-6 28.6 - 31.8 - 9/16-18UNF 129

RE830-8 34.9 - 41.4 - 3/4-16UNF 17.5
RE830-10 38.1 38.1 7/8-14UNF | 205
RE830-12 | 41.3 523 1116-12UN | 249
REB30-14 | 445 50.8 13/16-12UN | 28.1
REB30-16 | 47.6 523 15(16-12UN | 31.3
RE830-20 | 60.3 523 15/8-12UN | 39.2
RE830-24 73 55.9 17/8-12UN | 456
RE830-32 85.7 - 63.5 - 21/2-12UN 61.4
RE830B-6 28.6 254 31.8 16 9/16-18UNF 129
RE830B-8 34.9 31.8 41.4 20.8 3/4-16UNF 17.5
RE830B-10 38.1 34.9 38.1 19.1 7/8-14UNF 20.5
RE830B-12 413 38.1 52.3 26.2 11/16-12UN 249
RE830B-14 44.5 413 50.8 255 1 3/16-12UN 28.1
RE830B-16 47.6 44.5 523 26.2 15/16-12UN 313
RE830B-20 60.3 57.2 52.3 26.2 1 5/8-12UN 39.2
RE830B-24 73 69.9 559 28 17/8-12UN | 456
RE830B-32 | 85.7 826 635 318 21/212UN | 614

iTH Ui Specification:
1. {0iT#e3k4k Adapter only: RE830-6, RE830-6-XX, RE830B-6, RE830B-6-XX

- 107 —



g 8 g
s
£/
RE835--
£ (Material)
1. #441Q345B, carbon steel Q3458
2. R854 AISI 316L
&5 Rt2% dimension
Tyee A B C ) F G
RE835-4 254 222 254 6.35 7/16-20UNF 9.9
RE835-6 28.6 254 254 6.35 9/16-18UNF 12.9
RE835-8 34.9 31.8 27 6.35 3/4-16UNF 17.5
RE835-10 38.1 34.9 27 6.35 7/8-14UNF 20.5
RE835-12 41.3 38.1 325 6.35 1 1/16-12UN 249
RE835-14 445 41.3 325 6.35 13/16-12UN 28.1
RE835-16 47.6 445 325 6.35 1 5/16-12UN 31.3
RE835-20 60.3 57.2 325 6.35 1 5/8-12UN 39.2
RE835-24 73 69.9 325 6.35 17/8-12UN 45.6
RE835-32 85.7 82.6 38 6.35 21/2-12UN 614

iT# i8] Specification:
1. {0iT#:k4k Adapter only: RE835-4, RE835-4-XX

- 108 —

<< Ol o
8 Q| &
£/
RE845--
£l (Material)
1. #44Q345B, carbon steel Q3458
278540 AISI 316L
o5 R+2% dimension
s A B c ) F G
RE845-4 254 222 254 6.35 NPT1/4 9.9
RE845-6 28.6 254 254 6.35 NPT3/8 13.2
RE845-8 34.9 31.8 27 6.35 NPT1/2 16.5
RE845-12 413 38.1 325 6.35 NPT3/4 21.6
RE845-16 47.6 44.5 325 6.35 NPT1 26.7
RE845-20 60.3 57.2 325 6.35 NPT1 1/4 36.1
RE845-24 73 69.9 325 6.35 NPT1 1/2 39.6
RE845-32 85.7 82.6 38 6.35 NPT2 54

iT#R Ui Specification:
1. f0iT#:3k{A Adapter only: RE845-4, RE845-4-XX

- 109 —



£ |—D"
<| O <l o o
Q Q Q| Q Q
&/ \E &/ \E
RE850-- RE850B--
¥ (Material)
1. B%4XQ345B, carbon steel Q3458
244 AISI 316L
b R+2% dimension
dvpe A B C b F G
RE850-4 254 31.8 G1/4 115
RE850-6 286 31.8 G318 14.9
RE850-8 34.9 - 41.4 - G1/2 18.6
RE850-12 41.3 - 52.3 - G3/4 241
RE850-16 47.6 - 52.3 - G1 30.3
RE850-20 60.3 - 52.3 - G11/4 39
RE850-24 73 - 55.9 - G11/2 449
RE850-32 85.7 - 63.5 - G2 56.7
RE850B-4 | 25.4 222 31.8 16 G1/4 11.5
RE850B-6 | 286 254 31.8 16 G3/8 14.9
RES50B-8 | 34.9 31.8 414 20.8 G112 18.6
RE850B-12 | 41.3 38.1 52.3 262 G3/4 24.1
RE850B-16 | 47.6 445 52.3 262 G1 303
RE850B-20 | 60.3 57.2 52.3 262 G11/4 39
RE850B-24 | 73 69.9 55.9 28 G112 449
RE850B-32 | 857 82.6 63.5 31.8 G2 56.7

iT1% LM Specification:
1. {0iT#k4k Adapter only: RE850-4, RE850-4-XX, RE850B-4, RE850B-4-XX

- 110 —

< Ol o
8 SIS
F
RE855--
£l (Material)
1. #44Q345B, carbon steel Q3458
2. R8540 AISI 316L
&5 R&% dimension
e A B C ) F G
RE855-4 254 222 254 6.35 G1/4 11.5
RE855-6 28.6 25.4 254 6.35 G3/8 14.9
RE855-8 34.9 31.8 27 6.35 G1/2 18.6
RE855-12 413 38.1 325 6.35 G3/4 241
RE855-16 47.6 44.5 325 6.35 G1 30.3
RE855-20 60.3 57.2 325 6.35 G11/4 39
RE855-24 73 69.9 325 6.35 G11/2 44.9
RE855-32 85.7 82.6 38 6.35 G2 56.7

iTT% U8 Specification:
1. {0783k A Adapter only: RE855-4, RE855-4-XX

- 111



B E2i%8F Great Choice

SENNLG

g -8 8
/. ; -
£/ \e s RE, WS
Hydraulic Adapter Hose and Tube Assembly
RE860--

##E (Material)
1. B%4XQ345B, carbon steel Q345B
2540 AISI 316L

=S R+5% dimension
fye A B c D E F G
RE860-4 286 | 254 323 | 163 NPT1/4 G1/4 10.2
RE860-6 318 286 381 | 191 NPT3/8 G3/8 12.9
RE860-8 34.9 31.8 414 | 208 NPT1/2 G112 16.5 i
RE860-12 | 413 38.1 523 | 262 NPT3/4 G3/4 216 )
RE860-16 | 47.6 | 445 523 | 262 NPT1 G1 26.7 . 5 Sy
REB6020 | 60.3 57.2 523 | 262 NPT1 1/4 G114 36.1 Hy dl‘sgl;éliifl;:kil‘ting Lubricé‘ﬁﬁ%ﬁésembly
RE860-24 73 69.9 55.9 28 NPT1 1/2 G112 419
RE860-32 | 857 826 635 | 31.8 NPT2 G2 54

iTHR LB Specification:
1. fiTH#3k{A Adapter only: RE860-4, RE860-4-XX

THEIE S
One piece fitting Cylinder Port

- 112 -



	未标题-1-01
	未标题-1-02
	未标题-1-03
	未标题-1-04
	未标题-1-05
	未标题-1-06
	未标题-1-07
	未标题-1-08
	未标题-1-09
	未标题-1-10
	未标题-1-11
	未标题-1-12
	未标题-1-13
	未标题-1-14
	未标题-1-15
	未标题-1-16
	未标题-1-17
	未标题-1-18
	未标题-1-19
	未标题-1-20
	未标题-1-21
	未标题-1-22
	未标题-1-23
	未标题-1-24
	未标题-1-25
	未标题-1-26
	未标题-1-27
	未标题-1-28
	未标题-1-29
	未标题-1-30
	未标题-1-31
	未标题-1-32
	未标题-1-33
	未标题-1-34
	未标题-1-35
	未标题-1-36
	未标题-1-37
	未标题-1-38
	未标题-1-39
	未标题-1-40
	未标题-1-41
	未标题-1-42
	未标题-1-43
	未标题-1-44
	未标题-1-45
	未标题-1-46
	未标题-1-47
	未标题-1-48
	未标题-1-49
	未标题-1-50
	未标题-1-51
	未标题-1-52
	未标题-1-53
	未标题-1-54
	未标题-1-55
	未标题-1-56
	未标题-1-57
	未标题-1-58
	未标题-1-59
	未标题-1-60

